V2
|

2N

\

@

@

@ B l.ai 1 6/10/15 12:05 AM

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

-

Olal "XID

vneumao

lL var

NEUMO Ehrenberg Group

qus

B 8 i nn'no
B 4 ....... DN WIN'YUNI U“7NN0N "0
B 5 ....... D'2'72N 1IX"7 D71 NIN'Y
B 23 .. NIANan 1Ix"7 0YOITIVD D'{7'ThN
B 24 ................. D"MIX'N D'7'TNN
B 26 .....coiii... D"N'1O D'{7'TNN
B 28 .. V7NN NMj7 DY D"N'ID D'7'TNN
B 29 ........... “I0"1'N” DAT D'{7'TNN
B 30 ...t DY D'{7'TNN
= T NIN'Y7 nrnnn
B 32 ............. D'7'TNN7 q17'N '77N
B 33 ... ... ... MiniPro NIN'Y
B 47 ..... MiniPro NIN'W7 N7'D '7'TNN
B 49 ....... MiniPro NIN'Y7 'I'D '7'ThN
B 55 ................ micrOscope NIN'Y
B 60 ......... micrOscope NIN'Y "7'TNDD
B 61 ..t ™ NIN'Y
B 70 ..., ™™ NIN'Y 71NN
B 76 ..... TMSH/TM '{7'TAN7 Q17'N 'F7'7N
B 77 i MiTM NIN'Y
B 84 ...... Helicool X'7D W“7NN 'NIDTD
B 90 ....... MilliPro X'7D U“7ZNN 'NIDID
B 97 . . Deep Threading NIA12N 'NIDD
B 99 ........... DIYTN YIN'N NNINND
B 100 ...... Gear Milling D"Y'YW 17272 qIX"

@

7N



.

N2 B 3.ai 1 6/10/15 10:38 AM
E
ZIN

@ @
: vneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

rrrrrrrrrrrrrrrrrrr

B V/ANRDe&e XX B

D'2'12N 1INX'7 DY7'TRNI NID'Y
DIDDAI NLINA D'7'9119I

.D'27NN 210 727 N212n7 NIN'Y 7¢ AN 2N 1IN e

N”N 3.2 017N 7NN 0"N'AS 022N NN e

NN 4.2 'NI1D 0IFN 7NN ,DTNI'NI DPOITIVO DO'X'IN VIX'A7 NIN'Y e
NN 1.7 017N 7NN ,DYYT D'NT7 NO'INT7 NIN'Y e

N”N 1.2 017N 7NN D'2'12N DIDD e

.D"ININN 21D 70 7¥ TIA'Y WWOXRNN ,DMID'NXI W”77NN 210 [N e

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

- EmEET &

2.
7N




2,
N

N
U

@ B 4.ai 1 6/10/15 10:38 AM

@

@

o127 "XIN

Yivarqus

NEUMO Ehrenberg Group

DNl VUiIN'yal U”nnan 10

J770 WIn''7 NIDNNA 1D 727 1. 1900 N'N2 .TIAIN 'O'Y DY

vneumao

var

NEUMO Ehrenberg Grou

qus

‘w"rmn A1D

LAITIN 119N

D7'NYT7 NIMINNA JIND 12Y 191 NI NTHY VTX
TIAIN 119Y DY 1770 WIN'W7 110100 DAY N2IY
NMj72 NN TNWIN 7'91N91 100N DAY 1AW |2 112NN VCB
NN2NN 7 N7IVND 201 IMNATE AW 7V NYIND
o .(NLDNM) T70-7X NIT79 TIAYT7 72N W'7NN
NN NITANN N'02N ,NADY 20 TNIMA 71N PVD Oy VM7
NI T7N-7R NIT79 TAYA N7 Y7
NONN-7X ,T7N-7X NIT79 NIDNN TIAY7 DAY 'WI7 DY W7N0 VKX
TiN 9N DY .07 TIAY AN DTV Y7010 .DIMmIT7NI
DINV'D NADAD DIMIZR NIDNN-7X TIAYT 19N 77 W'7NN VK2
NN NMIIDNLA NITNIYA NIDNNI
i DINO'0 NAIDAD ,DINITR NIDNN-7X TIAYT 19IY R77 W'7NN
NN NN NITNIYA NIDNNI VK2P
DIMITRA N7IYN NOY 2'0 NN YOIZH DAY NIY 7y]
TiN DY DY (Mini) 0 NINWA 1770 WINW7 Wimn VKP
Mini) ' NIN'WA 1770 WINWT7 HSS-D NN'Y VHX
TINI9'Y DY NIDINI NN NN TR1Y7 210
TIN MO DY (Micro) Ni7'N NI 1770 WINWT W'7ND VMX
N7'NY7 NIMINNAI 1AW NI0 NITHY 1770 WIn'w7 Ui7nn VRX

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

-

@

7N



WA B5.ai 1 6/10/15 10:38 AM
2>

@

o127 "XIN

@

vneumao

varqus

NEUMO Ehrenberg Grou

NEUMO Ehrenberg Group

wyvivargus n0IN1 D'2"12N 1IX"7 VARDEX NIN'Y

INDWI |'D' 55°-1 60° 77N 7'91ND

JIN NINWY T 7Y 7200 1R 212NA I P71 an'yn T 7Y NTAIYN 2R 2"1aNn N0

NIY'0d 7¢ DINNYI 79119 NIt ANIX '7V2 022N 7Y [1a07 INDRNN XID 770 779191 WIin'wl [nnqa
AN MV7A AY'097 DNNID TINA OI'T .(NVN7 N720 AND)

UITIVO DAT NIN'Y

5/8" 1/2" 3/8" 1/4" 6.0 4.0 1.Cc niy'os DUIYON DVID'Y
27 22 16 11 n”"p |P'0 N”"N TP
3ERAG0.. 2ERAGO.. nIvn VTX, VKX, VM7
3IRAG0.  2IRAG0.. no A 5051 4816 VK2, VK2P - "19'¥ K77
3ERG60... NIN'N
3I1R G 60... NNo G 17530 148
3ERAG60... NIN'N
T 3RAG60. oo | AG 0530 488
4ERN 60... NN
41RN 60... N1O N 3650 75
5ER Q 60... 1NN
5IRQ 60... No Q 5660 45
AL=5(LH) AL.-4(LH) AL3.-3(LH) NL..=2(LH) 7700 210
YE5 YE4 YE3 N'NNN D
105.- 55.— 39.- 34.- n“va 1NN
5IRQVTX 4IRNVTX 3IRAVTX 2IRAVTX VTX W77N0 0 '1NID 1NIN NN ANAT
JAAL D702 AVR DD 7'ThD *
P1S 112AN7 nIN'N 22ANY7
.1.c 3/8" 1.C 1/4” .1.c 3/8” niy'od
19
n”"n 16 n"n 11 n”"n 16 IO ND”nD TP VCB 'I9'X SCB
3JIRAGO... 2JIRAGO... 3JERAGD... A 0515 48-16
3JIR G 60... - 3 JER G 60... G 17530 148
3JIRAG 60... - 3JERQAO... AG 0530 488

N9 NTNYUNI NNT7WIN 1AW NP7 TN 100N 12Y 1AW DY NIN'Y

AVR..—3 NVR..=2
Yi3
39.- 34.—

3JIRA6OVCB 2JIRA60VCB

.55-1 60 ‘DNN NN 07N 97NN 55° NINWYT <

D7UIN 2Mani 1 7177

AL..-3
YE3
39.-
3JERA60VCB

L-2 R 9700 NIRNY NINWYT <

(7'7TNN 210

n'nnn 210

n"Ya 'nn

0! NN/ IO ANAN NN NNAIT

MI7070 [IN'D7 9OINI W7NN 210 1N <

www.vargus.com INX1 DO'S01 D'0IOI NIN'Ya NITN

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

-

@

7N



WA B6.ai 1 6/10/15 10:37 AM
2>

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

\AAATET{[TI-] 55°~1 60° 'iT7n 7919 VARDEX NIN'Y

('N15 + 1Ix'N) U DaT NIN'Y

n 5/8U 1/2U niy'od DPIYON DYDY ﬂ
n"n 27 n"n 22 n"n TPi
! VTX, VKX, VM7
; AUEIU 60... 5580 453.25 5% 177
5UEI U 60... : 6.5-9.0 4-2.75 VK2, VK2P - NN X
- - 6.0-10.0 4-25
TRDY + |07 DINDND *
@
AVR.=5U(LH) / AL.-5U(LH) AVR.~4U(LH) / AAL.~4U(LH) 7'TnN 1D
Yi5U / YE5U Yi4U / YE4U N'MNN 210
105.- 55.— N"ga 1NN
5UEIU6OVTX 4UEIU6OVTX np' 1ND AN NINTNY7 ANAIT

.L-2 R 9700 NI7RNY NINWY7 < 7070 |IN'D7 Q01N Y700 A0 N1 <
55-1 60-N NIX U701 7NN 55° NINWY <

1'7{7'011 V DAT NIN'WY

5/8V niy'os D'WON DMOIN
nix'n n”n 27 N9 n”“n TPi
: VTX, VKX, VM7
- - 5.5-8.0 4.5-3.25 VK2, VK2P - 11Dy N7
- - 659.0 4-2.75 ' PR
5VERV60... 5VIRV&O... 6.0-10.0 4-2.5 AA
@ T
@
NL..-5V-10(LH) NVR..=5V(LH) i7'TNN 210
185.— 185.—- n“wa 'nn
S5VERV60VTX 5VIRV6OVTX 0! 1NI9 32N NININT NDAIT

.L-2 R 9700 NIZRNDY NINWYT < AI7070 |IN'07 Q01N Y700 A0 N1 <
55-1 60-N NIX 07N 97NN 55° NIN'WY <

www.vargus.com INX1 DO'S0I D'0IOI NIN'Ya NITN

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

. .
- EEEEE & &




WA B 7.ai 1 6/10/15 10:37 AM
2>

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

\AAATET{[TI-] 55°~1 60° 'iT7n 7919 VARDEX NIN'Y

SLIM THROAT NinN'v

n 7272 2IX'N 22N7 D"IYON DMD'Y ﬂ
V1/2 v3/8 vV1/4 niy
V'09 VTX, VKX, VM7
n"n 22 n”n 16 n”"n 11 [In'0D  D”"D TPi
- 119l
3VERAGO 2 VER A 60 A 05145 4816 VK2, VK2P - '19'¥ N77
3VERG 60 - G 17530 148
- 3VERAG 60 - AG 0530 488
4 VERN 60 - - 3550 75
NL.—4V(LH) NL.—3V(LH) NL..2V(LH) 7'TNN 210
155.— 110.- 85.— n“wa 'nn
4VERN6OVTX 3VERA60VTX 2VERAG0OVTX NINTNT7 NNAIT
MINI 2'D NIN'Y o
I.C. 5.0L ny'0o ..C 6.0 ny'oo
| II| | 1/4
5LIRAGO... | 0515 48-16 VHX, VKP W"{IND 6I1RAGO... 0515  48-16 VHX, VKP W”{INn
External External
NVR10.-5L NVR1..-6.0 7'TNN 210
8.0 10.0 NN NT7 DN
55.— 65.— N’y 1'Nn
5LIRAGOVKP.. 6.0lIRA60VKP.. 60° 'NID 2NN MINTNT7 ANAIT

NI70i70 |IN'D7 qOINI W/ZNN 210 N1 <
.L-2 R 9700 NIZRDY NINWYT <
55-1 60 'DNN NIX 0’702 97NN 55° NIN'WY <

www.vargus.com INX1 DO'S01 D'0IOI NIN'Ya NITN

/87 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

. .
- EEEEE & &




WA B 8.ai 1 6/10/15 10:37 AM
2>

@

o127 "XIN

vNeumo
varqus

NEUMO Ehrenberg Grou

NEUMO Ehrenberg Grou

SCB DITIVO DaT
101100 DY 1Y
VCB - '9'¥

DITIVD DAT N7N 791D

vyYyivargus n0"NA D'AAN X"7 VARDEX NIN'Y

D"INNYI 0™MIN' ,0"N'DI DMIN'N D'A"NANT

DWW 7919 T 7Y D'Ya7 (1IX'N 212N 1IN I017) 212NN NADDI (W niy
AMAN [7N7 DXNNA ,AY'0DI AY'0D 7 1Ay AN'NNN AW AYWINT A7 7'

<)

0TIVO DAT
VK2P, VK2 - 19X N77
VTX, VKX, VM7 —= D' IYUON DVID'N 1ID

anpw 711

NMNN- 7m0 DT

NL.-2(LH) 2IX'n

NVR..-2(LH) 019

rnn 0”in 0" n)'0d rnn 0”in 0”{n | NY'0d nn 0" 0”in ny'od
n"v Qolib) nix'n TPi n"v N nix'n TPi n"v N1 nix'n n"n
44.- - 2ERT2W... 72 44.- | 2R72UN.. | 2ER72UN.. | 72 44.- | 2IR0.35150...| 2ER0.35180...| 0.35
44.- - 2ERGOW... 60 44.- | 2IR64UN.. | 2ERG4UN.. | 64 44.- | 2IR0.35I50...| 2ER0.4ISO... | 0.40
44.- - 2ERSGW... 56 44.- | 2IR56UN.. | 2ERSGUN.. | 56 44.- | 2IR0.451S0...| 2ER0.45150...| 0.45
44.- - 2ERA48IW... 48 44.- | 2IR48UN.. | 2ER48UN.. | 48 44.- | 2IR0AISO... | 2ER0.ISO... | 0.50
44.- - 2ERAOW... 40 44.- | 2IR44UN.. | 2ER44UN.. | 44 44.- | 2IR0.6ISO... | 2ER0.6ISO... | 0.60
44.- - 2ER36W... 36 44.- | 2IR40UN.. | 2ER40UN.. | 40 44.- | 2IR0.71S0... | 2ER0.7ISO... | 0.70
35.- - 2ER32W. 32 44.- | 2IR36UN.. | 2ER36UN.. | 36 35.- | 2IR0.75180...| 2ER0.75I80...| 0.75
35.- - 2ER28W... 28 35.- | 2IR32UN.. | 2ER32UN.. | 32 35.- | 2IR0.8ISO... | 2ER0.8ISO... | 0.80
35.- - 2ER26W... 26 35.- | 2IR28UN.. | 2ER28UN.. | 28 35.- | 2IR1.0S0... | 2ER1.01S0... | 1.00
35.- - 2ER24W.. 24 35.- | 2IR27UN.. | 2ER27UN.. | 27 35.- | 2IR1.20150...| 2ER1.2580...| 1.25
35.- - 2ER22W.. 22 35.- | 2IR24UN.. | 2ER24UN.. | 24 35.- | 2IR1.580... | 2ER1.51S0... | 1.50
35.- - 2ER20W... 20 35.- | 2IR20UN.. | 2ER20UN.. | 20 35.- | 2IR1.75180...| 2ER1.75180...| 1.75
35.- - 2ER19W.. 19 35.- | 2IR18UN.. | 2ER18UN.. 18 35.- | 2IR2.01S0.. 2.00"
35.- - 2ER18W... 18 35.- | 2IR16UN.. | 2ERT6UN.. 16 35.- | 2IR2.51S0.. 2.50"
35.- - 2ER16W... 16 35.- | 2IR14UN.. | 2ER14UN..| 14
35.- - 2ER14W.. 14 35.- | 2IR12UN.. - 12
35.- | 2IR11UN.. 117
44.- | 2JIR36W.. 36 44.- | 2JRIGUN... 36 44.- | 2JR0.5ISO... 0.50
35.- | 2JIR32W.. 32 35.- | 2JIR32UN.. 32 35.- | 2JIR0.75150..] 0.75
35.- | 2JIR28W.. 28 35.- | 2JIR28UN... 28 35.- | 2JIR08ISO... 0.80
35.- [ 2JIR24W... 24 35.- | 2JIR24UN... 24 35.- | 2JR1.0S0.. 1.00
35.- | 2JIR2OW.. 20 35.- | 2JIR20UN... 20 35.- | 2JIR1.25180. | 1.25
35.- | 2JIR19W.. 19 35.- | 2JIR18UN.. 18 35.- | 2JIR1.5180.. 1.50
35.- | 2JIR18W.. 18 35.- | 2JIR16UN... 16
35.- [ 2JIR16W.. 16
35.- [ 2JR14W.. 14

@

-

JI70[70 [I0'D7 90N W 7NN 2102 N1 <

www.vargus.com INX1 DO'S0I D'0IOI NIN'Ya NITN

/88 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

L-1 R 970N D"78NYW DANANT <

@

@




\///
£

@

@

@ B 9.ai 1 6/10/15 10:36 AM

-

o127 "XIN

wywvar

NEUMO Ehrenberg Gro

@

@

vneumao

varqus

NEUMO Ehrenberg Grou

«[JE¥ DITIV0 D2T VARDEX X710 7919 NIN'WY
B[ Bswese L K o LB s

WY 711

NMNN (77NN DAT

YE3  AL.-3(LH) nivn

Y13 AVR.-3(LH) 019

rnn 0”in 0”in ny'od rnn (V)dd7) 7] 0”{n  [NY'0d rnn 0”in 0”in ny'0d
n"v 'n19 nix'n TPi n"v N1 nix'n TPi n"v QoD nix'n n“n
48.- | 3R72W.. | 3ER72W.. 72 48.- | 3IR72UN... | 3ER72UN.. | 72 48.- | 3IR0.35IS0...| 3ER0.35IS0...| 0.35
48.- | 3IR60W.. | 3ERGOW.. 60 48.- | 3IR64UN... | 3ERGAUN.. | 64 48.- | 3IR0.4ISO... |3ER0.4ISO... | 0.40
48.- | 3IR56W.. | 3ERSHW.. 56 48.- | 3IR56UN... | 3ERS6UN.. | 56 48.- | 3IR0.45IS0...| 3ER0.45IS0...| 0.45
48.- | 3IR48W.. | 3ER4BW.. 48 48.- | 3IR48UN... | 3ER4BUN.. | 48 48.- | 3IR05IS0... |3ER0.5IS0... | 0.50
48.- | 3IR40W.. | 3ER4OW.. 40 48.- | 3IR44UN... | 3ER44UN.. | 44 48.- | 3IR0.6IS0... |3ER0.61SO... | 0.60
48.- | 3IR3pW.. | 3ER36W.. 36 48.- | 3IR40UN... | 3ER4OUN.. | 40 48.- | 3IR0.7IS0... |3ER0.7ISO... | 0.70
39.- | 3IR32W.. | 3ER32W.. 32 48.- | 3IR3BUN... | 3ER36UN.. | 36 39.- | 3IR0.75IS0...| 3ER0.75IS0...| 0.75
39.- | 3IR30W.. | 3ER3OW... 30 39.- | 3IR32UN... | 3ER32UN.. | 32 39.- | 3IR0.8ISO... |3ER0.8ISO... | 0.80
39.- | 3IR26W.. | 3ER28W.. 28 39.- | 3IR28UN... | 3ER28UN.. | 28 39.- | 3IR1.01S0... |3ER1.0180.. | 1.00
39.- | 3IR26W.. | 3ER26W... 26 39.- | 3IR27UN... | 3ER27UN.. | 27 39.- | 3IR1.25IS0...| 3ER1.25IS0...] 1.25
39.- | 3IR24W.. | 3ER24W.. 24 39.- | 3IR24UN... | 3ER24UN.. | 24 39.- | 3IR151S0... |3ER1.5180... | 1.50
39.- | 3IR22W.. | 3ER22W.. 22 39.- | 3IR20UN... | 3ER20UN.. | 20 39.- | 3IR1.75IS0... | 3ER1.75IS0...| 1.75
39.- | 3IR20W.. | 3ER20W... 20 39.- | 3IR18UN.. | 3ER1BUN.. | 18 39.- | 3IR2.01S0... |3ER2.0IS0... | 2.00
39.- | 3IR19W.. | SER19W.. 19 39.- | 3IR16UN.. | 3ERI6UN.. | 16 39.- | 3IR253S0...| 3ER2.53IS0...] 2.53
39.- | 3IR18W.. | 3ER18W.. 18 39.- | 3IR14UN.. | 3ER14UN.. | 14 39.- | 3IR3.01S0... |3ER3.01S0... | 3.00
39.- | 3IR16W.. | 3ER16W.. 16 39.- | 3IR13UN.. | 3ER13UN.. | 13

39.- | 3IR14W.. | 3ER14W.. 14 39.- | 3IR12UN.. | 3ER12UN.. | 12~

39.- | 3R12W.. | 3ER12W.. 12 39.- | 3IR11.5UN.| 3ER11.5UN..| 11.5

39.- | 3R1IW.. | 3ER1TW.. 11 39.- | 3IR11UN.. | 3ERTUN.. | 11

39.- | 3R1OW.. | 3ER1OW.. 10 39.- | 3IR10UN... | 3ER1OUN.. | 10

39.- | 3IR9W.. 3ERIW... 9 39.- | 3IR9UN.. | 3ERIUN.. 9

39.- | 3IR8W.. 3ERBW... 8 39.- | 3IR8UN.. | 3ERSUN.. 8

48.- | 3JIR36W.. | 3JER36W... 36 48.- | 3JIR36UN... | 3JER3GUN... | 36 48.- | 3JIR0.5ISO... | 3JER0.5ISO... | 0.50
39.- | 3JIR32W.. | 3JER32W.. 32 39.- | 3JIR32UN... | 3JER32UN... | 32 39.- | 3JIR0.75IS0..| 3JERO.751S0..| 0.75
39.- | 3JIR28W.. | 3JER28W.. 28 39.- | 3JIR28UN... | 3JER28UN... | 28 39.- | 3JIR0.8ISO... | 3JER0.8ISO... | 0.80
39.- | 3JIR24W.. | 3JER24W.. 24 39.- | 3JIR24UN... | 3JER24UN... | 24 39.- | 3JIR1.01SO... | 3JER1.01SO... | 1.00
39.- | 3JIR20W.. | 3JER20W.. 20 39.- | 3JIR20UN... | 3JER20UN... | 20 39.- | 3JIR1.251S0..| 3JER1.26150..| 1.25
39.- | 3JIR19W.. | 3JERTIW.. 19 39.- | 3JIR18UN... | 3JER1BUN.. | 18 39.- | 3JIR1.5IS0... | 3JER1.510... | 1.50
39.- | 3JIR18W.. | 3JERT8W.. 18 39.- | 3JIR16UN... | 3JERIGUN.. | 16 39.- | 3JIR1.751S0..| 3JER1.781S0..| 1.75
39.- | 3JIR16W.. | 3JERTGW.. 16 39.- | 3JIRT4UN...| 3JER14UN.. | 14 39.- | 3JIR2.0ISO... | 3JER201S0... | 2.00
39.- | 3UIR14W.. | 3JERT4W.. 14 39.- | 3JIR13UN...| 3JER13UN.. | 13 39.- | 3JIR25ISO... | 3JER25180... | 2.50
39.- | 3UIR12W.. | 3JERT2W.. 12 39.- | 3JIRT2UN...| 3JER12UN.. | 12 39.- | 3JIR3.0ISO... | 3JER3.01S0... | 3.00
39.- | 3UIRTIW.. | 3JERTTW.. 11 39.- | 3JIRT0UN... | 3JER1OUN.. | 10

39.- | 3JIR1OW.. | 3JERTOW.. 10 39.- | 3JIROUN... | 3JERIUN... 9

39.- | 3JIRBW.. | 3JERSW.. 8 39.- | 3JIRBUN... | 3JERBUN... 8

www.vargus.com INX1 O'S01 D'0IOI NIN'Ya NITN

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

L-1 R 970N D"7RNYW DANANT <
J17070 [IN'D7 qOINI W7NN 2101 N <

7N



2,
N

N
U

@

@

@ B 10.ai 1 6/10/15 10:54 AM

-

o127 "XIN

WAAYET(« [TE] 011200 DAT VARDEX X710 7919 NIN'Y
D Bswesp _§ _ un____§ _ 1so g

NEUMO Ehrenberg Grou

@

vNeumo
varqus

T
h
v |
RO.
External
rnn 0”{n 0”in ny'0d 1rnn 0”in 0”imn ny'od rnn 0”in 0"in ny'od anw 7
n"v oLib) nix'n TPI n"v 'N'19 nixn TPI n"v 'N'1D nix'n n"n
e 4IR7W... 4ERTW... 7 Dok - 4ER7UN... 7 55.- | 4IR35ISO... | 4ER35IS0...| 3.5
e 41IR6W... 4ERGW... 6 55.- B 4ERGBUN... 6 55.- | 4IR4.01S0... | 4ER4.01S0...| 4.0
e 4IR5W... 4ERSW... 5 55.- B 4ERSUN... 5 55.- | 4IR45ISO... | 4ER451S0...| 4.5
55.- | 4IR5.01S0... | 4ER5.0180...| 5.0 NMPN- 710 DT
YE4  AL.-4(LH) XD
YI4  AVR..-4(LH) '0'19
105.- | 5IR45W.. | SER4.5W.. 45 105.- - 5ER45UN..| 4.5 105.- | 5IR5.5150... | 5ER5.5150... | 5.5
105.- | 5IR4W... 5ER4W... 4 105.- - 5ER4UN... 4 105.- | 5IR6.01S0... | 5ER6.01S0... | 6.0

NN 710 DT
YE5  AL.-5(LH) i¥n
Y5 AVR..-5(LH) '019

NPTF BSPT ™|

*ap | v”pn | v7m |ayoe | vnn | o"m | v”gn |ayoo | v | ov"in | o”pn  |apoo an'w 71
n"y 119 niyn | TPl n"y m1o nixyn | TPl n"y n1D niyn | TPl
35.- | 2IR27NPTF..| 2ER27NPTF.| 27 35.- | 2IR27NPT.. | 2ER27NPT..| 27 35.- | 2IR28BSPT...| 2ER28BSPT.| 28
35.- | 2IR18NPTF..| 2ER1BNPTF.] 18 35.- | 2IR18NPT.. | 2ER18NPT..| 18 35.- | 2IR19BSPT..| 2ER19BSPT.| 19
35.- | 2IR14NPTE..| 2ER14NPTF.| 14 35.- | 2IR14NPT.. | 2ER14NPT..| 14 35.- | 2IR14BSPT...| 2ER14BSPT.| 14
NNN 7700 DT
NL.-2(LH) nIvn
NVR..-2(LH) '0'9
35.- | 2JIR27NPTE.., 27 35.- | 2JIR27NPT... - 27 35.- | 2JIR28BSPT... - 28 SCB
35.- | 2JIR18NPTF.., 18 35.- | 2JIR18NPT... - 18 35.- | 2JIR19BSPT... - 19

L-1 R 970N D"7RDY DANANT <
17070 IN'07 q0INI WI7NN 2101 1N <

www.vargus.com INX1 D'S01 D'0IOI NIN'YUa NIT'N

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN




WA B1l.ai 1 6/10/15 10:54 AM
2>

@

o121 "XID

ivar

NEUMO Ehrenberg Gro

@

@

vNeumo
varqus

NEUMO Ehrenberg Grou

= [T-¥ 017200 DAT VARDEX X710 7919 NIN'Y
" sseT___ il “ry

anw

1.C. 3/8”

Lmm 16

mn | v"En v’agn |ayod [ wnn | 7N o’an |ayod [ wAn | 07N v”iin  |ny'oo
n"y nno nixn | TPI n"v nND niyn | TPI n"y n1Io niyn | TPI
39.- | 3IR27NPTF.. | 3ER27NPTF..| 27 39.- | 3IR27NPT.. | 3ER27NPT..| 27 39.- | 3IR28BSPT.. | 3ER28BSPT..| 28
39.- | 3IR18NPTF.. | 3ER18NPTF..| 18 39.- | 3IR18NPT.. | 3ER18NPT..| 18 39.- | 3IR19BSPT.. | 3ER19BSPT..| 19
39.- | 3IR14NPTF.. | 3ER14NPTF..| 14 39.- | 3IR14NPT.. | 3ER14NPT..| 14 39.- | 3IR14BSPT..| 3ER14BSPT..| 14
39.- | JR1LANPTE. | 3ERITANPTE. | 115 39.- | 3IRMBNPT. | 3ERMANPT. | 11.5 39.- | 3IR11BSPT..| 3ER11BSPT..| 11
39.- | 3IRBNPTFE.. | 3ERSBNPTE.. | 8 39.- | 3IRBNPT.. | 3ERBNPT.. 8

39.- | 3JIR27NPTF. [3JER2/NPTE.. | 27 39.- | 3JIR27NPT... | 3JERZINPT.. | 27 39.- |3JIR28BSPT...| 3JER28BSPT..| 28
39.- | 3JIR18NPTF..[3JER1BNPTFE..| 18 39.- | 3JIR1BNPT... | 3JERI8NPT.. | 18 39.- |[3JIR19BSPT..| 3JER19BSPT..| 19
39.- | 3JIR14NPTF. [3JERTANPTE.. | 14 39.- | 3JIR14NPT.. | 3JERTANPT.. | 14 39.- |[3JIR14BSPT..| 3JER14BSPT..| 14
39.- [3JRITANPTE. [ 3JERTIANPTE.. | 11.5 39.- | 3JIRTIANPT.. | 3JERTISNPT. | 115 39.- |[3JIR11BSPT..| 3JER11BSPT..| 11
39.- | 3JIRBNPTF.. |3JERSNPTE.. 8 39.- | 3JIR8NPT... | 3JERSNPT.. 8

NN
VARDEX

DAY
DRYYID

UNJ

npw 712

I.C. 1/4”

L mm 11

rnn 0”in 0”“{n  [nY'0d
n"y N1 nix'n TPI
44.- | 2IR48UNJ... | 2ER4BUNJ...| 48
44.- | 2IR44UNJ... | 2ER44UNJ...| 44
44.- | 2IR40UNJ... | 2ER40UNJ...| 40
44.- | 2IR36UNJ... | 2ER36UNJ... | 36
35.- | 2IR32UNJ... | 2ER32UNJ...| 32
35.- | 2IR28UNJ... | 2ER28UNJ...| 28
35.- | 21R24UNJ... | 2ER24UNJ...| 24
35.- | 2IR20UNJ... | 2ER20UNJ...| 20
35.- | 2IR18UNJ... | 2ER18UNJ..| 18
35.- | 2IR16UNJ... | 2ER16UNJ..| 16
35.- | 2R14UNJ... | 2ER14UNJ...| 14
44.- | 2JIR36UNJ... 36
35.- | 2JIR32UNJ... 32
35.- | 2JIR28UNJ... 28
35.- | 2JIR24UNJ... 24
35.- | 2JIR20UNJ... 20
35.- | 2JIR18UNJ... 18
35.- | 2JIR16UNJ... 16

www.vargus.com INXN1 0O'9501 D'0OIOI NIN'Ya NITN

L-1 R 97NN D"7XNY DANANYT <

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN



WA B 12.ai 1 6/10/15 10:54 AM
2>

@

o127 "XIN

wywvar

NEUMO Ehrenberg Grou

@

vyneumo

varqus

NEUMO Ehrenberg Grou

qus
Round (DIN405) §  NPS | i |

B 5
rnn 0"{n 0"{n ny'nd 1NN 0"{n 0"{n ny'nos 1NN 0"{n 0"{n ny'nos nanw 'rl'n
n"v NS nixn TPI n"v nnio nixn TPI n"v Nnino nix'n TPI
55. | 3R10RD.. | 3ER1ORD.. | 10 39.- |3RONPS. |3ERONPS. | 9 48 | 3R4sUNS. | 3FRABUNL. | 48
55. | 3RGRD.. | 3ERGRD.. | 8 39 |3R115NPS.|3ERTISNPS.| 115 | 48~ | 3R44UN. | 3ERaUND. | 4
55.- | 3IR6RD... | 3ERGRD... 6 39.- | 3IR12NPS... | 3ER12NPS... 12 48.- | 3IR40UNJ... | 3ERA0UNJ... 40
39.- - [aeRteNes.. | 16 48 | 3R36UNJ.. [ 3FR36UNJ.. | 36 | [ TMRNTLETNO BT
30 |3IR2ANPS.. |3EROINPS.. | 24 30- | 3R2UNL. | 3ERBUNL. | 32 YES AL.3(LH) 1IN
39.- | SR2SUNJ. | ERZBUNL. | 28 VI8 AVR.-3(LH) 01D
39- | SIR2AUNJ. | SEROAUNS. | 24
39~ | 3IR20UNJ. | 3ER20UNL. | 20
39- | 3RI8UNJ. | SERIBUNS. | 18
39- | SIR16UNL. | SERTGUNL | 16
39 | 3R14UNJ.. | 3ERTAUNS. | 14
39 | 3R13UNJ. [3FRIBUNL. | 13
39 | 3R12UNJ. | 3ERTZUNL. | 12
39 | 3R1UNJ. | 3ERTIUNL. | 11
39 | 3R10UNJ. | 3ERTOUNL. | 10
39 | 3RUNJ. |3FREUNL. | 8
39 | 3ROUNJ. |3FROUNL. | 9 (1 )
48.- | 3JR36UNJ..| 3JER36UNJ.| 36
39 | 3JR32UNJ. | 3UFR32UNS.| 32
39 | 3JRIBUNJ.| 3UER28UNS.| 28
39 | 3JR24UN. | 3UER24UNS.| 24
39 | 3JR20UNJ. | 3UER20UNJ.| 20
39 | 3JRISUNJ. | 3UER1BUNJ.| 18
39 | 3JRI6UNJ. | 3UER1GUNS.| 16
39~ | 3JRTAUNJ. | 3UER14UNJ.| 14
39 | 3JRT2UNJ. | 3UR12UN.| 12
39 | 3JRTIUNL. | 3UERTIUNS.| 11
39 | 3JRI0UNJ | UER1OUNS.| 10
39 | 3JROUNJ. | 3UEREUNJ. | 8
79- | 4RGRD.. | 4ERGRD. | 6 55 | 4RONPS.. | 4FReNPS. | 6 55.- | ARTUNL. | 4ERTUNS. | 7
79- | 4RIRD. | 4ERIRD. | 4 55 | ARINPS.. | 4ERNPS. | 7 55 | 4R6UNJ. | 4ER6UNJ. | 6
55 | ARGNPS.. : 8 55 | 4RSUNJ. | 4ERSUNJ. | 5
NMNN 710 0T
YE4 AL.-4(LH) 1¥n
Y4 AVR..-4(LH) '0'9

@

-

L-1 R 970N D"7RNY D'ANANT <
J70[70 [I0'07 90N W/7NN 101 N1 <

www.vargus.com INX1 DO'S0I D'0IOI NIN'Ya NITN

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

2D



N2

@

22, B 13.ai 1 6/10/15 10:54 AM
E
2\

o127 "XIN

wywvar

NEUMO Ehrenberg Gro

@

vyneumo

varqus

NEUMO Ehrenberg Grou

«]VL-3 DITIVO D2T VARDEX X710 7919 NINWY
B Round (DIN405) § __NPS_____ |

nnw 7

rnn 0”imn 0”in ny'od rnn 0”in 0”in ny'od 1NN 0”in 0”in ny'od
n"v o lab) nix'n TPI n"v NS nIx'n TPI n"v o lib) nix'n TPI
155 | 5R4RD.. | SER4RD.. | 4 105 | 5IRSNPS.. | SERSNPS.. | 5 105 | 5R45UNJ.. | SER4SUNJ..| 45

105 [ 5RAUNJ.. | 5ER4UNS.. | 4

N'MNN 7'7N0 DT
YE5 AL.-5(LH) I¥n
Y5 AVR.-5(LH) 19

American ACME

Round (DIN 20400)

[n |

External
mn | 0"En "N |AY'O® | YND | V"D "N |AY'o® | YND | V"D 0”iIn | ny'0d anw Y
n"vy NS nixn TPI n"v NS 1Ixn n"n n"v NS nixn n"n
48.- |2IR16ACME... | 2ER16ACME..| 16 48.- | 2R15TR..| 2FR15TR..| 15
N'MAN 7100 01
NL.-2(LH) 2I¥n
NVR..-2(LH) '09
55.- | 3IR16ACME..| 3ER16ACME.| 16 55.- | 3R15TR.. | 3ER15TR.. | 1.5
55.- | 3IR14ACME..| 3ER14ACME.| 14 55.- | 3IR20TR.. | 3ER20TR.. | 2.0
55.- | 3IR12ACME..| 3ER12ACME.| 12 55.- | 3IR25TR.. 2.5
55.- | 3IR10ACME..| 3ER10ACME.| 10 55.- | 3IR30TR.. | 3ER3OTR.. | 3.0 NONN 770 DT
55.- | 3IRBACME... | 3ERSACME... 8 YE3  AL.-3(LH) "IN
55.- | 3IRGACME... | 3ERGACME... 6 Y3 AVR.-3(LH) 0D
79 | 4R6ACME... | 4ER6ACME..| 6 79.- | 4R40TR.. | 4ER40TR.. | 4.0 79.- | 4R3.0RD20400. | 4ER30RD20400.] 3.0
79.- | 4RSACME... | 4ERSACME...| 5 79.- | 4R50TR.. | 4ER50TR.. | 5.0 79.- | 4R4.0RD20400. | 4ER40RD20400.| 4.0
79.- | 4R60TR.. | 4ER60TR.. | 6.0 79.- | 4R5.0RD20400. | 4ER5.0RD20400.] 5.0
79.- | 4R6.0RD20400. | 4ERGORD20400.] 6.0 [ A MNN 77NN DAT

YE4 AL.-4(LH) 21¥N
Y4 AVR.-4(LH) 19

@

-

L-1 R 970N D"7RNY D'ANANT <
2170770 IN'07 q0INI WI7NN 2101 1N <

www.vargus.com INX1 D'S01 D'0IOI NIN'YUa NIT'N

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

2D



WA B 14.ai 1 6/10/15 10:53 AM
2>

@ @
: vyneumo
DI MIXID Varqus

NEUMO Ehrenberg Group

WWAAYT«[TEY DITIO0 DAT VARDEX X7 79119 NIN'Y
Ametican ACME m| @ B

nn 0" n 0”n  [NY'0d nn "N 0”{gn  [NY'0d anw 71
n"y 'n19 nix'n n"n n"vy LD b) nix'n n"n
155.- | 5IR4ACME... | 5ER4ACME...| 4 155.- | 5IR6.0TR... | SERG.0TR.. 6

NMNN 710 DT
YE5 AL.-5(LH) 21¥n
Y5 AVR.-5(LH) 19

Stub ACME m | @

American Buttress

nn 0"in 0”gn [ nY'0d nn 0”jn 0”{yn  [NY'0d nn 0”imn 0”{En  [Y'0d anw yIn
n"y N9 nix'n TPI n"v 'n19 nix'n n"n n"y N9 nix'n TPI
48.- | 2IR20ABUT...| 2ER20ABUT..| 20 35.- | 2R1.0MJ... | 2ER1.OMJ.. | 1.0 48.- |2R165TACME. [2ER16STACME..| 16

48.- |2IR16ABUT..| 2ER16ABUT..| 16 35.- | 2IR1.25MJ...| 2ER1.25MJ... | 1.25
35.- | 2IR1.5MJ.. | 2ER16MJ.. | 1.5

35.- | 2IR2.0MJ... | 2ER2.0MJ.. | 2.0 NMNN 77D DT
NL.-2(LH) "1¥n

NVR..-2(LH) '0'19

55.- [3IR20ABUT... |3ER20ABUT..| 20 39.- | 3IR0.75MJ... | 3ER0.78MJ...| 0.75 55.- |3IR16STACME..| 3ER16STACME.| 16

55.- | 3IR16ABUT.. [3ER16ABUT..| 16 39.- | 3IR1.0MJ.. [3ER1.OMJ.. | 1 55.- |3IR14STACME..| 3ER14STACME.| 14

55.- [3IR12ABUT.. [3ER12ABUT..| 12 39.- | 3IR1.25MJ... | 3ER1.28MJ...| 1.25 55.- |3IR12STACME..| 3ER12STACME.| 12

55.- [ 3IR10ABUT... [3ER10ABUT..| 10 39.- | 3IR1.5MJ.. |3ER1SMJ.. | 1.5 55.- |3IR10STACME..| 3ER10STACME.| 10 N'NNN 710 0T
39.- | 3IR2.0MJ... | 3ER2.0MJ.. | 2.0 55.- |3IRBSTACME... | 3ERBSTACME.. 8 YE3 AL.-3(LH) 21¥n
39.- | 3IR2.5MJ... | 3ER25MJ.. | 2.5 55.- [3IRGSTACME... | 3ER6STACME.. 6 Y3 AVR.-3(LH) '0"9
39.- | 3IR3.0MJ... | 3ER3.OMJ.. | 3.0

79.- | 4IR8ABUT... | 4ER8ABUT... 8 79.- | 4R6STACME... [ 4ER6STACME...| 6

79.- | 4IR6ABUT... | 4ERGABUT.. 6 79.- | 4RSSTACME... [ 4ERSSTACME..| 6

79.- | 4R4STACME... [ 4ERASTACME..| 4

NNNN 710 DAT
YE4  AL.-4(LH) 1¥n
Yi4  AVR.-4(LH) 'D"9

L-2 R 7NN D"78NY DANANYT <
J170[70 [IN'D7 0N W 7NN 102 N1 <

www.vargus.com INX1 D'S01 D'0IOI NIN'YUa NIT'N

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

. .
- EEEEE & &




WA B 15.ai 1 6/10/15 10:53 AM
2>

@

o127 "XIN

wywvar

NEUMO Ehrenberg Grou

Stub ACME i |

External
rnn 0"n 0”"{gn [ NY'0d
n"v 'n"19 nix'n TPI
155.- |5IR4STACME...| 5ER4STACME...| 4
5IR3STACME...| 5ER3STACME...| 3

apw 7

NMNN 710 DT
YE5 AL.-5(LH) 1¥n
Y5 AVR.-5(LH) "9

Metric Buttress

British Buttress [l

vNeumo
varqus

NEUMO Ehrenberg Grou

«[JE¥ DITIV0 D2T VARDEX X710 7919 NIN'WY

rnn 0"{n 0”{n ny'od NN 0"{n 0"{n ny'oo rnn 0"{n 0"{n ny'nod anw yaib
n"v olb) nix'n TPI n"v N1 1Ix'n n"n n"v NS nixn TPI
48 | 2IR20PG.. | 2ER20PG.. | 20
48- | 2R18PG.. | 2ER1BPG.. | 18
48 | 2R16PG.. | 2ER16PG.. | 16
NN 7100 03T
NL.-2(LH) ¥
NVR..-2(LH) D10
55 | 3IR20PG.. | 3ER20PG.. | 20 55.- |3IR2.0SAGE. |3ER20SAGE.| 2 55.- | 3IR16BBUT.. |3ER16BBUT..| 16
55.- | 3R18PG.. | 3ER1BPG.. | 18 55.- | 3IR12BBUT. |3ER1ZBBUT.| 12
55.- | 3R16PG.. | 3ER16PG.. | 16 55.- | 3IR10BBUT..|3ER10BBUT..| 10
55.- |3IR8BBUT.. [3ERGBBUT. | & | NN 0 ol
YES  AL.-3(LH) 1
YI3 AVR.-3(LH) D29
79.- IER20SAGE.| 2 79.- | 4IRGBBUT.. | 4ERSBBUT.. | 8
79 |4R3.0SAGE.|4ER30SAGE.| 3

N'NAN 770 DAT
YE4 AL.-4(LH) ¥n
Yi4  AVR.-4(LH) 09

L-1 R 7NN D"78NY D'ANANT <

17070 ID'07 q0INI WI7NN 2101 1N <

www.vargus.com INX1 D'S01 D'0IOI NIN'YUa NIT'N

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

-

@

@




\///
£

@

@ B 16.ai 1 6/10/15 10:53 AM

o127 "XIN

API Round Casing

wywvar

NEUMO Ehrenberg Gro

D
n"y
155.—-

0”{n
'n1O

5IR4.0SAGE...

0"{n
nix'n

5ER4.0SAGE..|

ny'od
TPI

nnw '

NMNN 7700 DAT
YE5S AL.-5(LH) I¥n
Y5 AVR.-5(LH) 019

API Buttress Casing

vNeumo
varqus

NEUMO Ehrenberg Grou

+]VL-3 DITIVD D2T VARDEX X710 7'919 NINWY
Metric Buttress R4 |

rnn (Vi) 0} 0”n ny'oo rnn ny'od 1rnn 0”{n 0”"{gn  [NY'0D an'vy 71
n"v N9 nix'n TPI n"v TPI n"v 'N1o nix'n TPI
55~ |3R10APIRD.3ER10APRD. 10
55~ |3IRBAPIRD.. |3ERBAPIRD.. | 8
NN 0D 01T
YES AL.3(LH) 1Y
V3 AR.-3(LH) DD
55~ |3JIRI0APIRD.[SJERIOAPIRD.] 10 (1 )
55~ |3JRBAPID.. [JERSIPRD.. | 6
79~ |4RBUTTS. |4ERSBUTTS.| 5 | 79 |4R4APiaso. |4ER4APISE2] 4
79~ |4RSBUTI. [4ERSBUTT. | 5 | 79 |4R4APias3 [4ER4APIsEs.] 4
79~ | 4IR¢API02. | 4ERSAPIE0R.] 4
79— | 4R4APIS03.[4ER4APIEOS.] 4 | | IUAD 710D DT
79~ | ARSAPUOS. [4ERSAPMGS.] 5 | VEA  AL.-A(LH) ¥
79~ | 4RGAPISS. [4ERGAPISS1.] 6 || Vi AVR.-4(LH) 100D
185~ | 5ReAPIa82. [sERaAPIBE.] 4
155~ | SIR4API38S. [ SER4APISES.] 4
185~ | SR4APIS02. [ SER4APISOR.] 4
155~ | SR4APIS03.[SER4APISOS.] 4 | | NUAM 70D AT
155~ |SGAPI403.[SERGAPHOS.] 5 | | VB AL.G(LH) R
VS AVR.S(LH) DD

@

-

L-2 R 7NN D"78NY DANANYT <
217070 IN'07 q0INI W' 7NN 2101 1N <

www.vargus.com INX1 D'S01 D'0IOI NIN'YUa NIT'N

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

@

2D



V2
|

2N

\

@ B 17.ai 1 6/10/15 10:53 AM

@

@

-

@

@

o127 "XIN Z" neumao

wywvar

AAAY=T[TE] 0DITI00 DAT VARDEX X710 79119 NIN'Y
EL-Extreme Line m| @

NEUMO Ehrenberg Grou

rnn (V1) /] 0”{n | NY'0d 1rnn [0}d7)7] 0”{n  [NY'0D an'vw 71
n"v 'N"1D nIxn TPI n"v 'n'1d nix'n TPI
55— | 3IRGVAM.. | 3ERSVAM.. | 8
AN 71D 011
YE3 AL.-3(LH) myn
Y3 AVR.-3(LH) 101D
79.- | 4IRGEL15.. |4ERGELIS. | 6 79~ | 4RGVAM.. | 4EREVAM.. | 6
79~ | 4IRSEL1%5. [4ERSELIS..| 5 79~ | 4RSVAM.. | 4ERSVAM.. | 5
AN {7700 DT
YE4 AL.-4(LH) D
Yie AVR.-4(LH) 1019

/81 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

L-2 R 970N D"7RNY DAMANT <
AU70[70 ID'07 0INI YWI7NN 2101 1N <

www.vargus.com INX1 D'S01 D'0IOI NIN'YUa NIT'N

varqus

@

2D



2N

N

N // B 18.ai 1 6/10/15 10:53 AM
Il

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

T272 0"N19 DANY7 DRND
VK2P, VK2 - "M9'¥ N'77
VTX, VKX, VM7 — D" IUON D"ID'Y 11D

NN DINI'D nn'w 7112 272n
nni7 | N7 n”"n ILcC.

- BNVR10S-6.0 6.0IR13UN... 158/001 . 1/2_ x 13UN
35- | 12.0 | NVRC10-2 156/001 |2IR12UN... 158/002 11 1/4 ] 9/16 x 12UN
35 | 134 | NVRC11-2U 156/002 | 2UIRT1UN... 158/003 1/4U | 5/8 x 11UN
39- | 16.3 | NVRC13-3 156/016 | 3IR10UN... 16 3/4  x 10UN
39- | 19.2 | NVRC13-3 156/016 | 3IR9UN... 3/8 | 7/8 x9UN
39.- | 22.0 |NVRC16-3 3IR8UN... 1 x8UN
55.- | 24.6 | NVRC20-4 41R7UN... 22 11/8 x 7UN
55.- | 27.8 | NVRC20-4 41R7UN... 1/2 | 11/4 x TUN
55.- | 30.3 | NVRC20-4 4IRGUN.. 13/8 x 6UN

3IR6ACME VTX 128/001 :[pTn VTX U"F7NN 1/2x13NUC 'N'1D A'M2N :NINTN NNAIT

NN DIN'D 'inn nN'Y 7112 272n
nni7 N1 n”"n IcC.

- NVRC8-6.0U 156/003) 6.0UIR10ACME... 158/005 12 x10
48.- | 12.70 | NVRC10-2U 156/004 | 2UIR8ACME... 158/006 | 11 | 1/4°'U| 5/8 x8
55.- | 14.82 | NVRC11-3 156/005 | 3IR6ACME... 16 | 3/8" 34 x6
55.- | 18.42 | NVRC13-3 156/006 | 3IREACME... 718 x6
79- | 20.32 | NVRC17-4 156/007 |4IRSACME... 2 |12 1 x5
79 | 24.00 | NVRC20-4 156/008 |4IRSACME... 118 x5
155.- | 27.18 | NVRC20-4 156/009 |4IR5ACME... 27 | 518" 11/4 x5
155.- | 32.38 | NVRC28-5 156/010 |5IR4ACME... 112 x4
155.- | 38.74 | AVRC32-5 5IR4ACME... 13/4 x4

3IR6ACME VTX : DTN VTX W”7NN 3/4x6ACME 'N'1D 212N :NINTN NNAIT

NN | DINI'D an'Y 7112 272n
nni7 N1y n'"n I.C. TRAPEZ

55.- 14.0 | NVRC11-3U 156/020 | 3UIR4.0TR... 158/013 | 16 [3/8"U | TRI18x4
55.- 16.0 | NVRC13-3 156/006 | 3IR4.0TR... 158/012 16 [3/8 TRI20x4
55.- 17.0 | NVRC14-3U 156/018 | 3UIRS.0TR... 158/011 | 16 | 3/8"U | TRI22x5
55.- 19.0 | NVRC15-3U 156/019| 3UIR5.0TR... 158/011 | 16 [3/8"U | TRI24x5
55.- 21.0 | NVRC15-3U 156/019| 3UIR5.0TR... 158/011 | 16 [3/8"U | TRI26x5
79.- 23.0 | NVRC20-4 156/008 |4IR5.0TR... 22 |12 TRI28x5
79.- 24.0 | NVRC20-4U 156/011 | 4UIR4.0TR... 158/007 | 22 |1/2"U| TRI30x6
155.- | 30.0 | NVRC25-5 156/012 |5IR6.0TR... 27 |58 TRI36x6
79.- 31.0 | NVRC25-4U 156/013 | 4UIR7.0TR... 158/008 TRI38x7
79- 33.0 | NVRC25-4U 156/013| 4UIR7.0TR... 158/008 | 22 |1/2°U | TRI40x7
79- 35.0 | NVRC32-4U 156/014|4UIR7.0TR... 158/008 TRI42x7
79- 37.0 | NVRC32-4U 156/014|4UIR7.0TR... 158/008 TRI44x7
155.- | 38.0 | NVRC32-5U 156/015|5UIR8.0TR... 158/010 TRI46x8
155.- | 40.0 | NVRC32-5U 156/015|5UIR8.0TR... 158/010 | 27 |5/8°U | TRI48x8
155.- | 42.0 | NVRC32-5U 156/015|5UIR8.0TR... 158/010 TRI50x8
155.- | 44.0 | NVRC32-5U 156/015]|5UIR8.0TR... 158/010 TRI52x8

3UIR4.0TR VTx 158/013 :INTn  VTX W"FNN 18x4 1910 'N1D A'MAN :NINTN NNAIT
JI70[70 [IN'D7 0N W 7NN 2102 N1 <

www.vargus.com INX1 D'S01 D'0IOI NIN'YUa NIT'N

/88 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

® EEEEE




2,
N

N
U

@

@ B 19.ai 1 6/10/15 10:52 AM

@

-

o127 "XIN

wwvar

@

@

vyneumo

varqus

NEUMO Ehrenberg Grou

ADATEINSER SLIM THROAT / V '7;7'071 DAT VARDEX X70 79119 NIN'W

TA72 0may'n 0'anY7 o'RnNn
VK2 - 19X X77
VTX, VKX, V14 — D"WUON D"ID'Y 1D

RO. e
1NN 0”{n ny'nd 1NN 0"{n ny'nd 1NN 0”{n ny'od ) LJ) 'l'l'l;l
n"v nix'n TPI n"v nix'n TPI n"v nix'n n"n
85.- OVER1OW... 19 85.- VER20UN... 20 85.- OVERO.75180.. | 0.75
85.- VERT4W... 14 85.- 2VER18UN... 18 85.- 2VER1.0S0... 10
85.- OVERTAW... 11 85.- OVER16UN... 16 85.- 2VER1.51S0... 15
85.— 2VER14UN... 14 85.— 2VER1.751S0... 1.75 YN 770 02T
85.— 2VER12UN... 12 85.— 2VER2.01S0... 2.0 NL..-2V(LH)
110~ 3VER1OW.. 19 110~ 3VER32UN... 32 110.- 3VER0.351S0.. | 0.35
110~ 3VERT8W... 18 110~ 3VER28UN.. 28 110.- 3VER0.41SO... 04
110~ 3VERT6W... 16 110~ 3VER24UN... 24 110.- 3VER051S0... 05
110~ 3VERTAW... 14 110~ 3VER20UN... 20 110.- 3VER0.75180.. | 0.75
110~ 3VERTW... 12 110~ 3VER18UN... 18 110.- 3VER1.0ISO... 10
110~ 3VERTIW.. 11 110 3VERT6UN... 16 110.- 3VER1.25150... 1.25
110.- 3VERT4UN... 14 110- 3VER151S0... 15 XN 70D DT
110~ SVERT2UN.. 12 10~ | 3VERI7550. | 1.75 NL..-3V(LH)
110~ 3VERTOUN... 10 110.- 3VER2.01SO... 20
110~ 3VERSUN... 8 110.- 3VER251S0... 25
110~ 3VER3.01SO. . 3.0
110.- 4VER7UN... 7
NIN'N 7'TND DT
NL...-4V(LH)

www.vargus.com INN1 0O'901 D'0I9DI NIN'YUAa NITN

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

L-2 R 7NN D"78NY DANANY <
17070 1007 q0INI WI7NN 2101 1N <

@

2D



WA B 20.ai 1 6/10/15 10:52 AM
2>

@

o127 "XIN

@

@

vNeumo
varqus

NEUMO Ehrenberg Grou

DM7NNYI DN’ D'NMDI1 0MIN'D DA2NYT7 D'NND
VK2P, VK2 - "19'X¥ X77
VTX, VKX, VM7 = D" IWONX D"IO'N "D

T
h
¥
RO.1
External

U DAT N7D 79179 NINY

A4

vyvivargus n0"NA D'22N XH7 VARDEX NIN'Y

NEUMO Ehrenberg Grou

1/8P  External

n | v*En o’ |nyoo | wAn | v"En o”i;n  |nyo® | Nn ny'0o anw 71

n"v Nnino nix'n TPI n"v NI nixn TPI n"v n"n

55.- |4UEI45W.. | 4UEI45W. | 45 55.- | 4USUN. | 4UE45UN..| 45 55.- | 4055180, | 4UF55180.. | 5.5

55. |4UEl4W.. |4UEAW. | 4 55. | 4UMUN.. | 4UE4UN.. | 4 55.- | 4UI60ISO.. | 4UE60IS0.. | 6

55. |4UEI3SW.. | 4UEIBSW.. | 35

55.- |4UFI325W.. | 4UEI3.25W.. | 3.25 NN 710 D¥T
YE4U AL.-4U(LH) 1¥n
YI4U AVR..-4U(LH) D9

55.- | SUEISSW.. | SUEI3SW. | 35 55. | S5UIBUN.. | 5UE3UN.. | 3 55.- | 5018.0190... | 5UEB.0ISO...| 8

55.- | SUEI325W...| SUEIB25W.| 3.25

55.- | SUEIBW.. | 5SUEI3W.. 3

55.- | SUEI275W...| SUEI275W.| 275 AN 7700 DT
YE5U AL.-5U(LH) I¥'n
YI5U AVR..-5U(LH) 'n"9

American ACME Trapez | @D
rnn 0”in 0”in ny'0d rnn 0”in 0”in ny'od rnn 0”in (}d7)7] ny'od anw 7
n"v 'no nix'n TPI n"y o Lib) nIx'n n"n n"y 'nno nix'n TPI
79.- |4UIBACME... [4UE3ACME...| 3 79.- | 4UI6.0TR... | 4UE6.0TR... 6 55.- | 4UI4.5UNJ...| 4UE4.5UNJ...| 45
79.- | AUI4ACME... |4UE4ACME...| 4 79.- | 4UI7.0TR... | 4UE7.0TR... 7 55.- | 4UI4UNJ... | 4UE4UNJ... 4
79.- | 4UIB.OTR... | 4UEB.OTR... 8

NMNN 71n0 DT
YE5U AL.-4U(LH) I¥n
YI5U AVR..-4U(LH) '0'19

17070

www.vargus.com INX1 DO'S0I D'0IOI NIN'Ya NITN

L-1 R 970N D"7RNY D'ANANT <
[IN'D7 QDINI W/7NN 2101 N1 <

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

-

2D



WA B2l.ai 1 6/10/15 10:52 AM
2>

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

WAAYCTLETER U DAT VARDEX X7D 79119 NIN'Y
n Hughes H-90 American Buttress Stub ACME | @ ﬂ

h
h
K-
a
External 3 External

wnp | v'pn | o"gn |ayos | wnn | v7pn | o”n |ayoo | wnn | vpn | o"pn | ayos anw 7

nw | mo | myn |[ysx | n"w | w9 | myn ['yen | n"w | 9 | oaivn |y

75.-  |4UR35HO02..|4UER35HO02.| 352 75.- | 4UIR4ABUT..|4UER4ABUT..| 4 75.. |4UMSTACNE... [AUEASTACME...| 4

75.- |4UR35H903...|4UER35H903.| 353 75.. |4UI3STACME... [4UESSTACME..| 3
AN 7700 DT
YE4U AL.-4U(LH) ¥
YI4U AVR..-4U(LH) D19

155.- |5UIR3HIOSL.. |5SUERSHO0SL..| 3-1.25 | 155.- |5UIR3ABUT. |5UER3ABUT.| 3

NN 700 D11

YESU AL.-5U(LH) "IV
YI5U AVR..-5U(LH) 1019

American ACME Round (DIN 20400) ERNIEE

External
'nn 0”imn 0”{n  [nNY'0d nn (V1) 0] 0”{7n [nY'0d rnn 0”in 0”{n  [nNY'0d an'vw ym
n"v 'n119 nix'n n“n n"v 'n19 nix'n n“n n"v N9 nix'n n“n
155.- | 5UISACME... | SUESACME...| 3 155.- | 5UI8.0TR... | 5UEB.0TR... 8 155.- | SUEIBORD20400..| SUEIBORD2040..| 8

1585.- | BUI9.0TR.. | 5UE9.07R..| 9

NMNN- 710 DT
YE3U AL.-5U(LH) I¥n
YI3U AVR..-5U(LH) 019

L-2 R 7NN D"7XNY DANANYT <
JI70[70 [IN'07 0N W/7NN 2102 N1 <

www.vargus.com INX1 D'S01 D'0IOI NIN'YUa NIT'N

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

. .
® EEEEE




WA B22.ai 1 6/10/15 10:52 AM
2>

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

wyvivargus n0IN1 D'2"12N 1IX"7 VARDEX NIN'Y

V DAT N7D 79119 nin'v

DY7NNYI DMIN' ,0"ND1 DMIX'N D2ANY D'XND
VK2 = '9'Y N'77
VTX, VKX, VM7 — D"IUONX D"ID'Y '11D

__ Bsw_ B un_§ 150 RCiE

v

External
wn | opn | o7 |ayoo | wan | v'pn | v'pn |ayoe | wan | o"pm | v7pn |apoe Al
n"w | o iyn | TPl n"w | o niyn | TPI n"w | o ayn | n"p
185 | 5VIR4W.. | svERaW. | 4 185.- | 5VIR4UN.. | SVER4UN. | 4 185.- | 5VR60IS0.. | 5VER60ISO.. | 6.0
185 | 5VR35W.. | 5VER3SW.. | 35 | 185 | 5VIRSUN.. | SVER3UN.. | 3 185.- [ 5VR80ISO.. | 5VERE0ISO.. | 8.0
185 | 5VIR25W.. | 5VER2SW. | 25 | 185.- 185.- | 5VIR6100IS0..| 5VER100IS0..| 10.0 71D D11
NL.-5V(LH) "IN
NVR..-V(LH) 010

American ACME Stub ACME [N

= v

1nn 0”{n 0”“gn  [nY'0d nn 0”{n 0”“En  (nY'0d rnn 0”{n 0“{n [ NY'0D anw 7
n"v 'N"1D nIxn TPI n"v N1 nix'n n"n n"v N1 nIxn TPI
278.- | 5VIR4ACME...| 5VER4ACME..| 4 278.- | 5VIR6.0TR... |5VERG.0TR... 6.0 278.- | SVIRASTACME...| SVERASTACME..| 4
278.- | 5VIR3ACME..|5VERSACME..| 3 278.- | 5VIR7.0TR... |5VER7.0TR... 7.0 278.- | SVIR3STACME...| SVERSSTACME..| 3
278.- | 5VIR2ACME...| 5VER2ACME..| 2 278.- | 5VIR8.0TR... |SVERS.OTR... 8.0 278.- | SVIR2STACME...| SVER2STACME..| 2
278.- |5VIR9.0TR... |5VERI.OTR... 9.0
278.- |5VIR10.0TR...|5VER10.0TR..| 10.0
278.- |5VIR12.07R...| 5VER12.0TR..| 12.0

AR R TR I American Buttress ol 1

278.- |5VIR4BUT.. | SVER4BUT.. 4
278.- |5VIR3BUT.. |5VER3BUT.. 3
278.- |5VIR2.5BUT..|5VER2.5BUT.| 25

7N DT
NL.-5V(LH) 21vn
NVR..-BV(LH) 029

7N DT
NL.-5V(LH) 1¥n
NVR..-5V(LH) 019

1170770 IN'D7 qOINI W/ZNN 2101 N1 < L-1 R 9700 DM7RNDY DINANT <

www.vargus.com INX1 DO'S0I D'0IOI NIN'Ya NITN

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

® EEEEE




@ B 23.ai 1 6/10/15 10:52 AM @

vNeumo
varqus

NEUMO Ehrenberg Grou

o121 "XID

D'0ITIVO D'{7'TNN
o nianan7

D"Mixmn

AN nerpnadi ninixn

L)) I
pmxn L
DV{7OIN N

<

D'7'7TND
D"N"19
D"{7OIN

DY7'TNN
n"P1IO
n'n

D'{i7'tNn
D'TNI'N
12207
O1701{7'N

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

® EEEEE




2,
N

N
U

@

@

@ B 24.ai 1 6/10/15 10:51 AM

-

o127 "XIN

NEUMO Ehrenberg Group

vneumao

var

qus

wYvivarqus i

NEUMO Ehrenberg Grou

0"INI YI'N ,2N2N7 VARDEX NIN'Y

(7TaD Oy O"OITIVO DY7'TNN

rnn (n”n) PTnpn NITH 0"{n anw
n"v H1 H B 1.C.
255.- 20 20 20 AL20-3C
295.- 25 25 25 AL25-3C
385. 32 32 32 AL32-3C
375. 25 25 25 AL25-4C
395.- 32 32 32 AL32-4C
630.- 40 40 40 AL40-4C
610.- 25 25 25 AL25-5C
630.- 32 32 32 AL32-5C
995.- 40 40 40 AL40-5C
1165.- 50 50 50 AL50-5C

JVIT7 DRNN2 IMNN 'DTT ¥ ANNR AZV0 DI .1.6° A7U0 DT 7'30 Q7innn 727 *
JXDY 7NN 'DINT W' LH DITN0Y NIDWT .RH NIY' NIDYYT DN 7'10 070N *
LH IMIND N 0707 9007 !

{0100 N7 N7 DY D"HIO DTN 72§77 [N ¢

U DAT NIN'Y7 D{7'TND

nn (n”n) nna NITN 0"{n nnw 1
n"v H1 H B L.C.
595.- 32 32 32 AL32-4U

615.- 40 40 40 AL40-4U

785.- 32 32 32 AL32-5U

985.- 40 40 40 AL40-5U
1250.- 50 50 50 AL50-5U

DMIN'N DY7'TNN

@

@

0'"OITIVO DY7'TNND ﬂ

W&

A

nn (n”p) mna NITN 0”fin W
n"v H1 H B I.C.
245.- 8 8 8 NL8-2
245.- 10 10 10 NL10-2
245.- 12 12 12 NL12-2
245.- 12 12 12 NL12-3
245.- 9.52 9.52 9.52 AL3/8-3
245.- 12 12 12 AL12-3
245.- 16 16 16 AL16-3
245.- 20 20 20 AL20-3
270.- 25 25 25 AL25-3
370.- 32 32 32 AL32-3
360.- 25 25 25 AL25-4
385.- 32 32 32 AL32-4
615.- 40 40 40 AL40-4
595.- 25 25 25 AL25-5
610.- 32 32 32 AL32-5
985.- 40 40 40 AL40-5
1150.- 50 50 50 AL50-5
(TN OY U DaT ninwY o'7'tnn
rnn (n”n) Pnnpn NITH 0"{n v 'ITIz
n"y H1 H B L.C.
605.- 32 32 32 AL32-4UC
620.- 40 40 40 AL40-4UC
795.- 32 32 32 AL32-5UC
985.- 40 40 40 AL40-5UC
1270.- 50 50 50 AL50-5UC

www.vargus.com 1NN21 0O'S011 0O'0ID

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

7N



2N

§

@

V2 B 25.ai 1 6/10/15 10:51 AM
A

o127 "XIN

@

@

vneumao

var

NEUMO Ehrenberg Grou

qus

vvar

NEUMO Ehrenber

gus nL"INI YI'n ,A1NAN7 VARDEX NIN'Y

Slim Throut = V DAT NIN'W7 D'{7'TND

DMIN'N 0Yy7'TNnD

V DAT NIN'Y7 D'{7'TND

T

™ 8]
@ Hy H
jmﬁ
F 81 8
1= 4

nn (n”n) NN NITH v”jin nnw 1
n"v H1 H B I.C.
995.- 32 32 32 NL32-5V-6
995.- 32 32 32 NL32-5V-8
995.- 32 32 32 NL32-5V-10
1265.- 40 40 40 NL40-5V-6
1265.- 40 40 40 NL40-5V-8
1265.- 40 40 40 NL40-5V-10

nn (n”n) nnn NITH v”jin anw
n"v H1 H B I.C.
365.- 8 8 8 NL8-2V
365.- 10 10 10 NL10-2V
365.- 12 12 12 NL12-2V
365.- 16 16 16 NL16-2V
365.- 10 10 10 NL10-3V
365.- 12 12 12 NL12-3V
365.- 16 16 16 NL16-3V
365.- 20 20 20 NL20-3V
450.- 25 25 25 NL25-3V
550.- 32 32 32 NL32-3V
595.- 40 40 40 NL40-3V
495.- 25 25 25 NL25-4V
565.- 32 32 32 NL32-4V
615.- 40 40 40 NL40-4V

A.5° D7UN NI 70 D7TNNT

www.vargus.com INX1 DO'S0I D'0IOI NIN'Ya NITN

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

-




WA B 26.ai 1 6/10/15 10:51 AM
2>

@

o127 "XIN

vneumao

varqus

NEUMO Ehrenberg Grou

vvar

NEUMO Ehrenberg Grou

D"NIO DTN

{7TaD OY O"OITIVO DY7'TND

gus nL"INI YI'n ,A1NAN7 VARDEX NIN'Y

)

WD 1017 DID|(N”D) PTNDA NITH 0"im AW T YD Y017 DID'D|(N”D) TADA NITH 0”im nnw
n"y | (0"0) N1 A D LC. n"y | (h"n) N1 D A L.C.
250.- 24 18.0 20 AVR20-3C 195.- 13 10 NVR10D-2
380.- 29 28.0 32 AVR25-3C 275.- 13 20 18.0 NVR10-2
380.- 29 22.6 25 AVR25D-3C 275.- 16 20 18.0 NVR13-2
395.- 36 29.0 32 AVR32-3C 275.- 17 20 18.0 NVR13-3
790.- 44 36.0 40 AVR40-3C 235.- 20 16 18.0 NVR16-3
380.- 32 29.0 32 AVR25-4C 235.- 16 16 15.2 NVR16D-3
380.- 32 22.6 25 AVR25D-4C 235.- 24 20 18.0 AVR20-3
380.- 39 29.0 32 AVR32-4C 365.- 29 32 29.0 AVR25-3
625.- 47 36.0 40 AVR40-4C 295.- 29 25 22.6 AVR25D-3
770.- 40 29.0 32 AVR32-5C 365.- 36 32 29.0 AVR32-3
1290.- 48 36.0 40 AVR40-5C 775.- 44 40 36.0 AVR40-3
1565.- 58 45.0 50 AVR50-5C 310.- 27 20 18.0 NVR20-4
1940.- 69 54.0 60 AVR60-5C 330.- 32 32 29.0 AVR25-4
330.- 32 25 22.6 AVR25D-4
365.- 39 32 29.0 AVR32-4
Coarse Pitch NDA NY'0D NIN'WT DPOITIVD DYP'TINN 6. 47 40 36.0 AVR40-4
755.- 40 32 29.0 AVR32-5
e (;;Zg;’,,’.‘,';:’,, ‘”"”D’ rnoa Z‘”'” R nnll.wc:nn 1275 48 20 | 360 | AVRAOS5
290 | 30 20 | 180 |NVRC10-2 156/001 :ggg 22 28 gig mgg::
315.- 4.5 20 18.0 [NVRC11-3 156/005
315.- 4.0 20 18.0 | NVRC13-3 156/006 NMNN 'PI7 Y NNNR D70 DINT7 .1.5° N7y DT 70 D7 nnn 737 *
315 25 2 180 |NVRCTSS To0/oTo 7 TN 'NTN7 W' LH DITROY NINDWT .RH NINK' NINW7 DD ﬂiwngﬂgﬁ *
340-- 40 20 | 180 |NVRC17-4 156/007 RO IND (DT 7 LA NEDE AIDErAn AT A0S ') o o
340.- 35 20 18.0 |NVRC20-4 156/008 L0TTI0DD W7 N7 DY DDA DTNN 777 [N *
340.- 3.0 20 18.0 | NVRC20-4 156/009
710.- 3.3 32 29.0 |NVRC25-5 156/012
710.- 35 32 29.0 |NVRC28-5 156/010

@

-

www.vargus.com 1NX1 0'S0Il D'0YD

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

@

0'"O0ITIV0 DY7'TNND ﬂ

@

7N



2,
N

N
U

@

@

@

-

B 27.ai 1 6/10/15 10:51 AM

DI MXIN vneumo

varqus

NEUMO Ehrenberg Grou

wvvivargus n0"INI YI'n ,A1N2N7 VARDEX NIN'Y

NEUMO Ehrenberg Group

Coarse Pitch NDA NY'09 U DAT NIN'WYT D'tNN

D"NIO DTN

U DAT NIN'Y7 D'{7'TND

D | ApWY F [ (07D) @D nimn 0" n nw
n"v (n"n) D A I.C.
360.- 5.86 20 18.0 | NVRC8-6.0U 156/003
360.- 7.40 20 18.0 | NVRC10-2U 156/004
385. 7.30 20 18.0 |NVRC11-2U 156/002
385.- 8.23 20 18.0 | NVRC11-3U 156/020 o
385.- 9.99 20 18.0 | NVRC14-3U 156/018 4
385.- 10.99 20 18.0 | NVRC15-3U 156/019
415.- 13.68 20 18.0 |NVRC20-4U 156/011
455.- 17.63 32 29.0 |NVRC25-4U 156/013 TN 017 DIAD| (D”N) IADA NITH 0”jin anw
495.- 18.76 32 29.0 |[NVRC32-4U 156/014 n"v (n”"n) n1j7 A D 1.C.
530.- 20.96 32 29.0 [NVRC32-5U 156/015 675.- 42 29 32 AVR32-4U
975.- 51 36 40 AVR40-4U
910.- 42 29 32 AVR32-5U
I I
vV DT NIn wl’ D I-’ mn 1275.- 53 36 40 AVR40-5U
1560.- 63 45 50 AVR50-5U
1965.- 74 54 60 AVR60-5U
A [»]
SE@L 7TAD DY U DAT NIN'WY 7TND
= L o TND  |017 DID'D| (D”N) PINDA NITH 0" n anw 11
n"y | (0”0) N7 A D LC.
nn (n”p) nna NITD 0"n nw T 690.- 42 90 12 AVR32-4UC
n"v I.C. : :
A D 985.- 51 360 51 AVR40-4UC
1250.- 36 40 NVR40-5¢ 1290.- 53 360 53 AVR40-5UC
1750.- 45 50 NVRS0-5Y 1585.- 63 450 63 AVR50-5UC
2350.- 54 60 NVR60-5Y 1975.- 74 54.0 74 AVR60-5UC
ISO, UN — NTy7 Y017 DIN'A'D NMNN [0T7 W' INNK N7U0 NINE7 .1.5° n7un DA 710 ni7innn 727 *
10 8 6 (p”n) nY'oo JIT7 DN
- 2 " {to1) MY'OD i7'nn 700 NINY7 Y LH NI7ROY NINWT .RH NIMD' NIN'W7 D 730 D7'innn *
. pil Y .LH NIMINN NN 0707 9'0DINT7 W' 7N0Y
80 70 55 50 NVR40-5V 0100 N7 'NT7 DY DUHID DTN ‘7ai77 [N *
80 70 60 60 NVR50-5V
80 70 70 70 NVR60-5V .
APi NIN'WT7 D'7'TNN
.50 N7u0 NIT YV NI DTN
n | (p”n) pa NITD 0”fIn 27an a0 | AW T
n"y I.C.
API NIN'W7 D'7'7TND A D
1975.- 45 50 AVR50-50IL V0.038R
nn (n”n) enpn NIT'N 0”in 272N 210 anw 1 2150.- 45 50 AVRC50-50IL '
Y | 4 W | B C. 2350.- | 72 80 |AVRBO-5OIL |\ o
625.- 32 32 32 AL32-50IL V0.038R 2675.- 72 80 AVRC50-50IL '
810- | 40 | 40 | 40 | AL40-50IL 7700 DT W LH NIRDY NIDWYT .RH NI NINWY DA Y730 D7T0N *

LH DIMIND DX 0707 9'0IN7 W' 7RDY

www.vargus.com 1NX1 0'S0Il D'0YD

/82 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

@

@

7N



\///
£

@

@

@ B 28.ai 1 6/10/15 10:50 AM

-

o127 "XIN

Kz
vNeumo
varqus

NEUMO Ehrenberg Grou

wvvivargus n0"INI YI'n ,A1N2N7 VARDEX NIN'Y

NEUMO Ehrenberg Group

U7[TNN N7 DY D"NI1OD DY7'TND ﬂ

TN | 017 DINN v”iin anw 1
n"v (p"n) N7 F L H D A 1.C.
1120.- 13 7.3 150 19 10 9.5 CNVRC10-2

1180.- 15 8.3 180 25 12 11.7 CNVRC12-2

1490.- 20 115 200 27 16 15.6 CNVRC16-3

1615.- 24 13.4 250 35 20 19.5 CNVRC20-3

1730.- 25 13.8 250 38 20 19.5 CNVRC20-4

20177 M7N IR 2 DN IWRDL NI 71T NI7YA NITIYA WID'W7 DIy W/znn 7' inn
311 10 7 7nnn

JIMNN DRNNT7 W NNNR N7Y0 NINT7 .1.5° D7'TNNA N7yNn NIT*
.01TI00D N7 NT7 NN D7'TNNT *

L

Holding device

Minimum length

NINT /7720 77'TNDN NIX 1227 QWWONN 72D |07 NIFMT7 1Y, NI0ONAN V7N 770N L IR
D'NYD 3 NI'N7 1Y NI0ONA DISN NINY7 MNKY 700N NIXD DI Yan7 nn 7y
.(3xD) 77NN 017

www.vargus.com 1NX1 0'S0Il D'0YD

/B2 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

7N



V2

Z)

A

N

@ B 29.ai 1 6/10/15 10:50 AM

@

@

o127 "XIN

@

vneumao

var

NEUMO Ehrenberg Group

qus

MAAYC

NEUMO Ehrenberg Gro

gus nL"INI YI'n ,A1NAN7 VARDEX NIN'Y

7910"1'N” DAT DPNDI DMIIX'N DY TND

N'UDIND N'WYNYT NI'ONIVIX NIVINDA YIN'YWT N1DIN 712y IN YaIn N7 oy M0"¥N DY7'TND
27717 ONNN] DMIX'N D2l D'N'D D'2'2N VINAT D2 DY7'TNNY UNNWAT7 [N .01 TN R 1dnhal

iL iR EL ER 2amn
iL IR EL ER nn'y
LH RH RH LH mnn

7y N7 'tnn

nn (n”n) D N IF 0”in
n"v

315.- 12.0 OVR12-2
395.- 15.0 OVR15-2
395.- 16.0 OVR16D-2

anw ‘1
I.C.

117N N7 71NN

a11))) (n”n) A My nITH v”jin W 11
n"y I.C.
255.- 8.0 ovs-2

255.- 10.0 0oV10-2

-

www.vargus.com 1NX1 0'S0Il D'0YD

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

.0.5° N7YN NUIT DNIDMINN D7'TNNT *
LH 0707 qDIN DY7XNW D7TNNT .RH DY D7'TNND DIMNND DIO770N *

7N



i

V2 B 30.ai 1 6/10/15 10:50 AM
2>

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

eeeeeeeeeeeeeeeeeee

n DIV D'7'TND ﬂ
M+ DAT NIN'WYT

=

niNn ° s NI1O

Z+ DAT NINWY

A==

Off-Set Qualified (FQ) DAT

T+ DAT NINWY

F\‘u‘ | ) )h»i““\“

i

www.vargus.com 1NX1 0'S0Il D'0YD

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

. .
® EEEEE




WA B 3l.ai 1 6/10/15 10:49 AM
2>

@ @
: vneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

NINW7 NI'NNN

n'lUDn nit 10 NN NY'0o ‘YI'X1 NDND s 1/2
AMANN P17 7Y DT RN D70 N , {/V 1
N7ynn NNT NNYWY [N 07T 7' TNnA 9 60 504 30 >l ogTl 'alinba 101 3
NDWA NMNN N97NN T-7y j 7 1.5° 4 [neif A 510
:n7yDA NI 2WNY7 ANokn E~ p . 7 L 4
AN -41/2
PxN ULIN o 5 /7 = K
p = arctan— = v s /4 ] L6
X RN/ L o
p = n7vnn nur UKD ) - 5
P = (0'n) ny'od C 14
N = ni7nnn 1000 ! 4
D = 272NN 7y '20j79R 017 — DD 07 50 700 150 200
PxN = n7un e 2 4 6 8
o S sy
N'DIMLD N'NNN U DAT N'NNN NI'MNN YIin'yn |DIX
narn NI n'on N'77W N 'on hiﬁ;";,‘?,!?e h’:m
' 731 D' ANANT 7R0Y 1731 110! 3N1N7 B -B
JTRDY 1722 1780W 1MANT INC 0! 1731 17X 1MANT IN %—
ER/IL EL/IR ER/IL EL/IR JDMNNE AN 7Y 9y 721 nYIR7 H TN * éw, E W 150 - H1
Standard tooholder | amgye Standard toolholder
pocket angle pocket angle
B nYynn nur as° | 350 | 250 [nw)wnn| 150 [inw)vnn| ose | o0 | -os0 | 150 [in"w) vnn
nn(lfjc..;m rl'Ile'l%n nInnn MntaY Tig
. EXRH/INLH | YE3-3P |[YE3-2P | YE3-1P 33.- YE3 22.- |YE3-IN [YE3-1.5N |YE3-2N |YE3-3N 33.-
3/8 EXLH/INRH | YI3-3P |YI3-2P | YI3-1P 33, YI3 22 | YI3-IN [YI3-15N |YI3-2N | YI3-3N 33.-
, EXRH/INLH | YE4-3P |YE4-2P | YE4-1P 47.- YE4 33.- | YE4-IN |[YE4-15N |YE4-2N |YE4-3N 47.-
112 EXLH/INRH | YI4-3P |YI4-2P | YI4-1P 47.- Y14 33~ | YI4-IN  [YI4-15N | YI4-2N | YI4-3N 47.-
"y EXRH/INLH | YE4U-3P | YE4U-2P | YE4U-1P 47.- YE4U 33.- | YE4U-IN |YE4U-1.5N| YE4U-2N | YE4U-3N 47.-
12 EXLH/INRH | YI4U-3P |YI4U-2P | YI4U-1P | 47.- Y14U 33.- | YI4U-IN [YI4U-1.5N | YI4U-2N | Y14U-3N 47.-
. EXRH/INLH | YE5-3P |YE5-2P | YE5-1P 66.- YE5 44.- | YE5-IN [YE5-1.5N | YE5-2N | YE5-3N 66.-
58 EXLH/INRH | YI5-3P |YI5-2P | YI5-1P 66.- YI5 44- | YI5-IN  [YI5-15N | YI5-2N | YI5-3N 66.-
58" U EXRH/INLH | YESU-3P | YESU-2P | YESU-1P 66.- YESU 44.- | YESU-IN |YESU-1.5N| YESU-2N | YESU-3N 66.-
EXLH/INRH [ YI5U-3P |YI5U-2P | YI5U-1P 66.- YIs5U 44.- | YISU-IN |YI5U-1.5N | YI5U-2N | YI5U-3N 66.-
NIYysSivnp ni'nhn N>y
, Y T
(n"w) ynp | MNNN T mapray | a0y 97 nennn nnwn
(Lc) Aoy
350.- 3/8” YES - 2P, 1P 1N, 2N, 3N VARDEX
ABY3 Anvil Kit
350.- L 6-16mm YI3 - 2P, 1P 1N, 2N, 3N
- ” YE4 -
490. 1/2 ABYA 2P, 1P 1N, 2N, 3N
490.- L 22mm Y14 - 2P, 1P 1N, 2N, 3N
490.- 1/2 ABYAU YE4U - 2P, 1P 1N, 2N, 3N
490.- L 22mm Yl4U - 2P, 1P 1N, 2N, 3N
680.- 5/8 ABYES YES - 2P, 1P 1N, 2N, 3N
680.- L 22mm Y15 - 2P, 1P 1N, 2N, 3N
- D220 2N 'IX'N7 NIYOIYN NIMNN 74 N'YIN'Y N
680-- 5/8 ABYSUE | YESU- 2P 1PN, 2N, 3N AM2N7 NIMNN WHN N771D AN 07T NIN'A VINAY7
680.- L 22mm ABY5UI YIsU - 2P 1P 1N, 2N, 3N JN1O AN2NT7 NIFMNN WHNIE 1IN

www.vargus.com 1NX1 0'S0Il D'0YD

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

® EEEEE




2N

§

V2 B 32.ai 1 6/10/15 10:48 AM
A

@ @
: vneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

wvvivargus n0"INI YI'n ,A1N2N7 VARDEX NIN'Y

NEUMO Ehrenberg Gro

n D™MIN'NI D"N"D D'7'TNNT Q17N 77N E

("N7M” 7NN 7710 X7)

OO ¢ & §-

n'nnn N{0'T + N'ANN A | YD | YD D'{7INNY FITA M il "D
0| INRH/ | YAD|EXRH/| NN )] i | S Y
N"W| EXLH [n”"w| INLH |n”w| NNON | N“Y| 22N | 07N | hw | n"w A1an "N | IC
- - I K21 - - 6.- | M2.6x0.45.6.5 SN2T 1
22.- | Y3 22.- | YE3 e K3t 6.- | UNC5x7.3 | SY3T 6.~ | UNC5x12.0 SA3T 38" VITI00
33-| Yl 33.- | YE4 11.- | KdT 7.- | UNC8X9.3 | SY4T 8.- | UNCBx15.2 SAT 12’
44.- | Y 44.- | YE5 11.- | KoT | 11.- | M5x0.8x95| SY5T 11.- | M5x0.8x22.0 SA5T 58"
22- | Y3 22.- | YE3 8- | K3CT | 6.- |UNC5x7.3 | SY3T 8.- 6.- | UNCSx12.0/M5x0.8x22.0 | SA3T/C3| 3/8"
33-| Yl 33.- | YE4 11.- | KdT 7.- | UNC8x9.3 | SY4T 9.- 8.~ | UNCBx15.2/M6x1.0x29.5 | SA4T/C4| 12" 1T DY LITIVD
44.- | Y 44.- | YEB5 11.- | K5T | 11.- [ M5x0.8x9.5| SY5T 13- | 11.- | M5x0.8x22.0MBx1.25x28.0 | SAST/C5| 518"
33.- | YU 33.- | YEAU | 11.-| K4T 7.- | UNC8x9.3 | SY4T 8.- | UNCBx15.2 SAAT 112U U o7
44.- | YI5U 44.- | YESU | 11.-| KST | 11.- | M5x0.8x9.5| SY5T 11.- | M5x0.8x22.0 SAST 5/8"U
33.- | YU 33.- | YEAU | 11.-| K4T 7.- | UNC8x9.3 | SY4T 8.~ | UNCBx15.2/M6x1.0x29.5 | SA4T/C4| 12" 71D DY U DAT
44.- | YI5U 44.- | YESU | 11.-| KST | 11.- | M5x0.8x9.5| SY5T 11.- | M5x0.8x22.0/M8x1.25%28.0 | SA5T/C5 | 5/8"
K21 - - 6.- | M2.6x0.45.6.5 SN2T 114U
" K3t - - 6.- | UNC5x9.9 SN3T 3/8"U v DT
11.- | KdT - - 8.- | UNCBx15.2 SN4T 112U
- - 11.- | KT - - 11.- | M6x1.0x29.5 SN6T 5/8"U
33.- | Yl4Z 33.- | YE4Z | 11.-| K4T 7.- | UNC8x9.3 | SY4T 8.- | UNCBx15.2 SAAT 1122 7 037
44.- | YI5Z 44.- | YESZ | 11.-| KST | 11.- | M5x0.8x9.5| SY5T 11.- | M5x0.8x22.0 SAST 58'2
22- | YIM 22.- | YEM e K3t 6.- | UNC5x7.3 | SY3T 6.~ | UNC5x12.0 SA3T 38'M
33.- | Yl4M 33.- | YEAM | 11.-| KdT 7.- | UNC8X9.3 | SY4T 8.- | UNC8x15.2 SAT 112'M M DaT
44.- | YI5M 44.- | YESM | 11.- | KST | 11.- | M5x0.8x9.5| SY5T 11.- | M5x0.8x22.0 SA5T 58'M
33.- | 4T 33.- | Y4T 11.- | K4TK2 | 7.- [ UNCBX9.3 | SY4K2 8.- | UNC8x15.2 SAT 1127 T DT
44.- | YI50IL | 44.- | YESOIL | 11.- | K5T | 11.- [ M5x0.8x9.5| SY5T 13.- | 11.- | M5x0.8x22.0MBx1.25x28.0 | SAST/C5| 518 API
11.- | KT - . 8- | M2x0.4xd.1 SNSLT | 5.0L Mini=L 212N
11.- | KOMT - - 8- | M1.8x0.35x4.5 SN6MT | 6.0mm Mini-3 212N
8- | Kdo . . 8- | M4x0.7x40 840 | - Mini [2IDND 7'1ND

www.vargus.com 1NX1 0'S0Il D'0YD

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

. .
- EEEE & &




2

N2, B 33.ai 1 6/10/15 10:48 AM
=
2\

@ @
: vneumo
DI MIXID varqus

NEUMO Ehrenberg G

rrrrrrrrrrrrrrrrrrr

O MINIPRO o

101;77 DNNNA MiniPro "XNID 17
n'n 1.7 01N

I Threading

£ E
e £
20 121
175 1411
15-

25— 1

SEXED

Grooving

DIY"7 DNNNA MiniPro "XID 1j7

Micro Bore Drill Threading Mlcro Minl
e

>

Micro Long Nose

Micro Chamfer

4n:

Micro Face Grooving

.{RD Grooving Micro Micro Boring PmrBon
j’ =

Sroovml Micro [W
———f Micro Copy J

www.vargus.com INX1 D'S01 D'0IOI NIN'Ya NITN

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

e EEEE




V2
/\

i

\

@

@

@ B 34.ai 1 6/10/15 10:48 AM

-

o127 "XIN

@

/Y Neumo
varqus

NEUMO Ehrenberg Grou

vYvvarqus

NEUMO Ehrenberg Group

MINIPRO

17'7N 79119 - Micro Thread D'A"ANT7 Ni7'H NIN'Y

55°—1 60° D'2"1ANY7

i

RH-Double Ended

D"77) DWIN'WT TiN DY - VMX W0

rnn RH nh'w ny'nod ninn ny'od ninn NT7 DIN'2'D anw 7112

n"y n'TIY 2 TPI "YI'R n”"n n"n n”"n

151.- 3.0IRF60... 48-24 05-10 33 3.0

161.- 4.0SIRF60... 48-24 05-1.0 33 40 /
N

168.- 6.0SIRAG0... 48-24 05-10 33 6.0

53.- 5LIRAGO... 48 - 24 05-10 80 5.0 9

53.- 6.01RAGO... 48-24 05-10 100 6.0 @

3.0SILF55VMX :55°

78NV 1'1AN7 NANTn NNAIT

R.H 0" 60° 272N DIWNWN D"I70{70 DMDONN <

www.vargus.com INX1 D'S01 D'0IOI NIN'YAa NITN

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

55-1 60 7NN 55° 21IN7 <
L-2 R 9700 '78NY 1NAN7 <

@

2D



7

2N

N2

I

@ B 35.ai 1 6/10/15 10:47 AM

@

@

-

o127 "XIN

@

vNeumo
varqus

NEUMO Ehrenberg Grou

NEUMO Ehrenberg Grou

Mini-L, Mini-3 DAT N7D 79179 NIn'v

Yiyivivarqus 101N DAMAN X" VARDEX NI

MINIPRO

N9-12'N NIT'ON D'N'D DANANT

Mini-L

Mini-3 DAT

NIDINI Q'Y NIPNMNT TiN 19X HSS NN'Y -VHX D" IWON DMID'Y 110

Mini-L DAT

0770 DWINWYT TiN 19X -VKP
.C 4.0-7 D"770 DWINWT TICN '19'Y -VBX
.C 4.0-7 NLDNM TAWYT7 D"77D DWIN'WYT TIALN 'O -VTX

P'TNN DaT P'TNN DaT G'TND DaT
NVR10..-5L NVR1..-6.0 NVR5..—400K
rnn 0"{n ny'nod nn 0”{n ny'nod rnn 0”{n ny'ood
n"v N n"n n"v N1 n"n n"v olb) n"n
66.- 5LIR0.5ISO... 0.50 66.- 6.01R0.51S0... 0.50 66.- 4.0KIR0.51S0... 0.50
53.- 5LIR0.751S0... 0.75 53.- 6.01R0.751S0... 0.75 53.- 4.0KIR0.75IS0... 0.75
53.- 5LIR1.01SO... 1.00 53.- 6.01R1.0I1SO0... 1.00 53.- 4.0KIR1.01S0... 1.00
53.- 5LIR1.251S0... 1.25 53.- 6.01R1.25180... 1.25 53.- 4.0KIR1.251S0... 1.25
53.- 5LIR1.51S0... 1.50 53.- 6.0IR1.51S0... 1.50
53.- 5LIR1.751S0... 1.75 53.- 6.01R1.751S0... 1.75
53.- 5LIR2.01S0... 2.00 53.- 6.01R2.0I1S0... 2.00

8.0 10.00

[i7n

npw 7112

6.35 :(N”N) NT7 W0I7 DIN'I'N

L- R 97NN DM7RNY D'INANT <
12170770 [IN'D7 QOINI W/7NN A0 1N <

www.vargus.com INX1 D'S01 D'0IOI NIN'YAa NITN

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

2D



N2

@

2 B 36.ai 1 6/10/15 10:47 AM
E
2\

o127 "XIN

vNeumo
varqus

NEUMO Ehrenberg Grou

Yvvivar

NEUMO Ehrenberg Grou

guS Mini-L, Mini-3 DT VARDEX X710 7'O119 NIN'Y

MINIPRO

q7'tnn DT 7'tnn DT 7'tnn DT .
NVR10..=5L NVR1..—-6.0 NVR5..—400K N 7T|]
1nn 0"{n ny'od rnn 0"{n ny'nd NN 0”{n ny'os
n"y bbb} "YI'R n"y b} "YI'R n"v NS "YI'X
53.- 5LIR32UN... 32 53.- 6.0IR32UN... 32 53.- 4.0KIR32UN... 32
53.- 5LIR28UN... 28 53.- 6.0IR28UN... 28 53.- 4.0KIR28UN... 28
53.- 5LIR24UN... 24 53.- 6.0IR24UN... 24 53.- 4.0KIR24UN... 24
53.- 5LIR20UN... 20 53.- 6.0IR20UN... 20 53.- 4.0KIR20UN.. 20
53.- 5LIR18UN... 18 53.- 6.0IR18UN... 18 53.- 4.0KIR18UN... 18
53.- 5LIR16UN... 16 53.- 6.0IR16UN... 16
53.- 5LIR14UN... 14 53.- 6.0IR14UN... 14

8.0 10.00 6.35 :(N”N) NT{7 W0I7 DIN'Y'D

BSW, BSP li7n
q7'Tnn DT q7'tnn DT q7'tnn DT .
NVR10..-5L NVR1..—6.0 NVR5..—400K 'y 'ITIZ
1NN 0"{n ny'on rnn 0"{n ny'on nn 0"{n ny'os
n"y b} "YI'N n"y 'no "YI'N n"y NS "YI'N
53.- 5LIR28W... 28 53.- 6.0IR28W... 28 53.- 4,0KIR26W... 26
53.- 5LIRTOW... 19 53.- 6.0IR19W... 19 53.- 4.0KIR22W... 22
53.- 5LIRT4W... 14 53.- 6.0IR14W... 14 53.- 4,0KIR20W... 20
53.- 4,0KIR18W... 18
8.0 10.00 6.35 :(N”N) DT 1017 DIN'I'N
@ BSPT |7n

{'Thn DT q'tnn DT q7'tnn DT .
NVR10..-5L NVR1..-6.0 NVR5..—400K nn'y 7TI]
rnn 0"{n ny'od rnn 0"{n ny'od rnn (V)] ny'nd
n"v olb) "YI'N n"v olib) "YI'N n"v o Lib) "YI'N
53.- 5LIR28BSPT... 28 53.- 6.0IR28BSPT... 28 53.- 4.0KIR28BSPT... 28
53.- 5LIR19BSPT... 19 53.- 6.0IR19BSPT... 19
53.- 5LIR14BSPT... 14 53.- 6.0IR14BSPT... 14

8.0 10.00 6.35 :(N”N) NTZ 1017 DIN'I'N

L- R 700 D"7RDY DANANT <
NI70[70 [IN'D7 QDINI W/7ZNN 210 1N <

www.vargus.com INX1 D'S01 D'0IOI NIN'YAa NITN

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

= ﬂ

@

@

2D



V2
U

@

2
N

@ B 37.ai 1 6/10/15 10:47 AM

o127 "XIN

@

®
vyneumo

varqus

NEUMO Ehrenberg Grou

YYvivarqus Mini-L, Mini-3 DT VARDEX X70 7919 ninw |MINIPRO
7'TND DaT 7'Tnn DaT 7'TND DaT an'w y1n
NVR10..-5L NVR1..-6.0 NVR5..—400K
rnn 0”{n ny'ood nn 0”{n ny'nd rnn 0"{n ny'no
n"v 'n"19 "YIIN n"v 'n15 "YIIN n"v 'n"15 "YI'N
53.- 5LIR27NPT... 27 53.- 6.0IR27NPT.. 27 53.- 4.0KIR27NPT... 27
53 5LIR1BNPT... 18 53.- 6.0IR18NPT... 18
53- 5LIRTANPT... 14 53.- 6.0IRT4NPT... 14

8.0 10.00 6.35 :(ND"N) NT7 0IF7 DI
H =
(]
7'TND DaT 7'Tnn DaT 7'TND DaT anw 7
NVR10..-5L NVR1..-6.0 NVR5..—400K
rnn 0”{n ny'nod nn 0”{n ny'nd rnn 0”n ny'nos
n"v 'n"19 "YIIN n"v N1 "YIN n"v 'n"15 "YI'N
53.- 5LIR27NPTF... 27 53.- 6.0IR27NPTE... 27 53.- 40KIR2TINPTE.. | 27
53.- 5LIR18NPTF... 18 53.- 6.0IR18NPTE... 18
53.- 5LIRT4NPTF.. 14 53.- 6.0IR14NPTF... 14
8.0 10.00 6.25 :(0"D) NT{7 VI DIN'I'D
Trapez lan
7'7TND DaT 7'Tnn DaT anw 71
NVR10..-5L NVR1..-6.0
rnn 0”{n ny'nd nn 0”{En ny'od
n"v 'n15 "YaIN n"v 'n15 "YaIN
53- 5LIR15TR... 1.5 53.- 6.0R1.5TR... 1.5
53- |  5LR20TR.. | 20 5- |  6O0R20TR.. | 20
8.0 10.00 :(0"D) NT7 017 DI

L- R 970N D"7RNY DNANT <
17070 [IN'D7 QDINI W/ZNN 210 N <

www.vargus.com INX1 D'S01 D'0IOI NIN'YAa NITN

. /s3 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

2D



2,
N

N
U

@

@

B 38.ai 1 6/10/15 10:46 AM @

Kz
vNeumo
varqus

NEUMO Ehrenberg Grou

o127 "XIN

wYvivarqus Mini-L, Mini-3 D27 vARDEX X7n ‘7o ninw [MINIPRO

NEUMO Ehrenberg Gro

Q@ | American ACME I ﬂ
q7'tnn DT {7'tnn DT anw .71n
NVR10..-5L NVR1..-6.0 . !
1nn 0"{n ny'nd rnn 0"{n ny'nd
n"y NS "YI'X n"v NS "YI'R
66.- 5LIR12AMCE... 12 66.- 6.0IR12AMCE... 12

8.0 10.00 :(n”N) NT7 017 DIN'I'D

(D [ﬁ Stub ACME .
q7'thn DT q7'tnn DT anw .11n
NVR10..=5L NVR1..—6.0 . v !
nn (Vi ))) Y09 mnn (Vi ))) Yoo
n"y b} "YI'N n"v NS "YI'N
66.- 5LIR12STAMCE... 12 66.- 6.0IR12STAMCE... | 12

8.0 10.00 :(n”N) NT{7 017 DIN'I'D
UNJ l7n
q7'Thn DT q'Tnn DT anw Y1
NVR10..-5L NVR1..-6.0 = - !
NN 0"{n ny'on rnn 0"{n ny'on
n"y Qo lb) "YIIX n"v NS "YI'N
53.- 5LIR20UNJ... 20 53.- 6.0IR20UNLJ... 20
7.8 9.8 :(N”N) NT{7 017 DIN'I'ND
Pg |7n
{7'Tnn DT {'tnn DT anw L’_I_n
NVR10..-5L NVR1..-6.0 !
rnn 0"{n ny'nd rnn 0"{n ny'nd V
n"v NS "YI'N n"v olib) "YI'N
66.- 5LIR20PG... 20 66.- 6.0IR20PG... 20
66 | S5LRIBPG.. | 18 66 | 6ORISPG.. | 18
8.0 10.00 :(N”N) NT{7 017 DIN'I'N

L- R 97N DM7RNY DNANT <
1217070 |IN'D7 HOINI W7NN A0 N1 <

www.vargus.com INX1 D'S01 D'0IOI NIN'YAa NITN

| B33

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

EEEEE & &




2,
N

N
U

@

@

@ B 39.ai 1 6/10/15 10:46 AM

o127 "XIN

@

vyneumo

var

NEUMO Ehrenberg Group

qus

vYvvarqus

NEUMO Ehrenberg Group

MINIPRO

N'7N 7©1ND - Micro Thread D'2'2N7 N7'N NIN'Y

D'TTY 2 NID'WY
p”n 3.2 WITD

n Al n nyr
D'TTY 2 nm;,pnmrl "YIN n?;)u,{g;m .-:-rr?n nmr])"')nmp 1;),"?99 nr(a;)vg'g)m
165.- | 3.0SIR40UN... | SMC..-3.0 3.2 40 165.- | 3.0SIR0.3ISO... | SMC..-3.0 3.2 0.3
165.- | 3.0SIR36UN... | SMC..-3.0 3.2 36 165.- | 3.0SIR0.4ISO... | SMC..-3.0 3.2 04
151.- | 3.0SIR32UN... | SMC..-3.0 3.3 32 165.- | 3.0SIR0.5ISO... | SMC..-3.0 3.2 05
165.- | 4.0SIR40UN... | SMC..-4.0 4.0 40 165.- | 3.0SIR0.6ISO... | SMC..-3.0 3.2 0.6
165.- | 4.0SIR36UN... | SMC..-4.0 41 36 151.- | 3.0SIR0.7ISO... | SMC..-3.0 3.3 0.7
165.- | 4.0SIR32UN... | SMC..-4.0 41 32 151.- | 3.0SIR0.751SO...| SMC..-3.0 3.3 0.75
165.- | 4.0SIR28UN... | SMC..-4.0 4.2 28 151.- | 3.0SIR0.8ISO... | SMC..-3.0 3.3 0.8
165.- | 4.0SIR27UN... | SMC..-4.0 4.2 27 151.- | 4.0SIR0.4ISO... | SMC..-4.0 4.0 04
165.- | 4.0SIR24UN... | SMC..-4.0 4.3 24 161.- | 4.0SIR0.5ISO... | SMC..-4.0 4.0 05
168.- | 6.0SIR32UN... | SMC..-6.0 55 32 161.- | 4.0SIR0.6ISO... | SMC..-4.0 4.0 0.6
168.- | 6.0SIR28UN... | SMC..-6.0 5.6 28 161.- | 4.0SIR0.7ISO... | SMC..-4.0 41 0.7
168.- | 6.0SIR27UN... | SMC..-6.0 5.6 27 161.- | 4.0SIR0.751SO...| SMC..-4.0 4.2 0.75
168.- | 6.0SIR24UN... | SMC..-6.0 5.7 24 161.- | 4.0SIR0.8ISO... | SMC..-4.0 4.2 0.8
168.- | 6.0SIR20UN... | SMC..-6.0 58 20 161.- | 4.0SIR1.01SO... | SMC..-4.0 4.3 1.0
168.- | 6.0SIR18UN... | SMC..-6.0 59 18 168.- | 6.0SIR0.5ISO... | SMC..-6.0 54 05
168.- | 6.0SIR16UN... | SMC..-6.0 6.0 16 168.- | 6.0SIR0.751SO...| SMC..-6.0 5.6 0.75
168.- | 6.0SIR1.01SO... | SMC..-6.0 57 1.0
NPT lim | 168.- | 6.0SIR1.251SO...| SMC..-6.0 59 1.25
168.- | 6.0SIR1.5IS0... | SMC..-6.0 6.0 1.5
o BSW, BSP i |
nn RH. 'Y 210 DIN'I'D NTF | AY'0D | apy Y
n"y DTy 2 "N n"n YN (n"n) :
168.- | 6.0SIR27NTP.. | SMC.-6.0 6 o 27 °
168.- | 6.0SIR18NTP.. | SMC..-6.0 nn RH. AD'Y 10 DIN'Y'D NTi7 | AY'0D | Ay N
n"v DTN 2 1'nn n"n YN (n"n)
NPTF [n | 165.- | 4.0SIR2BW.. | SMC.-4.0 42 28
165.- | 4.0SIR26W.. | SMC..-4.0 4.2 26
165.- | 4.0SIR24W.. | SMC..-4.0 4.3 24
a 168.- | 6.0SIR28W.. | SMC..-6.0 6.0 28
rnn R.H. nh'W 210 DIN'Y'D N7 | AV'0D | Apy Y 168.- | 6.0SIR26W.. | SMC..-6.0 6.0 26
n"y D'TIN 2 "N n”n YR (n"n) 168.- | 6.0SIR24W.. | SMC..-6.0 6.0 24
168.- |6.0SIR27NPTF...| NVR10-5L 6.0 27 168.- | 6.0SIR22W.. | SMC..-6.0 6.0 22
168.- | 6.0SIR18NPTF... 6.0 18 168.- | 6.0SIR20W.. | SMC..-6.0 6.0 20
168.- | 6.0SIR19W.. | SMC..-6.0 6.0 19

www.vargus.com INX1 D'S01 D'0IOI NIN'YAa NITN

L-2 R 970N D"78NYW DNANT <

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

2D



\///
£

@

@

@ B 40.ai 1 6/10/15 10:46 AM

o127 "XIN

@

vyneumo

var

NEUMO Ehrenberg Grou

gus

vYvvarqus

NEUMO Ehrenberg Group

MINIPRO

Square Groove D'V1INN D'X"NT7 NT'N NIN'Y

D"770 D'UIN'YT TIN DY — VMX U"{TNN

DIN 472 i |
, . NT7 |ynn 71ayann nimrn !

Mo | o | e (ode bmool” ey | TG R
167. | 303R0905D47205.. |SMC.-30| 3.2 | 090 | 10 05
167. | 303R090D47205..[sMC.-30] 32 | 000 [ 10 05
167.- | 303R0.103D47205.. [SMC.-30] 32 | 110 [ 12 05
167.- | 305R010MD47205..[SMC.-30| 32 | 110 [ 12 05
190.- | 405R090D4721.1. [SMC.40] 41 | 090 [ 1.0 1.1
190.- | 40SROSMDAT211.[SMC.40] 41 | 090 [ 1.0 1.1
190.- | 40SRO0LDA2-11.. [SMC.40] 41 | 090 [1.0 1.1
190.- | 40SR1105D4721.1.. [SMC.40] 41 | 110 [ 1.2 1.1
190.- | 40SRTIOMDAT211.[SMC.40] 41 | 110 [ 1.2 1.1
190.- |40SRTIOLDA211. [SMC.40] 41 | 110 [ 1.2 1.1
190.- | 40SR130SD4721.1. [SMC.40] 41 | 1.30 [ 1.4 1.1
190.- | 40SRT3NDAT211.[SMC.40] 41 | 1.30 [ 1.4 1.1
190.- | 40SR13LDA211.. [SMC.40] 41 | 130 [ 1.4 1.1
190.- | 40SRTE0SD47211. [SMC.40] 41 | 160 [ 1.7 1.1
(e 190.- | 40SRTGNDI211.|SVC. 40| 41 | 1.60 | 1.7 1.1
DIN 472 lin | 190.- | 40SRIGLDT211. [SMC.40] 41 | 160 | 1.7 1.1
215.- | 60SR00SD4215. [SMC.-60] 61 | 090 | 1.0 15
D | RH DY 10 mf'l;;'.n YQ}'{,'{,L“""",?"Q”'” Y T 215.- |60SRO90ND47215..[SMC.60| 6.1 | 090 [ 1.0 15
N | 0TI2 |0 e wie)| wo ot | (0P T 215 [GosRosL0a215. [SMC.60] 6.1 | 090 | 1.0 15
310.- |803R11MDA7220.. [SMC.80 | 84 | 110 | 12 20 215.- | 603R1105047215.. [SMC.60| 61 | 110 | 12 15
310.- |[80SR10VD47220.. [SMC.-80 | 84 | 1.30 | 1.4 20 215.- | 603RT10MD4215. [SMC.60[ 61 | 110 [ 12 15
310.- |S0SRT6MDA225.. [SMC.80 | 84 | 160 | 17 25 215.- | 60SRT10LDA7215. [SMC.60[ 61 | 1.10 | 12 15
310.- |809R18500225. |SMC.80 | 84 | 185 | 095 25 215.- | 60SR130SD47215. |SMC.-60| 61 | 1.30 | 1.4 15
310.- |809R215MD47230.. [SMC.80| 84 | 215 | 225 30 215. | 60SR1ND4T215..|SMC.-60| 61 | 1.30 | 1.4 15
310.- |80SR26NDAT235.. |SMC.-80 | 8.4 | 265 | 275 35 215.- | 603R10LD47215. [SMC.60| 61 | 130 | 14 15
310.- [80SR35VDAT235.. [SMC.-80 | 84 | 3.15 | 33 35 215.- | 603RT160S047215.. [SMC.60| 61 | 160 | 17 15
375.- | (00SR1AND47235. |SMC.-100] 104 | 1.30 | 1.4 35 215.- | 60SRTBMDL215. [SMC.60| 61 | 160 | 17 15
375.- | 1003R160MD47235. [SMC.100] 104 | 160 | 17 35 215.- | 60SR160LD47215. [SMC.-60| 61 | 160 | 1.7 15
375.- | 100R18:D47235.. |SMC.100| 104 | 185 | 095 35 215.- | 60SR1965047215.. [SMC.-60| 6.1 | 185 | 1.95 15
375.- | 100SR2ND4T235. [SMC.100] 10.4 | 2.15 | 225 35 215. | 60SR19GND47215..|SMC.-60| 6.1 | 185 | 1.95 15
375.- | 100SR26END4T235. |SMC.-100 104 | 265 | 2.75 35 215.- | 603R1BLD4T215. [SMC.60| 61 | 185 | 195 15
375.- | 100SR3 50047235 [SMC.-100] 10.4 | 3.15 | 3.3 35 215.- | 603R2. 155047215, [SMC.60| 6.1 | 215 | 225 15
375.- | (00SRATEND47235. [SMC.-100] 10.4 | 4.15 | 43 35 215.- | 60SR. M D425, |SMC. 60| 6.1 | 215 | 225 15
375.- | 10035 5MD47235. |SMC.100] 104 | 515 | 53 35 215.- | 60SR.BLDAT215. [SMC.60 6.1 | 215 | 225 15

www.vargus.com INX1 D'S01 D'0IOI NIN'YAa NITN

L-2 R 970N D"78NYW DNINT <

/B4 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

-

@

2D



2,
N

N
U

@

@

@ B 41l.ai 1 6/10/15 11:40 AM

o127 "XIN

NEUMO Ehrenberg Grou

@

@

vyneumo

var

qus

vvivarqus

NEUMO Ehrenberg Group

MINIPRO

@
DIN 3770

nTy7 "IN ' Im
oo | waow | x| o ol AT
215.- [6.05IR1.6MS-D37705-15..|SMC.-6.0 | 6.1 16 |20 15
215.- [6.09IR16MM-D37708-15..| SMC..-6.0 | 6.1 16 |20 15
215.- [6.0SIR16ML-D37705-15..| SMC.-6.0 | 6.1 16 |20 15
215.- [6.05IR2.0MS-D3770D-18..| SMC.-6.0 | 6.1 20 (24 18
215.- [6.051R2.0MM-D3770D-18.{ SMC..-6.0 | 6.1 20 | 24 18
215.- [6.05IR2.0ML-D3770D-18..| SMC..-6.0 | 6.1 20 | 24 18

[N | DIN 472

anw 11
(n"n)

Square Groove D'V1INN D'X"NT7 NT'N NIN'Y

77N 7'OND Mini-L 'I'D @

i |
D | RH ADW A P e T anw ‘1
nw | oz | pmn NP ol wh (n"n)
66.- [5.0LIR0.9-D472-0.7...INVR10.-5L| 8.0 09 (10 07
66.- [5.0LIR1.1-D472-10..|INVR10.-5L| 8.0 11 12 10
66.- |5.0LIR1.3-D472-15..[NVR10.-5L| 8.0 1.3 14 15

-

www.vargus.com INX1 D'S01 D'0IOI NIN'YAa NITN

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

L- R 97N DM7RNY DNANT <

@

2D



2,
N

N
U

@

@

@ B 42.ai 1 6/10/15 11:40 AM

o127 "XIN

@

@

vyneumo

var

NEUMO Ehrenberg Grou

qus

vYvvarqus

NEUMO Ehrenberg Group

MINIPRO

'NIO yYIN'n

77N ‘7919 Mini-L " @D

WD | RH ADW aip | DT YN YN nirn
n"w | DTN 2 nn “',?..':;” R w” i .

66.- |5.0LIR0.4-D7993-0.8...[NVR10.-5L| 8.0 0.4 08 08
66.- |5.0LIR0.6-D7993-1.0... NVR10.-5L] 8.0 0.6 12 10

limn |

anw 11
(n"n)

"7'7n 711D

Round Groove D'712Y D'¥'IN7 N7'N NIN'Y

|
D | RH AW aio | NI YN 7IYANA DITD | apy T
nw| oTix2 | pmn |BPaP| 000 wn"” ¢ (n"n)
165.- | 3051R045-D7993-06... [SMC.-30 | 3.2 040 | 0.80 06

165.- | 3.05IR04M-D799306... [ SMC.-30 | 3.2 040 | 0.80 0.6

190.- | 405IR045-D799306... [SMC.-4.0 | 4.1 040 | 080 06

190.- | 405IR0.4M-D7993-06... |SMC..-4.0 | 4.1 040 | 080 06

190.- | 40S5IR04L-D7993-08... |SMC..-4.0 | 4.1 040 | 080 08

190.- | 405IR0.65-D7993-08... [SMC..-4.0 | 4.1 060 | 1.20 038

190.- | 405IR0.6M-D7993-08... [ SMC.-4.0 | 4.1 060 | 1.20 08

190.- | 40SIR06L-D7993-08... [SMC.-4.0 | 4.1 060 | 1.20 08

190.- | 40SIR095-D7993-1.1.. [SMC.-4.0 | 4.1 090 | 1.80 11

190.- | 40SIR0.IM-D7993-1.1... | SMC..-4.0 | 4.1 090 | 1.80 11

190.- | 405IR0IL-D7993-1.1... [SMC..-4.0 | 4.1 090 | 180 11

215.- | 6.05I1R0.95-07993-1.1... |SMC..-6.0 | 6.1 090 | 180 11

215.- | 6.051R0.9M-D7993-1.1..| SMC..-6.0 | 6.1 090 | 1.80 11

215.- | 6.051R0.9L-D7993-1.1... |SMC..-6.0 | 6.1 090 | 1.80 11

215.- | 6.05R1.05-D7993-1.2... |SMC..-6.0 | 6.1 1.00 | 200 1.2

215.- | 6.051R1.0M-D7993-12..| SMC..-6.0 | 6.1 1.00 | 200 1.2

215.- | 6.05R1.0L-D7993-1.2... |SMC.-6.0 | 6.1 100 | 200 1.2

215.- | 6.05R1.15-07993-13... |SMC..-6.0 | 6.1 110 | 220 1.3

215.- | 6.05R1.1M-D7993-13..| SMC..-6.0 | 6.1 110 | 220 1.3

215.- | 6.05R1.1L-D7993-13.. | SMC..-6.0 | 6.1 110 | 220 1.3

310.- | 8.05IR0.9M-D7993-20...| SMC..-8.0 | 8.4 090 | 1.80 20

310.- | 80SIR1.1M-D7993-20... | SMC.-80 | 8.4 110 | 220 20

310.- | 80SIR1.4M-D7993-20... | SMC.-80 | 8.4 140 | 280 2.0

375.- | 100SR1.4M-D7993-29.| SMC.-10.0] 10.4 | 1.40 | 2.80 2.0

375.- | 10.05IR18M-D7993-29.| SMC..-10.0] 104 | 1.80 | 3.60 2.0

www.vargus.com INX1 D'S01 D'0IOI NIN'YAa NITN

L-2 R 970N DU78NYW DNANT <

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

-

@

2D



WA B 43.ai 1 6/10/15 11:40 AM
2>

@

o127 "XIN

@

@

vyneumo

var

NEUMO Ehrenberg Grou

qus

vYvvarqus

NEUMO Ehrenberg Group

MINIPRO

Face Groove NXN 'Y'IN7 Nj7'N NIN'Y

7' 7o (1)
DIN 471, DIN 472 i |

[ g |y"n 71jyann nien

o | ey | e | o |y (ool e | T
238.- |40SROTADATT214.. |SMC.-40 | 500 | 350 | 0.70 | 08 1.4
238.- | 40SR0BADATIAT215.. [SMC.-40 | 520 | 340 | 080 | 09 15
238.- | 40SRO9ADATIT2-16.. [SMC.-40 | 530 | 330 | 0.90 | 1.0 1.6
238.- |40SR1IADATIT218.. |SMC.-40 | 550 | 310 | 1.10 | 12 1.8
238.- | 40SR13ADAT1ET220.. |SMC.-40 | 570 | 2.90 130 | 14 20
238.- | 40SR16ADATIT223.. |SMC.-40 |  6.00 | 2.60 160 | 1.7 23
262.- | 60SRO7TADATT2-14.. |SMC.60 | 7.00 | 550 | 0.70 | 0.8 1.4
262.- | 60SR0BADATIAT215.. [SMC.60 | 720 | 540 | 080 | 09 15
262.- | 60SR09ADATIT2-16.. [SMC.-60 | 7.30 | 530 | 0.90 | 1.0 1.6
262.- |60SR1IADATIT218.. [SMC.60 | 750 | 510 | 1.10 | 12 1.8
262.- | 60SR13AD4TIAT220.. |SMC.60 | 770 | 490 | 130 | 14 20
262.- | 60SR16ADAT4223.. |SMC.-60 | 800 | 460 | 1.60 | 1.7 23
262.- | 60SR18ADLTIT225.|SMC.60 | 820 | 440 | 1.85 | 195 25
262.- | 60SR215AD471/472-28..|SMC.-60 | 850 | 410 | 215 | 225 238
310.- |B0SRIIADATIT218.. [SMC.-80 | 10.44 | 8.06 110 | 12 18
310.- | 80SR13ADATIT220.. [SMC.-80 | 10.44 | 766 | 1.30 | 14 20
310.- | 80SR16ADATIAT223.. [SMC.-80 | 1044 | 7.06 | 160 | 1.7 23
310.- | B0SR1BOADLTIT225.|SMC.-80 | 10.44 | 656 | 1.85 | 195 25
310.- | 80SR215ADT1472:28..|SMC.-80 | 10.44 | 596 | 215 | 225 2.8
310.- | 80SR265A-D471/472:33..SMC.-8.0 | 10.44 | 496 | 265 | 275 3.3
375.- | 1005R1 3ADAT1472:20... |SMC.-10.0| 12.44 | 7.66 130 | 14 18
375.- | 1005R1GADATI4T223.. |SMC.-100] 12.44 | 9.06 | 1.60 | 1.7 23
375.- | 100R1 BADAT1AT225..SMC.-100| 12.44 | 856 | 1.85 | 1.95 25
375.- | 100SR210ADAT1AT2-28.. | SMC.-100| 1244 | 7.96 | 2.15 | 225 28
375.- | 1005R265ADAT1/47233..| SMC.-100] 12.44 | 696 | 2.65 | 275 3.3
375.- | 100SR3.10ADT147238.. SMC.-10.0| 12.44 | 596 | 3.15 | 3.25 3.8
375.- | 1005R410ADAT1AT248..SMC.-100| 1244 | 396 | 4.15 | 425 48

www.vargus.com INX1 D'S01 D'0IOI NIN'YAa NITN

L- R 97N DM7RHY DNANT <

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

® EEEEE

@

2D



WA B 44.ai 1 6/10/15 11:40 AM
2>

@

o127 "XIN

vyneumo
gus

var

NEUMO Ehrenberg Grou

YYvvarqus
N7'n NIN'Y

NEUMO Ehrenberg Group

Copy '91j7 NL'"IN7

MINIPRO

1N7'N NIN'Y
Boring D'NT{7 NL'N7Y

“g!_=-=
n'N1I9 NL"IN nIN1I9 nL"IN -
(' J (1 J
vnn RH. ND'Y 210 nlrr‘;;’-n Y T o RH. ND'Y 210 nlnn.!;’-n an alt
n"y DITTY 2 mnn e (n"n) n"y DITIY 2 mn o (n"n)
210.- | 4.0SIR0.25-Copy-1... | SMC..-4.0 42 185 | 3.0SIR0.1US-Bore-1... | SMC..-3.0 3.2
210.- | 4.0SIR0.2M-Copy-1... |  SMC..-4.0 42 185.- | 3.0SIR0.1S-Bore-1... SMC..-3.0 3.2
210.- | 4.0SIR0.2L-Copy-1... SMC..-4.0 4.2 185.- | 3.0SIR0.2S-Bore-1... SMC..-3.0 3.2
235.- | 6.0SIR0.2S-Copy-1... SMC..-6.0 7.0 185.- | 3.0SIR0.2M-Bore-1... SMC..-3.0 3.2
235.- | 6.0SIR0.2M-Copy-1... |  SMC..-6.0 7.0 195 | 4.0SIR0.2S-Bore-1... SMC..-4.0 4.2
235.- | 6.0SIR0.2L-Copy-1... SMC..-6.0 7.0 195.- | 4.0SIR0.2M-Bore-1... SMC..-4.0 4.2
195 | 4.0SIR0.2L-Bore-1.. | SMC..-4.0 42
210 | 6.0SIR0.2S-Bore-1... SMC..-6.0 6.2
210 | 6.0SIR0.2M-Bore-1... | SMC..-6.0 6.2
210.- | 6.0SIR0.2L-Bore-1... SMC..-6.0 6.2
310~ | 8.0SIR0.28-Bore-1... | SMC..-8.0 8.2
310.- | 8.0SIR0.2M-Bore-1... SMC..-8.0 8.2
310.- | 8.0SIR0.2L-Bore-1... SMC..-8.0 8.2
345.- | 10.0SIR0.2S-Bore-1... | SMC.-10.0 10.2
355.- | 10.08IR0.2M-Bore-1... | SMC..-10.0 10.2
375.- | 10.0SIR0.2L-Bore-1... SMC..-10.0 10.2

@

-

www.vargus.com INX1 D'S01 D'0IOI NIN'YUa NIT'N

T g |

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

L-2 R 970N D"7RNYW DANANT <

@

@

2D



2,
N

N
U

@

@

@

B 45.ai 1 6/10/15 11:39 AM

o127 "XIN

vyneumo

var

NEUMO Ehrenberg Grou

qus

vvivarqus

NEUMO Ehrenberg Group

-

Chamfer

N7'n NIN'Y

MINIPRO

DI NONT7 NFP'N NID'WY
Copy (Long Nose) 1IN 9N

n'n1s nv"In

nmns avn

od1 max. curve

ol e | o | T M| RRIY | g [Pmaom oy | TR
210.- | 4.0SIR0.2S-Chamfer-0... SMC..-4.0 4.2 245.- |6.0SIR0.2S-3527-1... | SMC..-6.0 12.3 6.9
210.- | 4.0SIR0.2M-Chamfer-0... SMC..-4.0 4.2 245.- |6.0SIR0.2M-3527-1... | SMC..-6.0 12.3 6.9
210.- | 4.0SIR0.2L-Chamfer-0... SMC..-4.0 4.2 245.- |6.0SIR0.2L-3527-1... | SMC..-6.0 12.3 6.9
235.- | 6.0SIR0.2S-Chamfer-0... SMC..-6.0 7.0 285.- |8.0SIR0.2S-3537-1... | SMC.-8.0 16.1 8.9
235.- | 6.0SIR0.2M-Chamfer-0... SMC..-6.0 7.0 285.- |8.0SIR0.2M-3537-1... | SMC..-8.0 16.1 8.9
235.- | 6.0SIR0.2L-Chamfer-0... SMC..-6.0 7.0 285.- |8.0SIR0.2L-3537-1... | SMC..-8.0 16.1 8.9
335.- |10.0SIR0.25-3547-1... | SMC..-10.0 20.2 10.8
335.- | 10.0SIR0.2M-3547-1...| SMC..-10.0 20.2 10.8
335.- |10.0SIR0.2L-3547-1... | SMC..-10.0 20.2 10.8

www.vargus.com INX1 D'S01 D'0IOI NIN'YUa NIT'N

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

L-2 R 97NN DM7RNY DINANT <
R=(4512+(?)/85 :NNDIIN '97 2Y'N7 [N R DI <
C=2/251xR-S2 :NNDNN '97 AWNT [N AFNYN 1IN <

@




2,
N

N
U

@

@

@ B 46.ai 1 6/10/15 11:39 AM

-

o127 "XIN

@

vyneumo
gus

var

NEUMO Ehrenberg Grou

NEUMO Ehrenberg Group

Yvivarqus
N7'n NIP'Y

MINIPRO

Bore-Drill

1N77'nD NINWY

Back Edge

T
A
s
—_—
nmns av"n .IL_W.I 4
min. width
nmns nd"n
Tnn R.H. NDW 2D nlnn-!;"n mYU'Tm  nn R.H. DY 2D anw
n"v D'TTY 2 7'nn n"n (n"n) n"v D'TTY 2 7'nn (n"n)
195.- 4.0SIR0.2M-BD-1... SMC..-4.0 3.74 195.- 3.0SIR0.2S-Back-1... SMC..-3.0
210.- 6.0SIR0.2M-BD-1... SMC..-6.0 5.80 195.- 3.0SIR0.2M-Back-1... SMC..-3.0
210.- 6.0SIR0.2L-BD-1... SMC..-6.0 5.80 210.- 4.0SIR0.2S-Back-1... SMC..-4.0
310.- 8.0SIR0.2S-BD-1... SMC..-8.0 7.80 210.- 4.0SIR0.2M-Back-1... SMC..-4.0
310.- 8.0SIR0.2M-BD-1... SMC..-8.0 7.80 210.- 4.0SIR0.2L-Back-1... SMC..-4.0
310.- 8.0SIR0.2L-BD-1... SMC..-8.0 7.80 235.- 6.0SIR0.2S-Back-1... SMC..-6.0
235.- 6.0SIR0.2M-Back-1... SMC..-6.0
235.- 6.0SIR0.2L-Back-1... SMC..-6.0

www.vargus.com INX1 D'S01 D'0IOI NIN'YUa NIT'N

/B4 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

L- R 97N DM7RNY DNANT <

2D



V2
|

2N

\

@

@ B 47.ai 1 6/10/15 11:39 AM

o127 "XIN

vneumao

NEUMO Ehrenberg Grou

varqus

NEUMO Ehrenberg Grou

N7'n 7'TNN

Yiyivivarqus 101N DAMAN X" VARDEX NI

MINIPRO

S N

Double Ended
|

fe— L1 —

7 "
Screw

Location
65.- 28 4GISM8x28 285.- 89 W - 9 80 | SMC10:30
65.- 21 4GISM8x21 285.- 9% 1 - 16 80 SMC12-3.0
65- 19 4GISMBx49 285 104 W7 - 9 %5 | SMC1630
65.- 4 4GISMBx42 285 M nn-16 95| SMC20-3.0
65.- 28 4GISM8x28 285.- 89 W7 - 9 80
65.- 21 1GISMBx21 285.- 9% 0016 80 | aniod
65.- 16 4GISM8x16 285.- 101 X - 2 80 '
65.- 49 4GISMBx49 285.- 104 W7 - 9 95
65 42 4GISM8x42 285. 1l oa-i6 95 | sieiodl
65.- 37 4GISM8xX37 285.- 6 )N -21 % '
65.- 28 4GISM8x28 285.- 89 W7 - 9 80
65.- o1 4GISMBx21 285.- % - 16 80 | SMC12:6.0
65.- 16 4GISM8x16 285.- 101 X - 21 80
65.- 49 4GISM8x49 285.- 104 W7 - 9 %
65.- 22 4GISMBx42 285.- i ona-de 05 | SMSIe60
65.- 37 4GISM8x37 285.- 16 N - 21 95 '
65.- 33 4GISM8x33 285.- 107 Wp - 12 % | sicies0
65.- 25 4GISMBx25 285.- 15 - 20 % | 2Mcons0
65.- 17 4GISM8x17 285.- 123 X - 28 95 '
65. 30 4GISMBx30 285.- 110 WF - 15 %
65- 20 4GISHEX20 265- 20 -2 95 | an<io 100
65 10 4GISM8x10 285.- 130 IN-35 95 '
NX NI770 D7Npn Nizan 7o *
'II"I'|'I'7 oNnn DI7'n 21Ia X3 7IT'n 271 DN 7R A 0NN 7
nn n wnp [NM27 000D L nn wnp 1127 NNOD
n"y & e | A\ el @ e A\
T o 650 | K40 | 13- | M4OTO0[ 850 | K20
T o 650 | K40 | 13- |M&0740| 650 | K20 | I7PN 77N
- N710 XY
2 gﬁﬁ Tupy | 650 | K4O | 13- [MA07x40| 650 | K20
i 650 | K40 | 13- | MGxL0%50| 650 | K30
65.
o5 gﬁﬁ 650 | K40 | 13- | M6x1.0x50| 650 | K3.0

www.vargus.com INN21 0O'S0I11 0'0IDI NIn'ya NITnN

/B84 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

-

@

@

7N



2N

N2

@

@

7 B 48.ai 1 6/10/15 11:39 AM
|

o127 "XIN

@

vNeumo
varqus

NEUMO Ehrenberg Grou

vYvvarqus

NEUMO Ehrenberg Group

MINIPRO

Boring NT{77 N{7'N NIN'Y

15°

PowerBore TDOW nin'v

PowerBore CDOW nin'v

) A | e | awom | TR | e | W | awom | T
60.- TDOW4111... 15.- VS01 60.- CDOW4011...

15.- VS01, VS40 60.- TDOW4112... 15.- VS01 60.- CDOw4012...
60.- TDOW4114... 15.- VS01 60.- CDOW4014...

R R r
PowerBore WDOW nin'v PowerBore WDOW nin'v
ar7n 1 ) AW v 7N N0 . anw
A S e L Y I (n"n) ey | A AW | pry nn'Y 0N ' (n"n)
15.- VS41 60- | WDOW5013.. 15.- VS40 60.- | WDOW4213...
15.- VS41 60- | WDOW5014. .. 15.- VS40 60- | WDOWA4214...

-

www.vargus.com INN21 0O'S0I11 0'0IDI NIn'ya NITnN

/B4 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

7N



V2

Z)

A

N

@

@ B 49.ai 1 6/10/15 11:39 AM

o121 "XID ' neumao

varqus

NEUMO Ehrenberg Group

Yyvivarqus a0nnd 012N X7 VARDEX NIN'Y [MINIPRO

NEUMO Ehrenberg Grou

n'p ' TNN

D1 " 9
o 550
)

L

LT
- /

® EEEEE

ai'7’n 77N
ali))] /’ 1NN v”{nn n”n NITN NN V"D nnwY 7112
N”Y LININ NNOH N”Y AN'WT 1N D1 D L1 L A n”"v

X7 6.2 10 16 81 94 395.- | SNVR 10U-5L
12 6.2 10 22 87 94 395.- | SNVR 10S-5L
12 6.2 10 31 97 94 395.- | SNVR 10M-5L
B} 6.2 10 43 109 94 395.- | SNVR10L-5L

19.-

|AIDNPD Mini-L 'N19 7'TNHD

O1'7'n 77N

/\ ] /, / n”n NITN anw 7112

NANMOD DA 0IINANOD Aapw7 A DI D L1 L A N"W  TNY  n"w  pnn
K4.0 S4.0 K5LT SN5LT

62 16 844 100 156 360.- -6. ~ | BNVR6.2T-5L

6.50 13.- 19.- 8.- | n"vY 'nn

www.vargus.com INX1 D'S01 D'0IOI NIN'YUa NIT'N

/B4 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

@

Mini-L 'N"1D rl-mr)ﬂ

2D




2N

N

N // B 50.ai 1 6/10/15 11:38 AM
Il

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

vwvvarqus B e R LI MINIPRO

Mini-3 'N1D 7'TND

LT
-l

v‘:l'..;.'ll

a91'77n 77N

/ 1'nn /

nn n”n niTrn 1NN 0”{n an'y 71

N”Y LININ NNON N”Y AP'WY N L1 L A n"v
b) 1 2 1 2 - | CNVRC5-4.0K
19- | KeMT | 8- | SNamT | > 6 % 10 5 325.
N7 5.1 12 12 100 110 325- | SNVR5-4.0K
N7 12 16 82 114 325- | SNVR 12U-6.0

8
'y 8 10 22 89 94 325- | BNVR 10S-6.0
'y 8 10 31 98 94 325.- |BNVR 10M-6.0
'y 8 10 43 110 94 325.- | BNVR10L-6.0

19.- KeMT 8.- SNEMT

[2LIDNN Mini-3 'N"D 7'TND

D1 . Q
=1 k]
L L o

O91'7°n 77N

N ® / / n”"n NITN Tnn anw 7

NANNOD PPN LIIDNNOD apwy R DI D L1 L n"y 7Y n"w i1'inn
K4.0 S4.0 K6MT SNEMT

8 16 856 100 156 SV16-8.0 | 435.- | BNVR8.0T-6.0

6.50 13.- 19.- 8.- | n"Y 'nn

www.vargus.com INX1 DO'S0I D'0IOI NIN'Ya NITN

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

® EEEEE




2N

§

N // B 51.ai 1 6/10/15 11:38 AM
Il

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

vwvivarqus IEIERRGRLHVA DRG0 N MINIPRO

CDOW NIN'Y7 PowerBore D'i7'TNN

D1 A" Alloy Steel or Carbide Shank ﬂ
@l 0 i
vl —u 5
All ee i
A

D1 "
ﬁ }
vl B
QI7'n 770 179 'o1moo mp @D

0D MIN  MUN DT 0 LID W 01
) /\ ) / a (7))o B [ o1 1 L N7 )| B O 17 A U A U111 v”{an N7 I7

N”W 0NN NNOH N”"Y APWT N AW I L1 L2 M D1 D A Nn"vY

12 64 46 42 50 7" | 810- | SO5-ACC-7

12 684 53 46 50 5| 310- | S05-BCC-5

DIsD 64 1 50 50 5| 810- |S05-DCC-5

1250 VT51 [1050| VSO | CDOW

DI=D 64 64 50 50 0°| 810~ |S05DCC-0
DID 76 70 60 60 5| 310- | SO6-FCE-5

DI=D_ 76 73 60 60 0°| 310- | SO6-FCE-0

a1 7N nT79 wxa oy weitnn g @D

0D IX N NTF 07 0ID WIF Wi
(7652 B O 111 0 I U ) ) BN V NN 0”in M7 Iy

N"YOIIDAMON "W apWINA WA L1 L2 M DI D A N"Y
12 152 46 42 40 7°| 839- |CO4-AACP-7
12 102 55 48 50 5| 765- | C05-CCJ-5
50l Vst l1osol vsot | coow LD1=D 102 i 50 50 5°| 765- | CO6-DCJ-5
Di1=D 102 6.5 5.0 50 Q° 765.- C05-DCJ--0
D1=D 102 7.0 6.0 60 &0 765.- C06-FCJ--5
DI=D 102 73 60 60 0| 765- | COB-FCJ-0

QI7'n 177N ram 2017 - at7e g @

1nn /\ nn /

OID MIN MU NI 0 LID W 01
U'EnnD 7 oinn wpnn ayg Nt enn 0”in N7 iy

N”W 0ININ NNON N”"Y ANWYT 1A AN 1D L2 M D1 D A N"w
25 57 55 4.6 80 50| 455.- | S08-BCA-5
25 57 5.8 5.2 80 50| 455- | S08-ECA-5
1250| VT51  [10.50| VSO1 | CDOW | 25 57 6.2 5.2 80 00| 455- | S08-ECA-O
32 64 7.4 6.4 80 50| 455- |[S08-GCC--5
32 64 76 6.4 80 (0| 455.- |S08-GCC-0

www.vargus.com INX1 DO'S0I D'0IOI NIN'Ya NITN

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

® EEEEE




V2
|

2N

\

@ B 52.ai 1 6/10/15 11:3

@

8 AM

@

@

o121 "XID ' neumao

vvivarqus

nnnnnnnnnnnnn 9 Group

varqus

NEUMO Ehrenberg Grou

Boring n0"IN7 "0 winn [V[1]]d:{e]

TDOW NIN'YU7 PowerBore D'{7'TNN

=

A*  Alloy Steel or Carbide Shank

o= |

91'7°n 77N

N

1'nn

1IN

NT{7 017
71m

oin'n

Ty roamoo mp @D

0In 017
U"Inn

niur "N {7 WI7

N"”Y VININ NNON nnY 210 L1 M D=D1 A
89 71 5.0 5 310- | S05-DTG-5
f0so| VST |1050 VSOT | TDOW 89 71 5.0 00 310~ | S05-DTG-0
ol st loss| vt | Toon 102 73 60 5 310~ | SO0BFTJ5
102 73 6.0 o 310- | SO06-FTJ-0
102 9.2 8.0 5 310- | S08-TJ5
1050| V51 |1050| VsS40 | TDOW o - - - e R

NIN

NT{7 0177
7m

0In I

79w oy wrpnn mp @D

1nn iIn'n - W'IMnD - nnr 1'nn 0”{Dn N7 017
N”Y 0ININ NNON nn'y 210 L1 M D=D1 A n"Y
102 7.1 50 50 685.- | CO05-DTJ-5
foso| VISl Jtos0) VS0T | TDOW T 7 50 0O 685 | C05-DTJ-0
wsol Vist l10s0| vsao | Toow 102 7.3 6.0 50 685.- CO6-FTJ--5
102 73 6.0 Q° 685.- | COG6-FTJ-0
102 92 8.0 50 685.- | CO08-JTJ-5
1050 VT51 1050/ VS40 | TDOW - 0 50 - o5 | CosITi0

v'pnn - T pinan

OIDTIN UK NTF 0 LD 0IF
v"nn

7T i - atre mp @D

W17
g

TN 0"{IN N7 017

N”W LININ NNOD N”Y APWT 2 AW 210 L1 L2 M D1 D n"v
V51 vsot | Toow 25 64 6.9 5.2 120 5°| 485. S12-ETC--5
10.50 10.50 25 64 6.9 5.2 120 0°| 485. S12-ETC--0
32 70 76 6.4 120 50| 485.- | S12-GTD--5

10.50 VT51 10.50 VS40 TDOW

32 70 76 6.4 120 0°| 485- | S12-GTD--0
wsol vist lvesol vsao | Toow 38 76 9.1 79 120 5° | 485. S12-HTE--5
' ' 38 76 9.1 7.9 120 0| 485- | S12-HTE-0

@

-

www.vargus.com INX1 DO'S0I D'0IOI NIN'Ya NITN

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN




2N

N

N // B 53.ai 1 6/10/15 11:38 AM
Il

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

vwvivarqus IEIERRGRLHVA DRG0 N MINIPRO

WCOW (4213, 4214) NIN'Y7 PowerBore D'j7'TNN

o1 A Alloy Steel or Carbide Shank ﬂ
ﬂ D
M b L g

Alloy Steel Oversize Shank

QI7'n 77N 79 1w oo mp @D

wn| N [wn| A q

N” W LININ NNON N”"Y ANWT I AN 21D

NN NT7 01 0ID Wi
7 DIn'n v'pnn - NNt T'nn v”in {7 0I7
L1 M D=D1 A n"v

64 6.1 5.0 5 310 | S05-DWC-5
1050 vsao | Weowe21s 64 6.4 5.0 0° 310.- | S05-DWC-0
woow42i4| 102 70 6.0 5 310- | S06-FWJ-5
102 73 6.0 0° 310 | S06-FWJ--0
QI7'n 177N 79 wa oy wrpnn mp @D
NIN NT7 07 0D 017
a0))’) N\ NN / Q m DInYn  W'END i TND V”Ep | Mg Ig

N”WY 0NN NNON N”Y ANWT N AN 21D L1 ] D=D1 A n"v

102 6.1 5.0 50 839.- | C05-DWJ--5
1050 vaap | Woow421 102 6.4 5.0 0° 839.- | CO5-DWJ--0
WCOW4214 102 70 6.0 50 839.- | CO6-FWJ--5
102 7.3 6.0 0° 839.- | CO6-FWJ-0
ai'7n 77N 71210 017 - 2179 N7 °

O NN NIN NP 0@ 0D WIF  0IF
N /\ ) / Q v'ann - 7 pinp wpnn Mg NP ynp 0”{n M 017

N”WY 0NN NNON M"Y APWT NI AN 21D L1 L2 M D1 D A n”"v

13 57 58 5.2 100 & 455.- | S10-EWA--5

10.50 visi  |1050| VsS40 wCow4213| 13 57 6.2 52 100 0° 455.- | S10-EWA--0
wcow4214| 19 64 74 6.4 100 &° 455.- | S10-GWC--5

19 64 76 6.4 100 0° 455.- | S10-GWC--0

www.vargus.com INX1 D'S01 D'0IOI NIN'YUa NIT'N

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

. .
® EEEEE




2N

N

@

N // B 54.ai 1 6/10/15 11:37 AM
Il

o121 "XID ' neumao

nnnnnnn

rrrrrrrrrr

varqus

NEUMO Ehrenberg Group

wvvarqus L RraLy TR LOVN MINIPRO

WCOW (5013, 5014) NIN'Y7 PowerBore D'{7'TNDN

Alloy Steel or Carbide Shank

0 ==

Alloy Steel Oversize Shank

D1

©

997N 77N

179 "0 1moo mp @D

NN N

N Y 0IVIN NON

10.50

NIN N1 I
71 DInI'n U”nn nir 'nn

'Y 110 M D=D1 A n"v
WCOW5213 102 9.2 8.0 50 310.-
WCOW5214 102 9.2 8.0 o° 310.-

01D 10177

"N N7 0177

S08-JWJ--5
S08-JWJ--0

97N 77N

179 wxa oy wrinn mp @D

1'nn /\

N Y 0IVIN NNON

10.50

n"vY apwi nn

VS41

N1 I
DInn

0In 0If7
v ann

1IN

n'vY 210 L1 ] D=D1 A n"v
WCOW5213 102 9.2 8.0 50 765.- | CO8-JWJ--5
WCOW5214 102 9.2 8.0 0 765.- | C08-JWJ--0

97'n 77N

71m i - a7 g @D

1'nn /\

N" Y 0ININ NNON

10.50

q 0D IX  IN NTFIF  LIDWIF  IF
(77 B 1 o 11 1 L N 7)) BN 17 A U | i L1 ) )

'Y 110 L1 L2 M D1 D A N"Y
WCOW5213 | 38 76 9.2 79 100 &° 455.-
WCOWs214| 38 76 9.2 79 100 0° 455.-

"N 7 1017

S10-HWE--5
S10-HWE--0

www.vargus.com INX1 D'S01 D'0IOI NIN'YUa NIT'N

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

-

@

@




WA B 55.ai 1 6/10/15 11:37 AM
2>

@ @
: vneumo
DI MIXID Varqus

NEUMO Ehrenberg Group

vyNvvargus MINIPRO

NEUMO Ehrenberg Grou

n0'INI YI'N ,21N2N7 VARDEX NIN'Y
micrQscope 2

.N”N 1.7 0172 '7NA D'NT7 TIA'YW7 D7 TNNRI TNX TX NINWY
,7'NPN MINIP 177 09011 NIINNDI DMID'Y NN 0TI 7¢W wWTN DNXID 17
.D'NT{7 NONILYIN'N ,2NANY

D772 DWIN'YYT TICN DY DY Ni7'NWI NN THY ,|N7'0-10 N'W7 W7D - VBX W'7NN

/,’

nnnNnnt

JV'07OKR1 NN DAY NRNINYT N7 'NT7 2 NI7VA NINWN *

N2 DPNTNL 79T DI7'D YWOKRD 7'TNNA N'YUN NO'ON |11DN *
Dmun 79

,0'71T2 NI'OT 'A022 WIN'Y NIYORNI NVIYD NN'YUN ND'ON NO'Y *
J7'TNN] NN'YUN 7Y NN'YW)7 ND'ON D'N'0INN

X-DVNQ 70 D' AN NN 7T DNY PO *

DIYvTn alo

TH - Threading ===
BC - Boring e
CL - Copy Long Nose s
GS - Grooving Square —
GR - Groving Round a—
FG - Faace Grooving Internal ={ 1 |

FP - Face Grooving External T[]
PP - Pre Part Off =

www.vargus.com INN21 0O'S0I11 O'0IDI NIn'ya NITnN

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

. .
- EEEE

Threading

Grooving

Boring




WA B 56.ai 1 6/10/15 11:37 AM
2>

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

vvivarqus micrQscope MINIPRO
Threading D'2'2N VINAA7 NINW ﬂ

17'7N 791D NIN'Y <
nn wnn N1 017 | nyos oinn- | 4y
7N A0 | oy 55° nin'y n"y 60°NIDY | i | TRL. n"D nnhl;J"r])l))m
MHC..-4 99.- [ M429THF55 L16R/L | 99.- | M429TH F60 L16R/L 3.2 48-24 0.5-10
MHC..-4 99.- | M439THF55L16R/L | 99.- | M439TH F60 L16R/L 4.2 48-24 0.5-1.0
MHC..-6 118.- | M659TH A55 L16R/L| 118.- | MB59TH ABO L16R/L 6.2 48-16 0.5-15
ISO Metric X7D 7'91D NIN'Y (1)
NN 0" N1 Y0177 Y00 ;
7D A0 |y RH/LH n”D DINAD n"n Anan nn(yu,{,;l)"'-’
MHC..-4 99.- M429TH 0.501SO L16R/L 0.5 M4 x 0.5
MHC..-4 99.- M439TH 0.501SO L16R/L 05 M5 x 0.5
MHC..-4 99.- M429TH 0.801SO L16R/L 0.8 M5 x 0.8
MHC. -4 99.- M439TH 1.001SO L16R/L 1.0 M6 x 1
MHC..-5 99.- M542TH 0.501SO L16R/L 05 M5.5x 0.5
MHC..-5 99.- M542TH 0.751SO L16R/L 0.75 M5.5 x0.75
MHC..-5 99.- M549TH 1.001SO L16R/L 1.0 M7 x 1
MHC..-6 118.- M649TH 0.501SO L16R/L 05 M6 x 0.5
MHC..-6 118.- M649TH 0.751SO L16R/L 0.75 M6.5x 0.75
MHC..-6 118.- M659TH 1.001SO L16R/L 1.0 M7.5x 1
MHC..-6 118.- M659TH 1.251SO L16R/L 1.25 M8 x 1.25
MHC..-6 118.- M659TH 1.501SO L16R/L 15 M10 x 1.50
American UN XN7n 7'9119 nin'v O
NN 0" N1 017 ITLY) ;
7D A0 | puy RH/LH n”n DI n"n Aan nn“l;J,,;)?m
MHC. -4 99.- M429TH 32UN L16R/L 3.3 32 8-32 UNC
MHC..-4 99.- M429TH 28UN L16R/L 3.6 28 10-28 UNS
MHC..-5 99.- M549TH 27UN L16R/L 53 27 1/4-27 UNS
MHC..-5 99.- M542TH 24UN L16R/L 5.1 24 1/4-24 UNS
MHC..-5 99.- M542TH 20UN L16R/L 4.6 20 1/4-20 UNC
MHC..-6 118.- M659TH 18UN L16R/L 6.3 18 5/6-18 UNC
MHC..-6 118.- M659TH 16UN L16R/L 7.7 16 3/8-16 UNC
Whitworth for BSW, BSP NInN'v °
)Y "N N7 0177 T ;
7D A0 | pey RH/LH n”D DINID n"n Anan nn“u;";l))lp
MHC..-6 118.- M659TH 28W L16R/L 6.5 28 1/16-28 BSP
MHC..-6 118.- M659TH 19W L16R/L 11.4 19 1/4-19 BSP
NPT NIin'w a
D "N N1 oI QI :
7D A0 | puy RH/LH n”D DINID n"n Anan nn(g{,;?m
MHC..-6 118.- M659TH 27NPT L16R/L 6.1 27 1/16-27 NPT
-2 R 97NN D"7XNY DAMAN7 < MHC.-6 [  118.- | M659TH 18NPT L16R/L 107 18 1/4-18 NPT

www.vargus.com INN21 0O'S0I11 0'0IDI NIn'ya NITnN

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

- EEEEE & &




N
Y

@

2 @ B 57.ai 1 6/10/15 11:36 AM
N

o127 "XIN

@

vneumao

NEUMO Ehrenberg Grou

var

qus

wvivargus

NEUMO Ehrenberg Grou

micrQscope

MINIPRO

Square Groove D'YAINN D'X'N7 NIN'Y

) " " yr 1 I " ) Y I
pion | w0 | R (Wods e oo [ TUT gy | Wy | miH (Weods tmax| o o | T

MHC.-7|  151.- |M772GSW100L1ORL| 1.0 25 7.2 MHC..-4]  90.- |M442GSW100L1ORL| 1.0 0.8 4.2
MHC.-7|  151.- |M772GSW100L15RL| 1.0 25 7.2 MHC..-4]  90.- |M442GSW100L15RL| 1.0 0.8 42
MHC.-7|  151.- |M772GSW100L25RL| 1.0 25 7.2 MHC..-4]  90.- |M442GSW100L20RL| 1.0 0.8 4.2
MHC.-7| 151.- [M772GSW100L35RL| 10 25 7.2 MHC.-5 99.- [M552GSW100L1ORL| 10 1.0 5.2
MHC..-7|  151.- |M772GSW150L10RL| 1.5 25 7.2 MHC.-5] 99.- |M552GSW100L15RL| 1.0 1.0 5.2
MHC.-7|  151.- |M772GSW150L15RIL| 15 25 7.2 MHC..-5] 107.- |M552GSW100L20RL| 1.0 1.0 5.2
MHC.-7|  151.- |M772GSW150L25RIL| 15 25 7.2 MHC.-5| 99.- |M552GSW1S0L1ORL| 1.5 1.0 52
MHC.-7|  151.- |M772GSW150L35RL| 15 25 7.2 MHC.-5] 99.- |M552GSW150L15RL| 1.5 1.0 52
MHC.-7|  151.- |M772GSW200L1ORL| 20 25 7.2 MHC..-5| 107.- |M552GSW150L20RL| 1.5 1.0 5.2
MHC.-7| 151.- [M772GSW200L15RL| 2.0 25 7.2 MHC.-5 99.- [M552GSW200L10RL| 20 1.0 5.2
MHC..-7]  151.- |M772GSW200L25RIL| 20 25 7.2 MHC.-5] 99.- |MS52GSW200L15RL| 2.0 1.0 5.2
MHC.-7]  151.- |M772GSW200L35RIL| 20 25 7.2 MHC..-5] 107.- |M552GSW200L20RL| 2.0 1.0 5.2
MHC..-6] 118.- |M662GSW100L1ORL| 1.0 1.8 6.2

MHC.-6| 118.- |M662GSWIOOL15RL| 1.0 1.8 6.2

MHC..-6| 118.- |M662GSW100L20RL| 1.0 1.8 6.2

MHC.-6| 118.- |M662GSW100L30RL| 10 1.8 6.2

MHC..-6] 118.- |M662GSW150L1ORL| 1.5 1.8 6.2

MHC..-6] 118.- |MB62GSW1S0L15RL| 1.5 1.8 6.2

MHC..-6] 118.- |MB62GSW150L20RL| 1.5 1.8 6.2

MHC.-6] 118.- |M662GSW1S0L30RL| 15 1.8 6.2

MHC..-6] 118.- |M662GSW200L1ORL| 2.0 1.8 6.2

MHC.-6 118.- [M662GSW200L15RL} 20 1.8 6.2

MHC..-6] 118.- |M662GSW200L20RL| 2.0 1.8 6.2

MHC..-6] 118.- |M662GSW200L30RL| 2.0 1.8 6.2

@

-

www.vargus.com INN21 0O'S0I11 0'0IDI NIn'ya NITnN

/85 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

L-2 R 970N DM7NNY DNINT <

@

7N



7

2N

N2

I

@

@

@ B 58.ai 1 6/10/15 11:36 AM

o127 "XIN

@

vyneumo

NEUMO Ehrenberg Grou

var

qus

wvivargus

NEUMO Ehrenberg Grou

micrQscope

N9 NXN 'Y N7 NI
Face Grooving Internal

MINIPRO

D'71I7Y D'N¥NT7 NINWY
Round Groove

10 rnn 0"{n "N YN NITD| NTE WI7 | apwy Wi 10 rnn 0"{n "N YN NITD| N1 WI7 | [py Wi
i'nn | n"Y RH/LH W:0.025 tmax|Nn”n DINY'N (n"n) i'"nn | n"Y RH/LH W:0.025 tmax|N”n DINY'N (n"n)

MHC.-6| 118.- |M662FG W10 L15R/L| 1.0 2 6.2 MHC.-4| 90.- |M442GRROSOLISRL] 1.0 08 4.2
MHC.-6| 118.- |M662FG W15 L15RL| 1.5 3 6.2 MHC.-5| 107.- |M552GRROS0L20RL] 1.0 1.0 5.2
MHC.-6| 118.- |M662FrG W20 L15R/L| 2.0 4 6.2 MHC.-5| 107.- |M552GRRO75L20RL| 15 10 5.2
MHC.-6| 118.- |MG662FG W25 L15R/L| 2.5 S 6.2 MHC.-5| 107.- | M552GRR100L20RL] 2.0 10 5.2
MHC.-6| 118.- |M662FG W30 L15R/L| 3.0 6 6.2 MHC.-6] 118.- |M662GRROS0LSRL| 10 1.8 6.2

MHC.-6| 118.- |M662GRRO75L25RL| 15 1.8 6.2

MHC.-6] 118.- [M662GRR100L25RI] 2.0 1.8 6.2

Pre-Part off

IN'N7 n1dA7 NIN'Y

1nIX'N NXD '¥"N7 NIN'WY
Face Grooving External

Parting Off |
W i itk Id
T -
o T ——
l— L1
L
10 nn 0"in n"D YN DITH| NTE 017 anw I 210 nn 0"in n“n YN DTN NTE 017 ' I
7'1nn n"v RH/LH W:0.025 tmax|Nn"n DINI'N (n"n) 7'nn n"v RH/LH W:0.025 tmax|n"n Din1MN (n"n)
MHC.-5[ 99.- |M552PPWI00L15RL| 1.0 0.7 5.2 MHC.-6| 118.- |M662FP W10 L15R/L| 1.0 2 6.2
MHC.-5 107.- |M552PPW100L20RL| 1.0 0.7 5.2 MHC.-6| 118.- |M662FP W15 L15R/L| 1.5 3 6.2
MHC.-5 107.- |M552PPW100L25RL| 1.0 0.7 5.2 MHC.-6 118.- [M662FP W20 L15R/L| 2.0 4 6.2
MHC.-5 107.- |M552PPW100L30RL| 1.0 0.7 5.2 MHC.-6| 118.- |M662FP W25 L15R/L| 2.5 5 6.2
MHC.-6| 118.- |M662FP W30 L15R/L| 3.0 6 6.2

-

www.vargus.com INN21 0O'S0I11 0'0IDI NIn'ya NITnN

/B85 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

L-) R 9700 DU78NY DNANT <



V2
U

@

2
N

@ B 59.ai 1 6/10/15 11:36 AM

o127 "XIN

vyneumo

varqus

NEUMO Ehrenberg Grou

vvvvarg

NEUMO Ehrenberg Grou

Jus

micrQscope
1917 NOINT NIN'Y

Copy (Long Nose) NN X

MINIPRO

NnL'INT7 NIN'Y
Boring D'NT{7

L

®

et ——

ar
8]
&
F
max
R

- ity

mowae| Wo | BT | ey | oo wmewo] S| g, [
MHC. -4 84.- M442CL R15 L10R/L 4.2 MHC. -4 99.- M417BC R10 LO9R/L 1.7
MHC. -4 90.- M442CL R15 L16R/L 4.2 MHC. -4 84.- M422BC R10 LO9R/L 2.2
MHC. -4 90.- M442CL R15 L21R/L 4.2 MHC. -4 84.- M422BC R10 L14R/L 2.2
MHC..-5 99.- M552CL R20 L16R/L 5.2 MHC. -4 99.- M432BC R15 L10R/L 3.2
MHC..-5 112.- M552CL R20 L25R/L 52 MHC. -4 75.- M432BC R15 L16R/L 3.2
MHC..-6 119.- M662CL R20 L16R/L 6.2 MHC. -4 84.- M432BC R15 L20R/L 3.2
MHC..-6 119.- M662CL R20 L21R/L 6.2 MHC. -4 84.- M442BC R15 L10R/L 4.2
MHC..-6 119.- M662CL R20 L30R/L 6.2 MHC. -4 72.- M442BC R15 L16R/L 4.2
MHC. -4 79.- M442BC R15 L21R/L 4.2
MHC. -4 99.- M442BC R15 L26R/L 4.2
MHC..-5 99.- M552BC R20 L10R/L 5.2
MHC..-5 112.-- M552BC R20 L16R/L 5.2
MHC..-5 112.- M552BC R20 L21R/L 5.2
MHC..-5 112.- M552BC R20 L26R/L 5.2
MHC..-5 112.- M552BC R20 L30R/L 5.2
MHC..-5 112.- M552BC R20 L35R/L 5.2
MHC..-6 119.- M662BC R20 L16R/L 6.2
MHC..-6 119.- M662BC R20 L21R/L 6.2
MHC..-6 119.- M662BC R20 L26R/L 6.2
MHC..-6 119.- M662BC R20 L30R/L 6.2
MHC..-6 119.- M662BC R20 L35R/L 6.2
MHC..-6 119.- M662BC R20 L40R/L 6.2
MHC..-7 155.- M772BC R20 L25R/L 7.2
MHC..-7 155.- M772BC R20 L35R/L 7.2
MHC..-7 155.- M772BC R20 L40R/L 7.2
MHC..-7 155.- M772BC R20 L45R/L 7.2
MHC..-7 155.- M772BC R20 L50R/L 7.2

L-2 R 9700 DM7RNY DNANT <

www.vargus.com INN21 0O'S0I11 0'0IDI NIn'ya NITnN

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

@

2D



2N

N

V2 B 60.ai 1 6/10/15 11:36 AM
A

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

Yvvivarqgus micrQscope MINIPRO

NEUMO Ehrenberg Grou

B ' B

. (n"w) ¥nn L H D1 D '1nD 210 nn('r"){,;)l))h'l
275.- 65 8.8 18 10 MHC 10-4
275.- 70 10.8 20 12 MHC 12-4
275.- 75 14.8 21 16 MHC 16-4
275.- 84 18.8 25 20 MHC 20-4
275.- 65 8.8 18 10 MHC 10-5
275.- 70 10.8 20 12 MHC 12-5
275.- 75 14.8 21 16 MHC 16-5
275.- 84 18.8 25 20 MHC 20-5
275.- 70 10.8 20 12 MHC 12-6
275.- 75 14.8 21 16 MHC 16-6
275.- 84 18.8 25 20 MHC 20-6
275.- 75 14.8 21 16 MHC 16-7
275.- 84 18.8 25 20 MHC 20-7

i q1%'n 770 [+
717N 11
6.50 L SL7DT15
VININ hNON
135 -4 KT15

www.vargus.com INN21 0O'S0I11 0'0IDI NIn'ya NITnN

/860 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

® EEEEE




2,
N

N
U

@

@

@ B 61l.ai 1 6/10/15 11:36 AM

-

o127 "XIN

@

@

vneumo
varqus

NEUMO Ehrenberg Group

NEUMO Ehrenberg Group

wwyivargus 0'A'12N DID1D7 VARDEX NIN'Y

nTIAYN YINRA7 [1D1n 700 1'Na

TM2 :AD'Y .TMC :j7'Thh
JOITIVD N DY D'AMANT

TM2 :AP'Y .TMLC :7'ThN
7N 7NV IR DDNR DNANY

TMNC :7'ThD
(BSPT, NPT, NPTF) TM :nh'¥

.D"I7 0NNy
VWAV

TM2 :AD'Y .TM2C :7'TNN
YINA7 .TM2 NIN'Y 2 DY 7'1NN7
DININT NN WINL 27N

T A QN7 D7

g '
(N ‘: )
P

124/.. IN TMC :j7'TND
Coarse Pitch D28/..TM2 nDA nY'0D :NN'Y
Y'Y (NIDA) NI7ITA NIY'DD DY DANANY

l ' JPON NT77 DNNNT

TM2 :AP'Y .TMC :j7'ThDH
JIDAX NIY'0S Dy 0NNy

— AN

i '
" ( )
i

BTMC...-B :j1'lnn
TM2 I.C. 3/8” B, I.C. 3/4” B :nh'W
DITYY DN YINT YINYW DDNN DANANT

7o/

TM2F :nN'Y .TMOC :j7'Thn
2P VINAYT7 DDNKR DNANYT
Offset ) NITTIND NIN'Y AT DY

TM L.C. 6.0mm :AN'Y .TMMC :7'ThN
N"N 9.5-N NIND ,010j7 DNL72 D'AMNANT

.ﬂO"]I']'7 N'0T00 NN'Y MY

TMSC :;j7'Thh

nL"INY LITIVO I.C. 1/4” AP
NNX NID DY DI 212N YINA7

F’

TMVC ;j7'ThD

n0"NY7 N7 AP I.C. 5/8V (T= 6) nnw
AN'Y DY NNX NI'D NN YIvAY

[ I .N0NN7 D770
o

TM2 :AN'W .TMSH :j7'thn
.D'7ITA DV7A DANAN YINAY

w’

DI7IT NIY'oo7
NNY'' NI7YN NN U”FND TM
70 WIn'y'7 .01M0)7 D072 D'ANANY

NI'790 NI7YN XN U”INN TM

NTIAY7 DAL DNVZ1 DANAN VIYAYT
.H.D 21 DNYA

www.vargus.com INX1 D'S01 D'0IOI NIN'Ya NITN

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN




WA B 62.ai 1 6/10/15 11:35 AM
2>

@

©
®
vYneumo

varqus

NEUMO Ehrenberg Grou

o127 "XIN

wwyivargus 0'a'12N DI01D7 VARDEX NIN'Y

NEUMO Ehrenberg Group

VK2 - 119'X N'77
VBX, VTX - D' WON D"ID'Y 1D

ISO - Fine Pitch i |

i E oS | anw ' AW ‘1
115.- | 6.010.35/SOTMF... | 6.0E0.35ISOTMF...|  0.35 115.- | 6.010.5/SOTM... 05
115.- | 6.010.4SOTMF.. | 6.0E0.4ISOTMF.. | 0.4 115.-_| 6.010.75/SOTM... 0.75
115.-_| 6.010.45/SOTMF... | 6.0E0.45ISOTMF..| _ 0.45 115.- | 6.011.0SOTM... 1.0
115.- 6.0E0.5ISOTMF.. | 05 115.- | 6.011.25[SOTM... 1.25 N
115.- 6.0E0.6ISOTMF.. | 06 : 115.- | 6.011.5/S0TM... 15 e
115.- 6.0E0.7ISOTMF.. | 0.7 e 88.- | 210.51S0TM... 05
115.- 6.0E0.75ISOTMF..| _ 0.75 e 88.- | 210.751S0TM... | 2E0.75ISOTM2... | 0.75
115.- 6.0E0.81SOTMF.. | 0.8 88 | 211.0SOTM... | 2E1.01SOTM2... 1.0
115.- 6.0E0.9S0TMF.. | 09 88.- 2E1.25ISOTM2... 1.25 im0
88.- | 210.35ISOTMF.. | 2E0.35ISOTMF.. | 0.35 88 | 211.251SOTM... 1.25 M2
88.- | 210.4ISOTMF.. | 2E0.4ISOTMF.. 0.4 88.- 2E1.51S0TM2... 15 TMSH..-2
88 | 210.45IS0TMF.. | 2E0.45ISOTMF.. | 0.45 88| 211.51SOTM... 15
88.- 2E0.5ISOTMF... 05 105.- | 310.5/SOTM... 05
88.- 2E0.6ISOTMF... 0.6 im0 105.- | 310.75ISOTM... | 3E0.751S0TM2... | 0.75
88.- 2E0.7ISOTMF... 0.7 MC..-2 105.- | 310.8ISOTM... 0.8
88.- 2E0.75ISOTMF.. | 0.75 TMSH..-2 105.- 3E1.0ISOTM2... 1.0
88.- 2E0.8ISOTMF... 0.8 105.- | 311.0SOTM... 1.0 210
88.- 2E0.9ISOTMF... 09 105.- | 311.251SOTM... | 3E1.25ISOTM2... 1.25 TMC..-3
105.- | 310.35ISOTMF... | 3E0.35ISOTMF.. | 0.35 105.- | 311.5SOTM... | 3E1.5ISOTM2... 15 TMSH.~3
105.- | 310.4ISOTMF.. | 3E0.4ISOTMF... 0.4 105.- | 311.75/SOTM... | 3E1.75ISOTM2... 1.75
105.- | 310.45ISOTMF... | 3E0.45ISOTMF.. | 0.45 105.- | 312.0SOTM... | 3E2.01SOTM2... 2.0
105.- 3E0.5ISOTME... 05 170.- | 3BI1.0ISOTM... | 3BE1.0ISOTM2... | 1.0
105.- 3E0.6ISOTMF... 0.6 im0 170.- | 3BI1.25ISOTM... | 3BE1.25ISOTM2...|  1.25
105.- 3E0.7ISOTMF... 07 TMC..-3 170.- | 3BI1.5ISOTM... | 3BE15ISOTM2... | 15 2mn
105.- 3E0.75ISOTMF.. | 0.75 TMSH..~3 170.- | 3BI1.751SOTM... | 3BE1.75ISOTM2...| __1.75 BTMC..-38
105.- 3E0.8ISOTMF... 0.8 170.- | 3BI2.0ISOTM... | 3BE2.0ISOTM2... | 2.0 TMSH..-38
105.- 3E0.91SOTMF... 09 225.- | 5E1.0ISOTM2... | 5E1.01SOTM2... 1.0
225.- | 5E1.251SOTM2... | 5E1.25ISOTM2... 1.25
. 225.- | 5E151SOTM2... | 5E1.5ISOTM2... 15
6.0E0-4ISOTMEVIX:MIOT MONT.  —8 1 —5F 1 75150TM2. _ | 5E1.75IS0TME.. 1.75
225 | 512.050TM2... | 5E2.01SOTM2... 2.0
225 | 512.51S0TM2... | 5E2.5ISOTM2... 25 7'1nn
225.- | 513.01SOTM2... | 5E3.0ISOTM2... 3.0 s
225 | 5135IS0TM2... | 5E3.5ISOTM2... 35
225.- | 514.0IS0TM2... | 5E4.01SOTM2... 4.0
225.- | 514.51S0TM2... | 5E4.5ISOTM2... 45
285 | 6BI1.5SOTM2... | 6BET.5ISOTM2... | 15
285.- | 6BI2.0ISOTM2... | 6BE2.0ISOTM2... | 2.0
285.- | 6BI3.0ISOTM2... | 6BE3.0ISOTM2... | 3.0
. - 285.- | 6BI4.0ISOTM2... | 6BE4.0ISOTM2... | 4.0
770 799 DAT [N Fine Pitch NIV NIY'OD DY NINWA 73 1 JWN < ~ogs T 6B12 5/SOTM2... | 6BEZ 51SOTM2... 15 7mn
.TMO '7TN7 D3 NIDKNN NINWN < 985, | 6BI5.01S0TM2... | 6BE5.0ISOTM2... | 5.0 TMC..68
N7Y2 NN (1.C. 6.0mm) MinTM OYN7 NIDNIN DD 2 NINWN D7 <~ 285.- | 6BI55SOTM2.. | 6BE551SOTM2... | 55 TMSH..~68
NN N2NIN N1'D 285 | 6BI6.0ISOTM2... | 6BE6.0ISOTM2... | 6.0

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

-

www.vargus.com INX1 D'S01 D'0IOI NIN'Ya NITN




\///
£

@

@ B 63.ai 1 6/10/15 11:35 AM

@

-

o127 "XIN

wvvarqus

NEUMO Ehrenberg G

vneumo
varqus

NEUMO Ehrenberg Group

TM D220 DID1)Y7 VARDEX NIN'W
— AmercanN [

ISO - Coarse Pitch TM N

"IN aVIoo NTy 017 "nn
e ,¥]?N W ' o) o] anw '
115.- | 6.0132UNTM2... 32 115.-_| 6.00.751S0TM..028/001 |TMMC12-6.0 9.1-10 0x0.75
115.- | 6.0128UNTM2... 28 115.-_ | 6.00.751S0TM..028/001 [TMMC20-6.0 9.1-10 0x0.75
115.- | 6.0127UNTM2... 24 115.- | 6.01.25/S0TM._028/002 [TVMC12-6.0 106114 [M12x1.05
115.- | 6.0124UNTM2... 20 - 115.- | 6.01.25/S0TM._028/002 | TVIMC20-6.0 106114 [M12x1.05
115.- | 6.0120UNTM2... 18 TMMC..~60 115.- | 6.01.751S0TN...028/003 [TMNC206.0 124003 10.1-19 2x175
115.- | 6.0118UNTM2... 16 88.- | 220S0TM._0281004 [TMC12-2 118195 |[M14x20
88.- | 2I48UNTM2... 48 88.- | 220150TW..028/004__[TNC20-2 118195 [M14x20
88.- | 2140UNTM2... 40 88.- | 20.01S0TM..0280004 [TMC12-2 118195 |M16x20
88.- | 2I32UNTM2... 32 88.- | 22.01S0TM..0280004 _ [TMC20-2 118195 |M16x20
88.- | 2128UNTM2... | 2E28UNTM2... 28
88 | 2127UNTMS T 2527 UNTM2. 5 105.- |3125S0TM..008/005  |TMC163124001 | 17.2192 [M20x 25
88.- | 2I24UNTM2... | 2E24UNTM2... 24 7'1nn 185.- | 382550TM. 028006 |54 724000 | 19.2-316 |M22x25
88.- | 2I20UNTM2... | 2E20UNTM2... 20 TTh:‘sﬁ;-'_zz 185.- | 3B3.0ISOTM. 0281007 [THC5-4 124000 | 20.7-32.7 |M24x 3.0
88.- | 2118UNTM2.. | 2F18UNTM2... 18 185.- | 3B3.0ISOTM. 0281007 [THC5-4 124000 | 20.7-32.7 |M27 x 3.0
88.- | 2116UNTM2... | 2E16UNTM2... 16 225.- | 53550TM. 0281008 |THC55 124004 | 26.0-35.9 |M30x 35
88.- | 21TAUNTM2... | 2ET4UNTM2... 14 225 - | 5351S0TH..0%8/008  |TNC55 124004 | 26.0-35.9 |M30x35
105.- | 3140UNTM2... 40 225.- 5|3‘0|SOTM..‘028/009 VG255 32739 |M36x3.0
105.- | 3132UNTM2... 32 225.- | 51401S0TM._ 028010 |TMC255 316:385 |M36 x40
105 | 3128UNTM2... | 3E28UNTM2... 28 225.- | 5301S0TM..02%8/009 [ TMC255 32739 |M39x30
105.- | 3127UNTM2... | 3E27UNTM2.. 27 225.- | 540SOTM.0%8010  [TMC255 316-385 |M30x40
105 | 3124UNTM2... | 3E24UNTM2... 24 225.- | 514550TM. 028011 [TMC255 37148 |Md2x45
105.- | 3120UNTM2... | 3E20UNTM2... 20 225.- | 514550TM. 028011 |TMC255 37148 |Md5x 45
105 | 311T8UNTM2... | 3E18UNTM2... 18 1D 225.- | 55.050TM._ 0280075 |TMC255 38900 |48 x50
105.- | 3[16UNTM2.. | 3E16UNTM2.. 16 T™C..-3 225.- | 55050TM._ 028075 |TMC255 3890 |M52x50
105 | 31T4UNTM2... | 3E14UNTM2... 14 TMSH..~3
105.- | 3113UNTM2... | 3E13UNTM2... 13
105.- | 312UNTM2.. | 3E12UNTM2... 12 M48x5.0 :1'12N7 NINTA NDAIT
105.- | 3111.5UNTM2... | 3E11.5UNTM2... 115 5i5.01SOTMVBX 028/075 :NN'W7 NInin NNAIT
170.- | 3BI24UNTM2... | 3BE24UNTM2... 24 TM 25-5 ;7'TNN7 NINTN NPAIT
170.- | 3BI20UNTM2... | 3BE20UNTM2... 20
170.- | 3BIT8UNTM2... | 3BE18UNTM2... 18
170.- | 3BI16UNTM2... | 3BET6UNTM2.. 16 -
170.- | 3BIT4UNTM2... | 3BET4UNTM2... 14 BTMC..~38
170.- | 3BI13UNTM2... | 3BE13UNTM2... 13 TMSH..-3B
170.- | 3BIT2UNTM2... | 3BE12UNTM2... 12
225.- | 5I24UNTM2... | 5E2AUNTM2... 24
225.- | 5I20UNTM2... | 5SE20UNTM2... 20
225.- | 5118UNTM2... | 5E18UNTM2... 18
225.- | 5116UNTM2... | 5E16UNTM2... 16
225.- | 5114UNTM2... | 5E14UNTM2... 14
285.- | 5113UNTM2... | SE13UNTM2... 13
285.- | 5112UNTM2... | SE12UNTM2... 12
285.- | 5111.5UNTM2... | 5E11.5UNTM2... 115
285.- | 5111UNTM2... | 5E11UNTM2... 11 2D
285.- 5ET0UNTM2... 10 TMC..-5
285.- | 511T0UNTM2... 10 TMSH..-5
285.- | 519UNTM2... SEQUNTM2... 9
285.- | 5I8UNTM2... SESUNTM2... 8
ggg STONTIE SEZUNTM2... ; .TMO '{7'TNN7 D2 NIN'RND NINWN <
995 - SEEUNTVE 5 N7¥2 NNY (1.C. 6.0mm) MinTM OYN7 NIDNIN NI'D 2 NINWA 7Y <
225 | 5I6UNTM2... 6 JINRTNIN AYD

N2 ‘Py1 WUnn

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

www.vargus.com 1INX1 0O'S0I11 D'0IDI NIn'wa NIT'N

@

@

7N



WA B 64.ai 1 6/10/15 11:35 AM
2>

@

@

-

o127 "XIN

vivivar

NEUMO Ehrenberg Gro

N I o |

V'

var

NEUMO Ehrenberg Grou

«[TEY TM 012N DID1DY VARDEX NIN'W
American UN - Coarse Pitch ol

@

@

vneumao
gus

0"{n 'nn N7 W17 | amn Wil rnn 0"{n (V7)) ny'no v

Ny (n"n) DINYN n"v NS nix'n "YI'X
6.0I20UNTM..028/012 |TMMC12:60 | 9.7-11.4  |716-20 UNF 285.- | 6BIGUNTM?... 6BEGUNTM2. . 6
6.0120UNTM...028/012 [TMMC2060__| 9.7-11.4_|7/16-20UNF 285~ | 6BISUNTM?.. 6BESUNTM?.. 5
6.0116UNTM...028/014 [TMC1260 | 9.3-14.1_[7/16-16UN 70
BO6UNTM. 0281014 [TWNC2360 | 93141 [7/16-16UN 285 | 6BI4.5UNTM2... | 6BE4SUNTM2.. | 45 Thc..-8
6.0114UNTM...028/013 [THNC20-60 124003] 9.1-9.9 _ [7/16-14UNC 285.- | 6BI4UNTM2... 6BE4AUNTM2. . 4
6.0116UNTM..028/014 [TVMCT2-60 | 9.3-14.1_[1/2-16UN
6.0116UNTM...028/014 [TMMC2060 | 9.3-14.1_[1/2-16UN . . .
6.016UNTM..028/014 [TMMCT260 | 9.3-14.1_|9/16-16 UN American UN - Fine Pitch [N |
6.0116UNTM..028/074 [TVNC2060 | 9.3-14.1_|9/16-16UN
6.0116UNTM..028/014 [TMMCT2:60 | 9.3-14.1 [5/8-16UN
6.0116UNTM..028/074 [TVMC20-60 | 9.3-14.1_|5/8-16UN
2113UNTM...028/015__[TMC202 1240005 | 10.519.5 [ 1/2-13UNC
2112UNTM...028/016_[TC20-2 124/005 | 11.9-15.6 |9/16-12UNC
2118UNTM..0280017_[TNIC12-2 12.7-145 |916-18 UNF
2118UNTM...028/017_[TNIC20-2 12.7-145 |916-18 UNF 0" 0”iIn nYoo 0w T
2I11UNTM...028/018__[TC202 7240006 | 13.3-18.5_|5/6-11 UNC NI niIx'n "YIX
2112UNTM...028/016_[TC20-2124/005 | 11.9-15.6 [5/8-12UN 115 | 6.0180UNTMF... | 6.0E80UNTMF... 80
2112UNTM...028/016_[TMC20-2124/005 | 11.915.6 | 11/16-12UN 115 | 6.0172UNTMF... | 6.0E72UNTMF... 72
3IOUNTM..028/019_[TCT6:3 124001 | 16.3-31.6_|3H-10UNC 115- | 6.064UNTMF.. | 6.0E64UNTMF... 64
3112UNTM..028/020_[TVC16-3 16.7-18.3 [34-12UN 115.- | 6.056UNTMF.. | 6.0E56UNTMF... 56
3112UNTM..028/020 [ TNICT6-3 18.3-195 [13/16-12UN 115.- 6.0E48UNTMF... 48 .
4I9UNTML.028/021 __[TNC25-4 124/002_| 19.1-32.5_|7/B-9UNC 115.- 6.0E44UNTMF... 44 TM[’M":"'_’GO
418UNTM...028J022___[TNIC254 124007 | 21.9-28.3 [1-8UNC 115.- 6.0E40UNTMF... 40 e
418UNTM...028/022__ [TNIC25-4 124007 | 21.9-28.3 [11/16:8 N 115.- 6.0E36UNTMF... 36
AI7UNTM..028J023__|THC25-4 124/002_| 24.6-35.9 |11/8-7 UNC 115.- 6.0E32UNTMF... 32
4IBUNTM...028/022 [TNIC254 124/007 | 21.9-28.3 [11/8-8UN 88.- | 21B0UNTMF.. | 2E80UNTMF... 80
4IBUNTM...028/022__[TWC254 1241007 | 21.9-28.3 |13/16:8UN 88.- | 2I72UNTMF.. | 2E72UNTMF... 72
413UNTM...028J023__ [THIC25-4 124/002_| 24.6-35.9 11147 UNC 88 | 2I64UNTMF.. | 2E64UNTME... 64
5IBUNTM...028/024__[TNIC255 124/004 | 28.3-33.0 |1 1/4-8 UN 88.- | 2156UNTMF.. | 2E56UNTMF... 56
5IBUNTM...028/024 [ TNIC255 124/004 | 28.3-33.0 |1 5/168 UN 88.- 2E48UNTMF... 48 D
5IGUNTM...028/025__ [TNIC255 124/004 | 30.0-36.7 |1 386 UNC 88.- 2E44UNTME... 44 MC.-2
5IBUNTM...028/024__[THIC255 124004 | 28.3-33.0_ |138-8UN 88.- 2E40UNTMF... 40 TMSH..-2
5I6UNTM..028/025 [ TNIC25-5 30.0-36.7_17/16:6 UN 88.- 2E36UNTMF... 36
5IBUNTM...028/024__|TWIC255 1241004 | 33.0-39.0_|17/16:8UN 88.- 2E32UNTMF... 32
5IGUNTM...028/025__[TMIC25-5 30.0-36.7_|11/26UNC 105.- | 3I80UNTMF.. | 3EBOUNTMF... 80
5IBUNTM...028/024__[TNC255 124/004_| 33.0-39.0 |1 1/2-8UN 105.- | 3I72UNTMF.. | 3E72UNTMF... 72
5I6UNTM...028/025__|TNIC255 30.0-36.7_|19/16:6 UN 105.- | 3I64UNTMF.. | 3E64UNTMF... 64
5I8UNTM...028/024__|TNIC255 33.0:39.0 [19/16:8UN 105.- | 3156UNTMF.. | 3E56UNTMF... 56
5I6UNTM...028/025__|TNIC255 36.7-45.0_|15/86UN 105.- 3E48UNTMF... 48 2D
5I8UNTM...028/024__[TNIC255 33.0:39.0_|15/68 N 105.- 3E44UNTMF... 44 MC.-3
5I6UNTM...028/025__ | TNIC255 36.7-45.0 |1 11166 UN 105.- 3E40UNTMF... 40 TMSH..-3
5I5UNTM...028/077__|TNIC255 389 345 UNC 105.- 3E36UNTMF... 36
5I6UNTM..028/025 [ TNIC255 36.7-45.0_|13/4-6UN 105.- 3E32UNTMF... 32
5I6UNTM...028/025__ | TNIC255 36.7-45.0_|113/16:6 UN
5I6UNTM...028/025__[TNIC255 36.7-45.0 17586 UN 6.0ESUNTMF VBX :(*aI¥'NY) nantn NIt
5I6UNTM...028/025__ | TNIC255 36.7-45.0_|11516:6 UN

1-9/16-6UN :2' QN7 NINTA NNAIT
5i6UNTM VBX028/025 :AN'Y7 NInTn NNAIT
TMC25-5 124/004 :{i7'TNN7 NINT NNAIT

J77N 79119 02T [N Fine Pitch NIZ'TY NIY'0D DY NIN'WN 73 ! 21WN <

TMO '7'TNNT D2 NIDRNN NIN'WN <
N7V XY (1.C. 6.0mm) MinTM DYN7 NIDNIN NI 2 NIN'WN 727 <
QNN NONIN N1'o

www.vargus.com 1INN21 0O'S0I11 0O'0IDI NIn'ya NITnN

/86 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

7N



\///
£

@

@

@ B 65.ai 1 6/10/15 11:34 AM

-

o127 "XIN

vivivar

NEUMO Ehrenberg Gro

BSW, BSP - Coarse Pitch izl

@

@

vneumao

var

NEUMO Ehrenberg Grou

gUS TM D220 DID1D7 VARDEX NIN'Y
BSW, BSP i |

qus

, NIO . nIo
o o B
o v"in gmn | DAL amn [ gy NN nIN'N/'N1D 0”{7N ("yr®) ny'o0o AW T
n"v Ny (n"n) DI n"v
115.- | 6.0/18WTM..028/035 |TMMC1260 | 9.3-142 | 7/16-18 115.- 6.0EI28WTM... 28
115.- | 6.0/18WTM..028/035 [TMMC2060 | 9.3-142 | 7/16-18 115.- 6.0E126WTM... 26
115.- | 6.0126WTM..028/036 |[TMMC12-60 | 9.8-105 | 7/16-26 115.- 6.0EI24WTM... 24
115.- | 6.0126WTM..028/036_|TMMC20-60 | 9.8-105 | 7/16-26 115.- 6.0EI20WTM... 20 pbts
115.- | 6.020WTM..028/037 [TWMC1260 | 11.0-11.4 | 12-20 115.- 6.0EITOWTM. .. 19 THHC.~60
115.- | 6.020WTM..028/037 [TMMC20-60 | 11.0-11.4 | 1/2-20 88.- SE128WTM2. . 28
225.- | 5I6WTM...028/049  |TMC-25-5 124/004| 10.6-12.2 | 1/2-16 88.- 2EI126WTM2... 26
88.- | 2116WTM..028/038__[TMC12-2 12.0-185 | 9/16-16 88.- SEIDAWTMS. 54
88.- | 2116WTM..028/038__|TMC20-2 12.0-185 | 9/16-16 88.- SEI20WTM2.. 20 710
88.- | 2I14WTM..028/039 _|TMC-20-2 124006] 135-19.0 | 5/8-14 88.- SEITOWTM2. T TMC..~2
88.- | 2114WTM...028/039  |TMC-20-2 124/006| 13.5-19.0 | 11/16-14 88.- SEI4AWTM2. . 14 TMSH..-2
88.- | 2116WTM..028/038  |TMC12-2 12.2-18.5 | 11/16-16 88.- 3EI26WTM2... 6
88.- | 2116WTM..028/038__|TMC20-2 12.0-185 | 11/16-16 105. EIAWTM2. o
88.- | 2116WTN..028/038_[TMC12-2 12.0-185 | 3/4-16 -
88.- | 2116WIN..028/038__[TMC20-2 12.0-185 | 3/4-16 }gg ggﬁgmg ‘128
105.- | 3112WTM..028/040 [TMC-16-3 124001] 16.3-17.9 | 3/4-12 105.< SEAWTVD 18
105.- | 312WTM..028/041 _[TMC16-3 179210 [ 1371612 105.< SETGWTM2. 16 'mnn
105.- | 312WTM..028/041 _[TMC20-3 21.0:30.6 | 15/16-12 105.- e AN 1 anc'"_-a
105.- | 312WTM..028/041 _[TMC20-3 210306 | 1-12 105 SETTOWT . 0 VA )
105.- | 312WTM..0280041 _[TMC20-3 21,0306 | 11/16-12 105 T =
105.- | 312WTM..028/041 _[TMC20-3 21,0306 | 11/8-12 e SBEDAVTV o
105.- | 312WTM..028/041 _[TMC20-3 21.0-30.6 | 13/16-12 S SREOWTVE 5
105.- | 312WTM..028/041 _[TMC20-3 21.0306 | 11412 = SREITOWTIS =
105.- | 312WTM..028/041 _[TMC20-3 21,0306 | 151612 o SBEITETS 5
185.- | 419WTM..028/042 _ [TMC-25-4 124002] 18.6-32.5 | 7/8-9 = e
185.- | A11WTM..028/043 _[TMC-25-4124/002] 19.2-02.0 | 7/8-11 170.- SBEITEWTM2... 16 THC.-38
185.- | 4IBWTM..028/044 _ [TMC254 124/002] 21.3-26.0 | 1-8 170.- SBEITAWTMS... 14 TMSH..-38
185.- | 4110WTM..028/045 [TMC-254 124/002] 22.1-31.6 | 1-10 170.- 3BEI12WTM2... 12
185.- | 4IOWTN..028/042  [TMC-254 124/002] 18.6-32.5 | 1 1/89 225.- SEIMIWTM2... il
185.- | 4IOWTM._028042  [TMC-25-4 1241002] 18.6-325 | 1 1/4-9 225.- SEMEWTM2... 16
225.- | 5I7WTM..028/046 _ [TMC-255 124/008] 23.9-27.1 | 11/8-7 225.- SEITAWTM2... 14
225.- | 5IBWTM..028/047  |TWIC-25-5 1241004 26.0-32.4 | 13/16-8 225.- SEM2WTM2... 12
225.- | 5I7WTM..028/048  [TMC-25-5 124/004| 21.7-35.9 | 1 1/4-7 225.- SEIMTWTM2... 11
225.- | 5I6WTM..028/049  [TNIC-255 124/004| 27.9-32.6 | 15/16-6 225.- SEITOWTM2... 10 7o
225.- | BIBWTM..028/047  [TMC-25-5 1241004| 26.0-32.4 | 15/16- 225.- SEIQWTM2... 9 TMC..-5
225.- | 5IWTM..028/047 _ |TMC-255 124/004] 26.0-32.4 | 13/8-8 225.- SEIBWTM2... 8 TMSH..-5
225.- | 5I6WTM..028/049 _ [TMC-255 1241004 27.9-32.6 | 13/8-6 225.- SEI7WTM2... 7
225.- | 5/12WTN..028/050 _|TMC25-5 320346 | 13/8-12 225.- SEIBWTM2... 6
225.- | 5I6WTM..008/049  [TMC-255 1241004| 27.9-32.6 | 1.4-6 285.- 6BEITIWTM2... 11
225.- | 5I8WTM..028/047 _ |TMC-255 124/004] 26.0-32.4 | 1.4-8 285.- 6BEIBWTM2... 6
225, | 5[12WTM..028/050  [TMC25-5 32.2-346 | 1.4-12 285. BBEISWTM?2... 5 .
225.- | 5IBWTM..028/049 _ [TNC-255 1240004] 27.9-32.6 | 17/166 285.- 6BEI4.5WTM2... 45 TMSH.~68
225.- | 5I8WTM..028/047 _ |TMC255 324390 | 17/168
225.- | 5112WTM..028/050  [TMC25-5 32.0-346 | 17/16-12 3EIM4WTM2VBX :NN'Y NINTNT7 NDAIT
225.- | 5I6WTM..028/049  [TMC-255 1241004] 27.9-32.6 | 11/2-6 ~ .
225 | 5BWTM. 0280047 [TNIC255 304390 [ 11/2-8 7/16-18BSW :21QN7 MINTA NDAIT
295.- | 5I6WTM..028/049  |TMC255 306385 | 166 6.0118WTM VBX 028/035 :NN'WY7 NINTn NNAIT
225 | 5I8WTM..028/047 __ [TMC255 324390 [ 1.68 TMMC20-6.0 :{7'TNNY MINTN NNAIT
225.- | 5I8WTM..028/047 _[TMC255 324390 [ 1588
225.- | 5I6WTM..028/049 _ [TMC255 326385 | 15/8-6 TMO '{7'TND7 DA NIDNAD NIDWIN <
225.- | 57TWTM..028/048  [TMC25-5 39.8-42.0 | 13/4-7 N7Y2 X'NY (1.C. 6.0mm) MinTM OYN7 NIDNIN NII'O 2 NINWA 727 <
225.- | 5I6WTM...028/049 TMC25-5 42.2-450 | 17/8-6 NN NONIN Mo
225.- | 5I6WTM..0280049 | TMC255 4220450 [1.96

70NN V7NT LH 901N XY 77007 <

www.vargus.com 1INN21 0O'S0I11 0O'0IDI NIn'ya NITnN

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

7N



WA B 66.ai 1 6/10/15 11:34 AM
2>

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

WAAYCT([TER TM 022N D107 VARDEX NIN'Y
BSPT ~ | |

_ nIxn _ nIxn
g I@ 1n1oI g l@ 1n1OI
o o [EY7 @
rnn [0 370 NN ny'od | rnn (V1470 b L(1)?) ny'od |
n"v IN1DI 1IXN : "YI'X DY 7T n”v INIOI NINN : YN N 1N
88~ | SEI9BRSPTTM?... TMC.-2 19 105.- | 3EI14NPSTM2... TMNC16-3 14
105.- | 3EI14NPSTM2... TMNC20-3 14
105.- | 3EI14BSPTTM2... T™C..-3 14 105.- | 3EI11.5NPSTM2... | TMNC20-3 15
105.- | 3EI11BSPTTM2... T™MC..-3 1
170.- | 3BEI11.5NPSTM2..* | BTMNC20-3B 115
225.- | 5EI11BSPTTM2... TMC..-5 11
225.- | 5EI11.5NPSTM2... TMNC25-5 115
225.- | S5EIBNPSTM2... TMNC32-5 8

5EI11BSPTTMVBX :nINTN NNAIT
EI11.5NPSTM2VBX :
0707 LH f0IN 17XDY 7'TN0T < 3 SNPS AT AT

LH 7NN WNNWA L NINIONN D' DY 2NN YINA7 < JIDNIN NS 2 NINYA 727 NN NONIN 1o *

I |

_ nIxn
I@ NIOI
NN 0"{n 7'inn ny'no I
n7y | paoihiNn ] "y nw
115 |  6.0EI20PGTM.. TMMC..-6.0 20
T e
- TMSH. -2
88.- | 2FI6PGTM2.. 16
e e |, |
i TMSH. 3
105.- |  3EI16PGTMY.. 16
225 |  SEHGPGTM?.. TMC..-5 16
TMSH..5

5EIM6PGTM2 VBX :nINTN NNAIT

0707 LH QDIN '7X0W 7'TNNY <

www.vargus.com INX1 DO'S01 D'0IOI NIN'Ya NIT'N

/866 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

- EEEEE & &




WA B 67.ai 1 6/10/15 11:33 AM
2>

@ @
: vyneumo
DI MIXID Varqus

NEUMO Ehrenberg Group

WAAYCT([TER TM 022N D107 VARDEX NIN'Y
NPT Coarse Pitch TM il | B

nt "y
ol o |-+L @
NN 0"”{nN 7'nn 21N anw rNn 0"{n 7'nn ny'nos anw
n"v NS n"v 'N"SI1 2IN'N "YI'N
88.- | 2118NPTTM...028/074 | TMC 20-2 124/009 1/4"-18 105.- | 3E18NPTTM2..™ TMNC..-3 18
88.- | 2118NPTTM...028/074 | TMC 20-2 124/009 3/8-18 105.- | 3EI14NPTTM2... TMNC..-3 14
2I8NPTTM VBX 028/74 :nINTN NNAIT | ETT SNPTTMR.. THINC.-3 115
170.- | 3BEI1ANPTTM2... BTMNC..-3B 14
LH 7N Wnnun L NInionn an'y DY 111N YINI7 < 170.- | 3BEI11.5NPTTM2...* BTMNC..-3B 115
225.- | 5E11.5NPTTM2... TMC..-5 1.5
225.- | 5EBNPTTM2... TMC..-5 8
285.- | 6BET1.5NPTTM2... TMC. -6B 115
285.- | 6BESNPTTM2... TMC..-6B 8

5E8NPTTM2 VBX :N1NTN NNAIT

1271 RH TNR N7 NN'W *

1272 1¥'n 2N2ANY7 Ny xF

.LH TN wnnwn7 wr L [In'0d NR'Y 0V 21NN VIva7 <
JTNNN 07N7 LH Q0N 7RDY 7'TNNT <

NPTF (Dry Seal) Coarse Pitch TM Bl NTPF (Dry Seal) i |

% 9V . W 9V°
o o

- "D amnn 2N 0w nn 0" 7NN n)'0o AW 1

n”"v NS n"v NS 2IX'N 'YJ'N
88.~ | 2118NPTFTM..028/078| TMC 20-2124/009 |  1/4’-18 105.- | SEIANPTFTMS... TMNC..-3 14

88.- | 2I18NPTFTM..028/078] TMC 2021240009 |  3/8™-18 105.- | SEM1SNPTFTM2.. |  TMNC.-3 115
170.- | 3BEI14NPTFTM2.. BTMNC..-38 14

1/4=18NPTF :2 QN7 MINDTD NMOAUT  ~ 470 3881150PTFTM2. | BTWING. 38 115

2118NTPFTM VBX 028/078 :AD'W7 MINT NOAT e [ crinapiie. | V0.5 e
TMC20-2 124/009 :7'TNNT NINTN NOANT  —pp T oomen Y ;

285.- | GBEI1SNPTFTM2.. |  TMC.-6B 115
285.- | GBEISNPTFTMY.. TMC..-68 8

6BEi11.5NPTFTM2 VBX :NINTN NNAIT
JTNNN 07N7 LH Q0N 7RNDY 7'TNNT <

www.vargus.com INX1 DO'S01 D'0IOI NIN'Ya NIT'N

/867 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

. .
® EEEEE

2D




WA B 68.ai 1 6/10/15 11:33 AM
2>

@

o127 "XIN

vivivar

NEUMO Ehrenberg Gro

vneumao
var

NEUMO Ehrenberg Grou

qus
ACME Coarse Pitch TM i | @D

mni
I@ D)
AU 1)) P11 V"IN nD N7 017 anw 2Man
n"v (D"nl) oin"'n Lmm IC
115 | 6.0116ACMETM...028/052| TMMC12-0.6 111 104 60mm| 1/2-16
115.- | 6.0116ACMETM...028/052| TMMC20-6.0 111 104 60mm| 1/2-16
88 | 2116ACMETM..028/053 | TMC12-2 142 RS 5/8- 16
88 | 2116ACMETM..028/053 | TMC20-2 14.0 RS 58"- 16
88 | 2114ACMETM..028/054 | TMC20-2 124/005 14.0 1 5/8"- 14
88 | 2116ACMETM..028/055 | TMC12-2 174 1 3416
88 | 2116ACMETM..028/055 | TMC20-2 174 R 3/4-16
88 | 2114ACMETM..028/083 | TMC20-2 124/006 17.0 R 3414
88 | 2112ACMETM..028/056 | TMC20-2 124/006 16.9 1 3412
105.- | 3114ACMETM. 028/057 | TMNC16-3 20.4 6 38 7/8 - 14
88.- | 2112ACMETM..028/058 | TMC20-2 124/006 20.1 1 7/8- 12
105.- | 3114ACMETM. 028/059 | TMC-16-3 235 6 38 1-14
105.- | 3112ACMETM. 028/060 | TMNC16-3 232 6 38 1-12
185.- | AHOACMETM. 028/061 | TMC25-4 124/002 28 2 12 1-10
185.- | AI1BACMETM. 028/062 | TMC25-4 124/002 222 2 12 1-8
105.- | 3112ACMETM. 028/060 | TMC16-3 26.4 6 38 11/8-12
185.- | AIT0ACMETM..028/084 | TMC25-4 124/007 26.0 22 12 11/8-10
185.- | AI18ACMETM..028/063 | TMC25-4 124/002 254085 | 22 12 11/8-8
105.- | 3112ACMETM. 028/060 | TMC20-3 206 6 38 11/4-12
225 | 510ACMETM..028/064 | TMC25-5 124/004 292 6 58 11/4-10
185.- | AIBACMETM..028/063 | TMC25-4 124/002 254085 | 22 12 11/4-8
225 | 5/10ACMETM..028/065 | TMC25-5 124/004 323 27 58 13/8-10
225- | 518ACMETM..028/066 | TMC25-5 124/008 317 27 58 138-8
225 | 5/6ACMETM..028/067 | TMC255 306 27 58 138-6
225. | 510ACMETM. 028/068 | TMC25-5 124/004 355 27 58 11/2-10
225- | 518ACMETM..028/069 | TMC25-5 124/004 349 27 58 112-8
225 | 5/6ACMETM..028/070 | TMC32-5 338 27 58 112-6
225 | 5/10ACMETM..028/064 | TMC255 419 27 58 13/4-10
225 | 518ACMETM..028/069 | TMC255 412 27 58 13/4-8
225- | 5/6ACMETM..028/070 | TMC25-5 124/004 402 27 58 13/4-6
225 | 5/5ACMETM..028/071 | TMC32-5 393 27 58 13/4-5
225 | 518ACMETM..028/069 | TMC255 476 27 58 28
225 | 5/6ACMETM..028/072 | TMC255 465 27 58 2.6
225 | 55ACMETM..028/071 | TMC32-5 457 27 58 2.5
225 | 5/6ACMETM..028/072 | TMC255 52.9 27 58 21/4-6
225 | 5/5ACMETM..028/073 | TMC255 52,0 27 58 21/4-5
225 | 5/5ACMETM..028/073 | TMC32-5 58.4 27 58 21/4-5

/86 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

-

AACME 1 3/4-5 :2'2N7 nIntn NNaIT
5{5ACME VBX028/071 :AN'W7 NanTn NNAIT
TMC25-5 124/004 :[7'TNN7 NINTN NNAIT

www.vargus.com 1INN21 0O'S0I11 0O'0IDI NIn'ya NITnN

@

@

@

7N



\///
£

@

@ B 69.ai 1 6/10/15 11:33 AM

@

-

o127 "XIN

vivivar

NEUMO Ehrenberg Gro

vneumao
var

NEUMO Ehrenberg Grou

S 3 0 o noe v
TRAPEZ - Coarse Pitch o | @D

mni
I@ D)
PO V"IN N Ny 017 AW Y amn
(D"Dl) oinnan Lmm IC

88 | ©2120TRTM..028/028 | TMC20-2124/006 | 140 11 14 | TR16x20
88- | 2120TRTM. 028/029 | TMC20-2 124006 | _ 16.0-18.0 11 14 | TR18x20
88- | 212.0TRTM. 028/029 | TMC20-2 1240006 | _ 16.0-18.0 11 14 | TR20x20
185.- | A4I3.0TRTM..028/030 | TMC20-4 124/002 | 21.0 22 12" | TR24x30
185.- | 4I3.0TRTM..028/031 | TMC20-4 124/002 |  23.0-27.0 22 12 | TR26x30
185.- | 4I3.0TRTM..028/031 | TMC20-4 124/002 |  23.0-27.0 22 12 | TR28x30
185~ | A4I3.OTRTM. 028031 | TMC20-4 124/002 | _ 23.0-27.0 22 12" | TR30x30
185.- | A4I3.OTRTM. 028032 | TMC20-4 124/007 | _ 29.0-33.0 22 12" | TR32x30
185.- | 4I3.0TRTM..028/032 | TMC20-4 124/007 | _ 29.0-33.0 22 12" | TR34x30
185.- | 4I3.0TRTM..028/032 | TMC20-4 124/007 | _ 29.0-33.0 22 12 | TR36x30
225- | 5/3.0TRTM. 028/033 | TMC255 124/004 | 35.0-39.0 27 5/8° | TR38x30
225- | 5/3.0TRTM..028/033 | TMC255 124/004 | 35.0-39.0 27 5/8' | TR40x30
225. | 5[3.0TRTM. 028/033 | TMC255 124/004 | _ 35.0-39.0 27 5/8 | TR42x30
225- | 5[3.0TRTM. 028/033 | TMC255 410450 27 5/8 | TR44x30
225- | 5[3.0TRTM. 028/033 | TMC255 410450 27 5/8 | TR46x3.0
225- | 5[3.0TRTM. 028/033 | TMC255 41.0-45.0 27 5/8° | TR48x30
225- | 5/3.0TRTM.028/033 | TMC32-5 47.057.0 27 5/8° | TR50x30
225- | 53.0TRTM. 028/033 | TMC32-5 47.057.0 27 5/8 | TR5230
225. | 5[3.0TRTM. 028/033 | TMC32-5 47.057.0 27 5/8° | TR55x30
225- | 5[3.0TRTM. 028/033 | TMC32-5 47.057.0 27 5/8 | TR60x3.0
225- | 5/4.0TRTM. 028/034 | TMC32-5 61.0-106.0 27 5/8 | TR65x4.0
225- | 5/4.0TRTM. 028/034 | TMC32-5 61.0-106.0 27 5/8° | TR70x4.0
225- | 5[4.0TRTM. 028/034 | TMC32-5 61.0-106.0 27 5/8° | TR75x40
225- | 5[4.0TRTM.028/034 | TMC32-5 61.0-106.0 27 5/8' | TR80x4.0
225. | 5[4.0TRTM. 028/034 | TMC32-5 61.0-106.0 27 5/8° | TR85x40
225- | 5/4.0TRTM. 028/034 | TMC32-5 61.0-106.0 27 5/8 | TR90x4.0
225- | 5/4.0TRTM. 028/034 | TMC32-5 61.0-106.0 27 5/8 | TR95x4.0
225- | 5/4.0TRTM. 028/034 | TMC32-5 61.0-106.0 27 5/8° | TR100x40
225- | 5[4.0TRTM. 028/034 | TMC32-5 61.0-106.0 27 5/8° | TR105x40
225- | 5[4.0TRTM.028/034 | TMC32-5 61.0-106.0 27 58 | TR110x40

www.vargus.com 1INN21 0O'S0I11 0O'0IDI NIn'ya NITnN

/86 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

TR 38x3.0 :2' QN7 NINTA NNAIT
5i3.0TRTMVSX 028/033 :NN'Y7 NINTN NNAIT
TMC25-5 124/004 :i7'TNN7 NINTN NNAIT

@

@

7N



2N

N

N // B 70.ai 1 6/10/15 11:33 AM
Il

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

vYyivargus DIDIDA D'ANAN TI'Y7 VARDEX NIN'WY

n ™ NI y7'7Nn ﬂ
D"P'IDI DMIX'N D'A'AN TI'Y7 D'P'RND
@ 0ITIVD TM 7'TND

O1'7°n 77N
Inn /‘ Inn / n”n NITN
07110 NNdH nnw7 i D L1
9.0 6.8 12 120 690 399.- TMMC12-6.0
10.- K7T 6.50 | SN7T
9.0 6.8 20 170 840 455.- TMMC20-6.0
115 8.9 12 120 700 366.- TMC12-2
10.- Kot 6.50 | SN2TM
115 8.9 20 200 850 420.- TMC20-2
17.0 136 16 220 900 420.- TMC16-3
10.- K3T 6.50 | SN3T
20.0 16.6 20 430  95.0 454. TMC20-3
17.0 135 16 290 795 475.- BTMC16-3B
19.0 155 20 290 815 585.- BTMC20-38
10.- K3T 6.50 | SN3T
19.0 155 25 300 923 615.- BTMC25-38
22.0 185 25 300 908 665.- BTMCW25-3B
30.0 24.0 25 520 1100 620.- TMC25-5
10.- KT 6.50 | SN5TM 30.0 24.0 25 520 1100 805.- TMC25-5LH
37.0 31.0 32 58.0  120.0 645.- TMC32-5
35.0 27.0 32 53.0 1150 665.- TMC32-6B
10.- K30T 6.50 | SM7T
46.0 38.0 40 63.0 1350 695.- TMC40-6B

TMC12-2 :01NTN NNAIT

www.vargus.com 1INX1 0'S0Il D'0YD

/87 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

® EEEEE




2N

§

N // B 71.ai 1 6/10/15 11:33 AM
Il

@ @
o nxin /AY NEUMO

varqus

N N7 TML 7' 7NN

vvivarqus

nnnnnnnnnnnnn 9 Group

a91'77n 77N

1'nn /‘ 'nn / n”n NITN

ojuonndOP N”"wapwyIam D2 D1 D L1 L 2 n'w

10.- K2T 6.50 | SN2TM 11.5 8.9 25 170 125.0 645.- TMLC25-2

20 186 25 250 1250 | 645- TMLC25-3

1055 KsT  [NesOy  SNaT 220 186 25 635 1250 | 69- BTMLC25-3
190 155 20 440 95 | T7H0- BTMLC20-3B
10-| KT [ 6501 SN3T 20 186 25 635 1250 | 755- BTMLC25-3B

300 240 25 920 1500 | 645- TMLC25-5

15- | Ko | 850 SNoTM 370 310 32 980 1600 | 740- TMLC325
22- | K0T | 650 SwmiT 160 380 40 930 1680 | 855~ TMLC40-6B

TMC25-3 :NINTN NNAIT

(1 Course Pitch nDA NY'0O D2'"12N 1AY 124.. TM '7'ThDND
-

a91'7°n 77N

1'nn /‘ 1'nn n”’p NITn
0110 NNON anwy nn D

10.- K7T 6.50 SN7T 9.0 6.7 20 150 85 585.- | TMMC20-6.0 124/003
10.0 7.4 20 155 77 520.- TMC20-2 124/005
10.- KoT 6.50 | SN2TM 12.0 9.0 20 155 77 520.- TMC20-2 124/006
10.0 7.4 20 155 77 520.- TMC20-2 124/009
10.- K3T 6.50 | SN3TM 155 12.2 16 205 91 520.- TMC20-3 124/001
5. KaT 850 SNATM 18.0 13.4 25 300 88 585.- TMC25-4 124/002
' : SA4TM 20.0 16.0 25 400 98 585.- TMC25-4 124/007
15 K5T g50 | SASTM 25.0 19.0 25 400 98 645.- TMC25-5 124/004
' ' SN5TM 22.0 16.4 25 400 98 645.- TMC25-5 124/008

TMMC 20-6 124/003 :nINTN NNAIT

www.vargus.com 1INX1 0'S0Il D'0YD

/s [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ .
- EEEEE & &




V2
|

2N

\

@ B 72.ai 1 6/10/15 11:32 AM

@

@

@

o121 "XID ' neumao

vvivarqus

nnnnnnnnnnnnn 9 Group

varqus

NEUMO Ehrenberg Grou

™™ nin'w y7'7nn

NPT, NPTF, BSPT 0™Ij7 D'2'1AN7 TML '7'7ThN

a1'7'n '7'7n

/‘ / 0"irn Al
arnn a1rnn n”n NITn 1NN RH rl'TnD'l nnw
D{71I0 NNON awiann D2 D1 D L1 n"v
0- . | 680| SNST | 150 125 16 200 900 | 455- | TWNCIGS
10- 650 | SN3TM | 190 150 20 230 850 | 455- | TMNC20-3
170 130 16 29.0 795 | 475- | BIMNC16.38
10-| KT 1650 | SN3T =o' —r 020 200 815 | 520- | BINMNC20-38
10- | KT | 650 | SNATM | 370 310 32 580 120.0 | 610~ | TMNC325

TMNC20-3 :NINTN NNAIT

LH. 701 WONYAT &' "L" NINIODA NIDW DY JINNY <
0707 “LH 01N XY 7'TND NINTNY <

NIN'Y AIT7 TM2 '7'TND

a1'77n 77N
Inn /‘ Inn / n”n NITn
07110 NNdH nnw7 i D1 D L1

10.- KoT 6.50 | SN2TM 17 14.4 20 200 85 645.- TM2C20-2
26 22.5 25 430 100 805. TM2C25-3

10.- K3T 6.50 SN3T
26 22.5 25 460 1042 985.- BTM2C25-3B

15.- K5T 6.50 | SN5TM 42 36.0 32 450 120 925.- TM2C32-5

15.- K30T 6.50 | SM7T 52 44.0 40 650 1372 | 1065.- TM2C40-6B

TM2C32-5 :NINTN NNAIT

@

-

www.vargus.com 1INX1 0'S0Il D'0YD

/872 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

2D




2N

N2

@

// B 73.ai 1 6/10/15 11:32 AM
Il

o127 "XIN

vvivarqus

nnnnnnnnnnnnn 9 Group

™™ nin'w y7'7nn

TIT'Y DY NIN'Y 2T = TMO '{7'Thh

@

@

vNeumo
varqus

NEUMO Ehrenberg Grou

91'7'n 77N

8

0jNI0 NNON

/

n”n NITn

amwina D2 D1 D L1

L

'N1IDI 1IX'N

D'a'"n
'N"1O

nixn

1'ND
n"v

D"pn

7112
nnw

48/32/16UN 16UN 610~ | TMOC20-2-1
20w 48/24/18UN 24/18UN 610.- | TMOC20-2-2

D8[14W 28/14UN 28/14UN 610.- | TMOC20-2-3

20UN 20UN 610.- | TMOC20-2-4

KaT SN2TM  [14511.9) 20 | 25| 90 26W 610.-_| TMOC20-2-5
m m 20W 610.- | TMOC20-2-6
19W 610.- | TMOC20-2-7

10- 6.50 0.5/1.0/1.51S0 1.0.5150 610.- | TMOC20-2-8
48UN.0.75/S0 0.75150 610.- | TMOC20-2-9

125150 1.25150 610.-_|[TMOC20-2-10

0.5/1.5150 15150 665.- | TMOC20-3-1

26W 13UN 130N 665 | TMOC20-3-2

32/28UN 280N 665~ | TMOC20-3-3

27UN 270N 665.- | TMOC20-3-4

1 5NPS 11.5UN 665.- | TMOC20-3-5

26120718/ 16/14712W TANPS | 24/20718/16/147T2UN| 241207 18716714712UN | 665.~ | TMOC20-3-6

K3T SN3T | 20 [16.6| 20 | 43| 95 20W 125150 125150 665.- | TMOC20-3-7
[(n"w) von [ (") van| TOW 665 | TMOC20-3-8
0. 650 TIW 665- | TMOC20-3-9
0.5/1.0/2.0150 102090 665.- | TMOC20-3-10

320N, 0.71S0 0.75150 665.- | TMOC20-3-11

175150 1.75150 665.- | TMOC20-3-12

T4W D42018]14/13[1TUN | 24/20/18/14/13/12UN | 765~ | TMOC25-5-1

12W 24/18/12/6UN 24/18/12UN 765-_ | TMOC25-5-2

16W BNPS 16UN 16UN 765-_ | TMOC25-5-3

1477W T4UN T477UN 765 | TMOC25-5-4

11 5NPS 11 50N 765.- | TMOC25-5:5

TIW T1UN 110N 765.- | TMOC25-5-6

10W 10/5UN 10UN 765.- | TMOC25-5-7

KsT SNSTM | 30| 24 | 25| 52 [110 oW 9UN 9UN 765- | TMOC25-5-8
[(n"0) van [ (n"w) a0 8W 8UN 8UN 765.- | TMOC25-5-9
5. 050 7UN 765 | TMOC25-5-10

' : oW 6UN 765- | TMOC25-5-11
T0R2.025/405.0150] 10720252050 | 765~ |TMOC25-5-12

125150 1.25150 765.- | TMOC25-5-13

) 1502545150 765.- | TMOC25-5-14

175150 1.75150 765- | TMOC25-5-15

10/5/30535150 | 1.0/1553.0/35150 | 765~ |TMOC25-5-16

TMOC20-3-7 :nNINTn NNAIT

www.vargus.com 1INX1 0'S0Il D'0YD

/87 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

2D



V2
|

2N

\

@

@ B 74.ai 1 6/10/15 11:32 AM

o121 "XID ' neumao

varqus

NEUMO Ehrenberg Grou

™™ nin'w y7'7nn

(0ATIVO NIN'Y) NNN NI'D DY D'A'AN YINAT7 TMS 7'TNN

vvivarqus

nnnnnnnnnnnnn 9 Group

qi'7n '7'7n

n”"n NiTn

D L1

D1

N”Y DIL NNBN N"W AW A D2

10.- TMSC10-2

® EEEEE

AT 77NN DY TM 2NN YINAT7 N'OITI00 NN NN'YA UPNWAT W' <

TMSC10-2 :nINTN NNAIT
J0NND ANANT7 RH. NMN1IO NN'WAI IIND ANINYT LH DIIND AN UNNWNT W' <

(V NI'7i7'001 NID'Y) NNN N2'D DY D2M2N YINRAT7 TMV 770D

a17'n 77N

1'nn n”"n NITn
N”Y OjNIL NNON N"W AW D1 D L1
15.-

TMVC32-5

TMSC10-2 :1InTn NDAT (T=6) 1.C. 5/8” N'77'011 NN NN'WI YNNWNT W' <
201D ANANT RH. N'N1ID NN'WAL XA ANANT LH. NIIND DDA UNNUNT W' <

www.vargus.com 1NX1 0'S0Il D'0YD

/874 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

@




2N

N

N // B 75.ai 1 6/10/15 11:31 AM
Il

@ @
o nxin /AY NEUMO

varqus

T™M NIN'Y-11 NiIAnan DID1D URIY

vvivarqus

nnnnnnnnnnnnn 9 Group

"—H

.......

Cutter Drive
1SO 240-1975 (mm)

91'77n 7N
‘ / 10N
1rnn 1NN nin'v n”’n NITn [0 347 ) »)
'inn 0;7I0 NNON w7 nn dH7 D2
7- | M8x35 6 40.0 160 380 2125 | TMSH-D38-16-2
10.- HK2T 6.50 | SN2TM
7- | M10x35 8 40.0 220 500 2125- | TMSH-D50-22-2
7- | M10x35 6 40.0 220 500 2125 | TMSH-D50-22-3
10.- HK3T 6.50 | SN3TM
7- | M10x35 6 40.0 220 630 2195- | TMSH-D63-22-3B
7- | M10x35 | 15. HK5T 9- | SN5TM 4 450 220 630 2195 | TMSH-D63-22-5
7- | M10x35 | 15 HK7T 6.50 | SM7T 4 50.0 220 630 2195 | TMSH-D63-22-6B
9- | M12x40 | 15- HK5T 9- | SN5TM 6 50.0 270  80.0 2490.- | TMSH-D80-27-5
9- | M12x40 | 15- HK7T 6.50 | SM7T 5 50.0 270 800 2490.- | TMSH-D80-27-68
9.- | M16x40 | 15- HK5T 9- | SN5TM 7 55.0 320 1000 | 2625- | TMSH-D100-32-5
9- | M12x40 | 15- HK7T 6.50 | SM7T 6 55.0 320 1000 | 2625- | TMSH-D100-32-6B
9- | M20x50 | 15. HK5T 9- | SN5TM 9 63.0 400 1250 | 2875- | TMSH-D125-40-5
9- | M20x50 | 15- HK7T 6.50 | SM7T 8 63.0 400 1250 | 2875- | TMSH-D125-40-6B

TMC12-2 :nINTN NNAIT

www.vargus.com 1NX1 0'S0Il D'0YD

/875 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

. .
® EEEEE




V2
|

2N

\

@

@ B 76.ai 1 6/10/15 11:31 AM

o1Pll

v /A NEUMO

NEUMO Ehrenberg Grou

varqus

NEUMO Ehrenberg Gro

vyyivargus D'a"2N DI01D7 VARDEX NIN'Y

TMSH / TM "77'TNN7 QI7°n '777N

1NN 1 AW 7ITD 21 'inn
nn 2720 vAn anan v”gn  I'Nn

10.- K7T 8- |M2.2x045x50| SN7T : TMMC..-6.0
10.- KT 8- |M26x0.45x4.5| SN2TM * TM.C..-2
10.- K3T 8.- UNC5x.374 SN3T* * T™.C.-3
10- K3T 8- | UNC5x374 | SN3T * BTM.C..-3B
15.- K4T 8.- UNC8x.421 | SN4TM** * TMC. -4 124]...
15.- K5T 8- | M5x0.8x15.0 | SNSTM™* * TM.C..-5
20- K30T 8- | M5x0.8x150 | SM7T : TM.C-68B

15 HK2T 8- M8X35 8- | UNC5x315 | SN2TM * TMSH-D38-16-2
15.- HK2T 8.- M10X35 8- | UNC5x315 | SN2TM : TMSH-D50-22-2
15.- HK3T 8- M10X35 8- | M5x0.8x15.0 | SN3TM * TMSH-D50-22-3
15.- HK3T 8.- M10X35 8- | M7x1.0x150 | SN3TM : TMSH-D63-22-38
15.- HK5T 8- M10X35 8- | M5x0.8x15.0 | SN5TM * TMSH-D63-22-5
15.- HK7T 8.- M10X35 8- | M7x1.0x150 | SM7T : TMSH-D63-22-68
15.- HK5T 8- M12X40 8- | M5x0.8x15.0 | SN5TM * TMSH-D80-27-5
15.- HK7T 8.- M12X40 8- | M7x1.0x150 | SM7T : TMSH-D80-27-68
15.- HK5T 8- M16X40 8- | M5x0.8x15.0 | SN5TM * TMSH-D100-32-5
15.- HK7T 8.- M16X40 8- | M7x1.0x150 | SM7T : TMSH-D100-32-68
15.- HK5T 8- M20X50 8- | M5x0.8x15.0 | SN5TM * TMSH-D125-40-5
15.- HK7T 8.- M20X50 8- | M7x1.0x150 | SM7T : TMSH-D125-40-68

@

-

{Weldon) [IT71 D7 DINI 71NN 727 <

700N V7NT7 CW 9'0INT W' (Clarkson/Weldon) |IT711/]I0[717)7 D17 MINTNT <

.SN3TM 11121 UNNWN TMNC20-3 / TMC-3 124/001 {7'TNN 1Y *

.SAb

.SA4TM 1102 WNNWN TMC 124/007 77NN MY **
TM 11122 WNNWUN TMC-25 124/004 {7'TNN WY ***

www.vargus.com 1INX1 0'S0Il D'0YD

/87 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

@

2D



WA B 77.ai 1 6/10/15 11:31 AM
2>

@ @
: vneumo
DI MIXID Varqus

NEUMO Ehrenberg Group

vyyivargus D'2'12aN DI01D7 VARDEX NIN'Y

NEUMO Ehrenberg Gro

NIN'Y-11 j7*7ThN OY 02" 12N D101
Multi-Flute Indexable Thread Milling

VBX, VTX - WIN'W7 W'7NN 210
D770 D'WIN'YWYTI NIT797 TiCN 19'Y
NODNM TAW7 '7XTR TIAIN 1O'Y

Shell Mill

.N122 O7'N2 NTIAYT7 7'TNNA NIN'Y 8 TV @
.N"N 17.0-N 7NN NTIAY WIj7

D'7INY D'NT72 D'2'12N YINA] NI NIA'Y' @
NNI22 NIN'Y7 e

DYINITRY VT N7 NIYXDNA N7 @

.Shell Mill D'S7nNN DIDD 'UN

www.vargus.com 1NX1 D'S0Il D'0YD

/87 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

® EEEEE




Sz

@

22, B 78.ai 1 6/10/15 11:30 AM
E
ZIN

o127 "XIN

vneumao

@

@

varqus

NEUMO Ehrenberg Grou

wvivargus D'A'2N DI0D1D7 VARDEX NIN'Y

NEUMO Ehrenberg Group

L
UTTIUU ab'V

nup an'w

R25 NInNv
r'mnn DY NN 0"{n ny'oo L liin
Zt Le n"v tpi n"n n"n
24 | 240 185.- R2511.001SOTM... 1,00
(B)RTMC... 16 | 24.0 185.- R2511.501SOTM... 1,50
o' 7 12 24.0 185.- R2512.00I1SOTM... 2.00 25 ISO
0 | 250 185.- R2512.501S0TM... 250
noN7 Nyn NX ¥ 8 24.0 185.- *R2513.00ISOTM... - 300
9 | 2413 | 185~ R25120UNTM. . 20 -
17 | 2399 | 185.- R25[18UNTM. . 18
(B)RTMC... 15| 2381 | 185. R25116UNTM... 16
0mATn 7 13 | 2358 | 185 R2514UNTM... 14 . UN =
11 2328 | 185.- R25112UNTM... 12
9 | 2086 | 185.- R25110UNTM... 10
N'0ITIVD NP’
T 8 | 2058 | 185.- *R2519UNTM... 9 000 A0
7 | 2220 | 185. “R25I8UNTM... 8
15 | 2381 | 185. R25E116WTM... 16
(B)RTMC... 13 | 2358 | 185.- R25EI14WTM... 14 o W
AT ‘7 11 2328 | 185. R25EI12WTM... 12
10| 2309 | 185. R25EI11WTM... 11
11 1996 | 185. R25E114NPTTM... 14
11 24.3 185.- R25E111.5NPTTM... 115 2% NPT
RTMNC... 11 19.96 | 185. R25EI14NPTFTM... 14 o5 NPTF .
AT ' 11 243 185.- R25E111.5NPTFTM... 115 W
11 1996 | 185. R25EI14BSPTTM... 14
10 | 2300 | 185.- RO5EIT1BSPTTM... 1 25 BSPT N7 'Y
RTMC2517 1NN7 NINKNN [IX 8UN29UN, 1S03.0 NIN'W *
R25NC 'I'7'D Nh'w
rnn 7'inn DYy 1O0N 0"{n I8
n"w n"n
3 (BIRTMC... . nipym o D"y N77 -
85. g DT R25NC 25 -

@

-

QM7 DUNYN NIX WK NYINT NWNWH 17D NN'Y *

www.vargus.com 1INX1 0'S0Il D'0YD

/87 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

7N



V2
U

@

2
N

@ B 79.ai 1 6/10/15 11:30 AM

o127 "XIN

vneumao

varqus

NEUMO Ehrenberg Grou

NEUMO

Ehrenberg Group

D"OUITIVD DA"NANT7 MATM '7'ThD

wvivargus D'A'2N DI0D1D7 VARDEX NIN'Y

@

@

D2 > 0.7 x 2NANA 7 "72'NIA 07N AWND TRI'NDA YIN) W'y

£ & D"0ITIVO DAAMANYT — RTMC
NN 0{7110 NN An NIvIn 'on (n”n) nITn NN 0"{n nn'y NIX
n"v A + n"v Z D2 D1 D L1 L n"v n"n
2 17 | 14 | 25 | 26 | 85 | 665~ | RTMC2517-2652
2 77 | 74 | 2 | 36 | 9 | 665~ | RTMC 2517-3652
3 205 | 167 | 25 | 37 | 9 | 785- | RTMC 25203753
SLS4IPs 3 205 | 167 | 25 | 44 | 103 | 785~ | RIMOC 25204453
15.- 6.50
KIPe (M4x0.7) 3 22 [ 18 | 25 | 43 | 102 | 785 | RIMC 2522-4353 25
3 2 [ 18 | 25 | 55 | 114 | 785 | RIMC 2522-5553
5 30 | 2 | 2 | 55 | 115 | 785 | RIMC 2530-5555
1 30 | 2 | 25 | 80 | 140 | 1565- | BRTMC 2530-8054
RavAl 0j7710 112N UNNUn *
'0TIV0 7'ThN] l"!':ll] DA NN
21anY7 "1 i NN
BSP(G) BSF UN/UNF/UNEF/UNS UNC ISO n”"n b2
(fine) (coarse)
Tlg-11:7/g-12: | 7/g - T0UNS; 13/15 - 12UN: 7/g - 14UNF; RTMC 2517-26S2
1 _14 ) ) ’ ’ ’ . .
P 14Tl 16 | Sl 16UNF. 3~ 18US: 3 - 20UNEF MTO1; M19x1.5; M20x2 | M20x25 | 17| 5y 9517-3652
Yot |1 Ti1-12 | Sha- 19UN: 1 - TOUNS; g 12UN: V22T M23X1 5, M232: | (o | g0 | RTMC 2520:3753
8 1-14,1-16 | 1- 14UNS; 18/34 - 16UN; s - 18UNS; 7Js - 20UNEF M23.5x2.5 © | RTMC 2520-4433
Sa-1a |1 T1i1-12 | Tha-BUN;T- SUN: 1- TOUNS; 1- 2UNF; o VR M ENDBR | | by | RTMC 2522.4353
4 1-14:1-16 | 1- 14UNS; 1- 16UN; 1 - 18UNS: 15/s5 - 20UNEF M25x2.5 X RTMC 2522-5553
oy |1 11 - 2] 15~ 8UN; 195 - 9UN: 19 - TOUN: 157c- 12U M32x1: M32x1 5 M33xe. 2 | RTNC 25305555
1 18- 14135 - 16| 13/ - 14UNS; 15/16 - 16US: 15/15 - 18UNEF; 15/35 - 20UN M33x2.5: M34x3 BRTMC 2530-8054

(ID'D DY MDY T¥

[IN'D N77 N TN

www.vargus.com 1INX1 0'S0Il D'0YD

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

7Y ININ2 NIN'WA 72 D1DN THN

@

7N



N2

Y

@

@

-

2 @ B 80.ai 1 6/10/15 11:30 AM
N

o127 "XIN

vNeumo
varqus

NEUMO Ehrenberg Grou

vyyivargus D'2'12aN DI01D7 VARDEX NIN'Y

D2 > 0.7

x 2NANA 7¥ "71'nIA 07N AWNRD TRI'DA YIN) N7

V4 . D™I7 D'AANY7 - RTMNC @D
7
rnn LITAlv] rnn An nivin 'on (n”n) nITn rnn 0”in nn'Yv 1IN
n"y an + n"y V4 D2 D1 D L1 L n"y n"n
<Lous 2 177 | 14 | 25 | 2 | 85 | 655~ | RIMC2517-2652
15.- KIPS 650 | o 3 20 | 18 | 25 | 43 | 102 | 655- | RIMC 25224353 25
| 4 28 | 2 | 25 | 43 | 103 | 785- | RINC 25284334
7272 07110 201 Wonw *
17 'TNNA YINY DRANANN
21M2n7 *70'10 01 D
BSPT NPTF NPT "D D2
Vo146, 3a- 14, 1-11; Vo 14, g - 141 -5, 1a-115; | Yo 14 14 1-511; g - 115 ]
11fa- 1,11 - 11,2- 11 11-115,2-115 11p-115.2- 115 7 RNC 2517-2652
o145 111, s 11,1211, 2-11, | 3a-14,1-511; 14~ 115, o 14 1-511 12115
21fp- 11,3 11,4 11,5- 11,6 - 11 11fp- 115.2- 115 11p-115,2-115 22 RTMC 2622-4353
111,110, - 11,2 11; 1115, 114115, 1115, 114~ 115,
Dp-11,3-11,4-11,5- 11,6 - 11 11-115,2-115 11p-115,2- 115 2% RTNC 25284354

N7yUN 1973 NIN7 2N [IN'DN N7 NN

IN'D X77 T¥

www.vargus.com 1INX1 0'S0Il D'0YD

B8O [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

@

@

7N



\///
£

@ B 8l.ai 1 6/10/15 11:29 AM

@

@

-

o127 "XIN

@

@

vNeumo
varqus

NEUMO Ehrenberg Grou

NEUMO Ehrenberg Group

Shell Mill DID1D UNY MIETM

wvivargus D'A'2N DI0D1D7 VARDEX NIN'Y

Di1=Da !
-_-,_-.{._-_i_ 1 L
Adaptor not included
MWON Shell Mill 7'TNNY7 NNAIT
Yy ‘ 1171 'OITIVD Shell Mill 97NNN WX
‘ -
n oj7IL an NIRYIN 'On (n"n) NITN Tnn 0"iin anw MIN
"D 0 + z D2 | DI | dH7 | H L n"y n"n
M8x30 5 36 32 | 16 [335 1850.- | RTMC-D36-16-25S5 | 25
M10x35 kI8 SLD4IP8 6 44 40 | 22 38 2135.- [RTMC-D44-22-2556 | 25 |m'01T00
M12x30 (M4x0.7) 8 52 48 | 27 40 2680.- | RTMC-D52-27-2558 | 25
M8x30 5 36 32 16 335 2275.- | RTMNC-D36-16-2555] 25 naig
7. 35.- 18.- (n"w) 1nn N7 N7 DY DTN 70 ¢
271 07110 + 11201 WNNWAT W1 **
(7'ThN21 YyIN1Y7 D"DITIVON DA'MANN
272nY7 '7nn i nn
BSW BSP(G) UN/UNF/UNEF/UNS ISO (fine) n”"n b2
13/4-16 19/16 - 12UN; 15/g - 14UNS; 19/16 - 16UN;
1g-11 , , , - - 39x2: -D36-16-
8- 12 4 {1 18UNEE: 17/ - 20N 38x1; 39x1.5; 39x2; 40x3 36 |RTMC-D36-16-2555
2-16 1 17/g - 12UN; 113/16 - 16UN: 11316 - 20UN; , oo,
5.1 2-11 115/15.- 8UN: 175 10UNS. 17/s - 14UNS 48x1; 48x1.5; 48x2; 48x3 44 | RTMC-D44-22-2556 {01100
21/4- 16 ] 214 - 18UN; 21/4 - 20UN; 21/4 - 8UN; , Cipn AL
21)a-12 2-1 D)2 12UN: 2%a - 10UN. 2V - 14UN. 21fa- 16UN | 20T: B5X1.5; 56x2; 55x3 52 |RTMC-D44-22-2586
7'ThnN2 yiNI7 D"Mi7n DA 1aNn
A72N7 '1N''n I '1inn
BSPT NPTF NPT n”"n b2
11/ - 6x11 Ms-11511-115; 2-115 1)4-115;11p-115;2-115| 36 |RTMNC-D36-16-2535| "7

www.vargus.com 1INX1 0'S0Il D'0YD

/88 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

7N



WA B 82.ai 1 6/10/15 11:29 AM
2>

@ @
: vneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

wvivargus D'A'2N DI0D1D7 VARDEX NIN'Y

NEUMO Ehrenberg Group

VIND'Y NI'Nln WiTM

"7 Np'w
NIAYINN 721 D'D'1DN N7¢ Mj7na AN'WN NN QINT [122 NN NDDNT 12N YUNNWN NINNRY7
YUNNUNT7 Y ,MITM NINW j77NN2 DIYIMN V7 970 NN NXYING

NN'Y DI7NA (R25NC) "7 NN'Wn
X217 DA WID'WN NN
DI NN 70 7790 1y 7Y w7
N7 NYINT DAY NDD YinT

NIX7NIN NItnl JIN'N NN

(lw/n”n) ntn Vc (m/min) HB 71 Wiz
NI NN VTX VBX

ninn 210

0.05-0.25 100 - 180 100 - 180 150 (C=0.25-0.55%) nT79 NRIDA0

0.05-0.25 100 - 180 100 - 180 150 (C=0.25-0.55%) N7l NT79 NIDID

0.05-0.25 100 - 180 100- 180 150 (C=0.25-055%) | TMI"0ILOIN TIN-7TN NITID

0.05-0.25 100 - 180 100 - 180 150 (C=0.25-0.55%) NI7YINnD DI'DITR NRIDAD

www.vargus.com INX1 DO'S0I1 D'0YD

. /se8 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

- EEEE & &




2N

N2

// @ B 83.ai 1 6/10/15 11:28 AM @
Il

® ®

on i /AV Oglr"crjﬂg

NEUMO Ehrenberg Group

vwvvarqus VARDEX N7D W“[INN 'NID1D

NEUMO Ehrenberg Grou

Helicool TM 3 Milipro TM ; Deep Threading TM g Straight Flutes TM

ONIYI N7'NYA T'NY TICN '[9'Y DY VTH U"NN
H.D. 211 DNIVA DA'2AN YIN'A7I 77D wIn'wY7

Deep Threading

L

MilliPro

HeliCool Line
N7 'NTi71 7190 7Y DY NN DIDD 77" 70" ,‘m
HeliCool TM
J77190 7'M DY NN DIDYD 77 M
HeliCal
IN M1.6x0.35-0 D'A12N7 NIV NIANIN DIDD "NO'7'D” ec
.3D 22N 70y Y 1-72UN
MilliPro TM
22 70IY7 NINAN DIDD . (w_a
Deep Threading TM
TNY TIAIS 19'Y DY VTS W'7NNK W' 7IYN DY NINAN DIDD
D775 NITIAY7 W1 .DI0D NITIAY7 TN 1IN .0NIYAI N7'NYA
Straight Flutes TM

www.vargus.com INX1 0O'S0I D'0ID

[/ se8 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

® EEEEE




WA B 84.ai 1 6/10/15 11:28 AM
2>

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

vwvivarqus VARDEX N7n W“i7NN 'NID1D

NEUMO Ehrenberg Group

“Hi7"1n” Helicool 'NID1D ﬂ

/8P External|

1.5 x Do (L1 < 1.5 x 212N 017 g N7 oy oo 7iyn D

Y7nIn NTi7n I DMWY (NI7YN ‘'O (n”n) NIT'N NN 'S V"N ny'nd 27n
*(n"n) £0.05 Zt z L1 | Le L D2 | D n"v n"n M Fine M Coarse
25 9 3 471 45| 451 240 4 415.- | HC04024L04-10.501SO TM...| 0.5 A3.5- 15405 1335
3.3 9 3 66| 63| 45| 315 4 415.- | HC04031L06-10.70ISOTM...| 0.7 Mxd.7
4.2 9 3 76| 72| 45| 390 4 415.- | HC04039L07-10.80ISO TM...| 0.8 1543
5.0 9 3 951 90| 57 | 480| 6 535.- | HC06048L09-11.00ISO TM...| 1.0 A3-V43x1.) A3x1.)
6.8 10 3 1311 125] 61 | 650 8 595.- | HC08065L13-11.25ISO TM... | 1.25 13x1.25
8.5 10 3 1671160 73 | 820| 10 645.- | HC10082L15-11.50ISO TM...| 1.5 N12-143x1 5 M5
10.3 10 4 184 [ 1751 73 1 990 10 645.- | HC10099L18-1.75ISO TM...| 1.75 N2<1.75
12.0 10 4 2101200 73 [1160] 12 845.- | HC12116L21-12.00ISO TM...| 2.0 M7-U3)¢2.) 14429
14.0 12 4 25601240 92 [1360| 14 925.- | HC14136L25-12.001S0 TM...| 2.0 M7-U33¢2) N15429

2 x Do (L1 < 2 x 212N I{7) Y7 ‘N1 oy 7vvo 7iyn (D

Y70In n1i7n 20177| 01w [NiTyn ‘on (n"n) NITn *nn 1O V"IN ay'0o Amn

*(n"n) £0.05 | Zt Z L1 |l |L |D2|D | nw n"n | MFine M Coarse
25 12 3 62 60| 45 | 240 4 | 415 | HC04024L06-10.501S0 TM...| 0.5 M3.5-M16x0.5  M3x0.5
35 16 3 82| 80| 45 | 320 4 | 415 | HC04032L08-10.501SO TM...| 05 M4x0.5
45 20 3 1021100 | 57 | 420] 6 | 536~ | HC06042L10-10.501S0 TM...| 0.5 M5x0.5
33 12 3 87| 84| 45 | 315] 4 | 415 | HC04031L08-0.701SO TM...| 07 M4x0.7
53 16 3 1241120 ] 57 | 500] 6 | 585- | HC06050L12-10.751SOTM...[ 075 | M6x0.75
42 13 3 108 [ 10.4 | 45 | 3.90] 4 | 415~ | HC04039L10-10.80ISO TM...| 0.8 M5x0.8
50 12 3 125|120 | 57 | 480] 6 | 535~ | HC06048L12-11.001S0 TM...| 1.0 M8-M40x1.0 _ M6x0.1
7.0 16 3 1651160 | 61 | 670] 8 | 595.- | HC08067L16-11.001SO TM...| 1.0 M8x1.0
9.0 20 3 2051200 73 [8.70] 10 | 645 | HC10087L20-1.001SOTM...| 1.0 M10x1.0
11.0 24 4 245240 73 [1070] 12 | 845.- | HC12107L24-11.001SO TM...| 1.0 M12x1.0
6.8 13 3 169162 | 61 | 650] 8 | 595.- | HCOB065L16-1.25IS0 TM...| 1.25 M8x1.25
8.8 16 3 206 | 200 | 73 | 850| 10 | 645 | HC10085L20-11.25ISO TM... M10x1.25
85 13 3 202 [195| 73 [ 820] 10 | 645.- | HC10082L20-11501SO TM...| 1.5 M12-M48x1.5  M10x1.5
105 16 4 247 [ 240 ] 73 [ 990] 10 [ 645.- | HC10099L24-1150ISOTM..[ 1.5 M12x1.5
125 19 4 202 [ 285 | 80 [11.90| 12 | 845.- | HC12119L29-150ISO TM..| 1.5 M14x1.5
145 21 4 3221315 92 [1390] 14 | 925.- | HC14139L32-1150ISOTM..| 1.5 M16x1.5
10.3 14 4 254 245 73 [ 990] 10 | 645 | HC10099L25-1.751S0 TM...| 1.75 M12x1.75
120 14 4 200280 | 80 [11.60] 12 | 845.- | HC12116L29-12.00SO TM...| 2.0 M17-M80x2.0 __ M14x2.0
14.0 16 4 3301320 92 [1360] 14 | 925 | HC14136L33-2.001S0 TM...| 2.0 M17-M80x2.0  M16x2.0
15.0 14 4 3621350 92 [1480] 16 | 990.- | HC16148L36-12501SOTM...| 25 M18x2.5
175 16 4 4121400 [ 102 [17.10] 18 | 990. | HC18171L41-2501S0 TM...| 2.5 M20x2.5
21.0 16 4 495 [ 480 [ 102 [1990] 20 [ 1210 | HC20199L49-13.001SO TM..[ 3.0 M24x3.0

NI (07N AN 0177 DINNN NT7HR 017 * 272N 1IN DIDO7N = L1 -w

www.vargus.com 1NN 0O'S0I11 0'0YD

| 88 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

- EEEEE & &




WA B 85.ai 1 6/10/15 11:28 AM
2>

@ @
: vyneumo
DI MIXID Varqus

NEUMO Ehrenberg Group

WAAETIIER "'1i7'Tn” Helicool X70 W”{INN 'NID

gy m 2
1.5 x Do (L1 < 1.5 x 22N 0Ij7) 7 'nTi7 oy ‘700 7iyn D
YInin N0 01| 0"w [nivyn ‘on (p"p) NITD nn Mo v"In  |aYod Mn
*(n"”n) +0.05 Zt z L1 Le L D2 D n"v tpi | UNEF UNF UNC
3.8 7 3 79| 74| 45 | 358| 4 415.- | HC04035L07-I24UNC TM...| 24 | 9/16"-11/16"x24 516", 3/8"x24  NO.12x24
4.5 8 3 90| 85| 57 | 415] 6 535.- | HC06041L08-I24UNC TM...| 24 | 9/16"-11/16"x24 516", 3/8"x24  NO.12x24
5.1 7 3 95| 89| 57 | 483 6 535.- | HC06048L09-I20UNC TM...| 20 | 3/4™-1"x20 716", 112'x20  1/4'x20
6.6 8 3 120 11.3] 61 6.15] 8 595.- | HC08061L11-118UNCTM...| 18 | 11/16™-111/16"x18  9/16",5/8'x18  5/16'x18
8.0 9 3 151 143 61 765 8 595.- | HC08076L15-116UNC TM...| 16 3/4"x16 3/8"x16
9.4 9 3 1721 163 73 | 9.00| 10 645.- | HC10090L17-114UNC TM...| 14 7/8"x14 7/116'x14
10.9 10 4 205 195 73 [10.35] 12 845.- | HC12104L20-113UNC TM...| 13 1/2'x13
12.3 10 4 220 21.2] 73 |11.80] 12 845.- | HC12118L22-112UNC TM...| 12 1"-11/2"x12 9/16'x12
2 x Do (L1 < 2 x 272N 10I77) vy 'nT oy oo ‘iyn QD
Y"mn NTyn WIg|D"M'Y ni7yn ‘on (D"D) nimrn rnn 'N15 L"{TN ny'ns 212N
*(n"n) £0.05 Zt z L1 Le D2 D n"v tpi | UNEF UNF UNC
4.0 12 3 991 95 45 380 4 415.- | HC04038L09-I32UNF TM... | 32 | N0.12-3/8x32 NO.10x32
4.7 14 3 11.5[11.1 57 440 6 535.- | HC06044L11-I32UNF TM... | 32 | N0.12-3/8x32
4.6 12 3 11.3110.9 57 430 6 535.- | HC06043L11-128UNF TM... | 28 | 7/16" 1/2'x28 NO.12, 1/4x28
55 14 3 13.1[12.7 57 515 6 535.- | HC06052L13-128UNF TM... | 28 | 7/16",1/2'x28 1/4"x28
10.2 24 3 2221218 73 9.90| 10 645.- | HC10099L22-128UNF TM... | 28 | 7/16" 1/2'x28
3.8 9 3 100] 75 45 358| 4 415.- | HC04035L10-24UNF TM... | 24 | 9/16" 1 /16"x24 516", 3/8"x24  NO0.10x24
4.5 10 3 11.1110.6 57 415 6 535.- | HCOB041L11-I24UNFTM... | 24 | 9/16"-11/16"x24 516", 3/8"x24  NO.12x24
6.9 15 3 16.4115.9 61 6.68 8 595.- | HCOB066L16-124UNF TM... | 24 | 9/16"-11/16"x24 5/16", 3/8"x24
8.5 18 3 19.6119.0 73 8.20] 10 645.- | HC10082L19-124UNF TM... | 24 [ 9/16"-11/16"x24 3/8'x24
13.2 27 4 29.1128.6 92 [12.90] 14 925.- | HC14129L29-124UNFTM... | 24 [ 916"-11/16"x24
5.1 10 3 13.312.7 57 488 6 535.- | HC06048L13-120UNF TM... | 20 | 3/4"-1"x20 716", 1/2'x20  1/4'x20
9.9 17 3 2221216 73 9.60f 10 645.- | HC10096L22-120UNF TM... | 20 | 3/4"-1"x20 7/16",1/2"x20
11.5 20 3 26.01254 80 | 11.10[ 12 845.- | HC12111L26-120UNF TM... | 20 [ 3/4"-1"x20 1/2"'x20
17.8 30 4 3871381 | 102 | 17.40] 18 990.- | HC18174L38-20UNF TM... | 20 | 3/4"-1"x20
6.6 11 3 16.2[15.5 61 6.15] 8 595.- [ HC08061L16-18UNFTM...| 18 11/16” 111/16'x18  9/16",5/8'x18  5/16'x18
13.0 20 4 2891282 92 | 1250 14 925.- | HC141251L28-18UNF TM..| 18 | 11/16"-111/16"x18  9/16",5/8"x18
14.6 22 4 31.7131.0 92 [ 1410 16 990.- | HC16141L31-H8UNFTM...| 18 | 11/16"-111/16'x18  5/8"x18
8.0 12 3 19.8[19.0 61 765 8 595.- [ HC08076L19-H6UNFTM..| 16 3/4"x16 3/8"x16
17.5 24 4 38.8(38.1 [ 102 |17.00] 18 990.- | HC18170L38-HBUNFTM...| 16 3/4'x16
9.4 12 3 22.7121.8 73 9.00] 10 645.- | HC10090L22-[14UNF TM... | 14 7/8"x14 7/16'x14
20.5 24 4 4441435 | 102 | 19.90] 20 1210.- | HC20199L44-114UNFTM...| 14 7/8"x14
10.9 13 4 26.4125.4 80 |10.35| 12 845.- | HC12104L26-113UNF TM... | 13 1/2'x13
12.3 13 4 286|275 80 |[11.80| 12 845.- | HC12118L28-1T2UNF TM... | 12 17112 12 9/16'x12
23.5 24 4 51.9150.8 | 102 | 19.90] 20 1210.- | HC20199L51-1T2UNF TM... | 12 1"-11/2x1
13.7 14 4 3351323 92 [13.10f 14 925.- | HC14131L33-H1UNFTM... | 11 5/8"x11
16.7 15 4 39.4138.1 92 [15.90] 16 990.- | HC16159L39-[1OUNF TM... | 10 3/4"x10
19.5 16 4 46.6 145.2 | 102 | 19.00] 20 1210.- | HC20190L46-19UNF TM... 9 7/8"x9
22.0 16 4 5241508 | 102 | 19.90| 20 1210.- | HC20199L52-I8UNF TM... 8 1'x8
AN V7N 272NN 077 DRND NT70N 017 * 12N X DID'OFD = L1 -@

www.vargus.com INN21 0'S0I11 0O'0YD

/88 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

. .
- EEEEE & &




WA B 86.ai 1 6/10/15 11:27 AM
2>

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

WAAETIIER "'1i7'Tn” Helicool X70 W”{INN 'NID

nm o I3
4
Y|
R
External

2 x Do (L1 < 2 x 212N WIj7) 7 'nT7 oy 7o iyn QO

Y'IDID NTEN 01| D"M'Y ni7yn ‘'on (n”n) niITn rnn nix'ni 'n1d V"IN ny'nds 2'1n

*(n”n) +0.05 Zt z L1 Le L D2 D n"v tpi BSF BSW
5.3 13 3 13211271 57 | 500| 6 535.- | HC06050L13-EI26BSF TM... 26 1/4"x26
6.7 14 3 1671162 61 | 635 8 595.- | HC08063L16-EI22BSF TM... 22 5/16"x22
5.0 10 3 133 | 127 | 57 | 445] 6 535.- | HC06044L13-EI20BSF TM... 20 3/8"x20 1/4"x20
8.2 15 3 1971190 | 61 | 765] 8 595.- | HC08076L19-EI20BSF TM... 20 3/8"x20
6.5 11 3 16.2| 155 | 57 | 585]| 6 535.- | HC06058L16-EI18BSF TM... 18 7/16"x18 5/16"x18
9.7 16 3 233|226 731 920| 10 645.- | HC10092L23-E[18BSF TM... 18 7/16'x18
79 12 3 198 19.0| 61 | 720] 8 595.- | HC08072L19-EI16BSF TM... 16 12", 9/16"x16_ 3/8"x16
111 16 4 262|254 | 80 [1050| 12 845.- | HC12105L26-E116BSF TM... 16 1/2", 9/16"x16

12.6 18 4 2941286 | 92 |1215] 14 925.- | HC141221 29-E[16BSF TM... 16 9/16"x16

9.2 12 3 2271218 73 | 850 10 645.- | HC10085L22-E114BSF TM... 14 58", 11/16"x14  7/16"x14
14.0 17 4 3171308 92 |1340| 14 925.- | HC14134L31-E[14BSF TM... 14 5/8", 11/16"x14
15.6 19 4 3541345 | 92 |15.00| 16 990.- | HC16150L35-E[14BSF TM... 14 11/16"x14
10.5 12 3 265|254 | 73 | 9.65]| 10 645.- | HC10096L26-E[12BSF TM... 12 3/4'x12 1/2"x12
121 13 4 286 | 275 80 [11.25] 12 845.- | HC12113L28-E[12BSF TM... 12 3/4'x12 9/16"x12
16.8 18 4 3921 381|102 |16.20| 18 990.- | HC18162L.39-E[12BSF TM... 12 3/4'x12
134 14 4 335]323| 92 |1260| 14 925.- | HC14126L33-E11BSF TM... 11 7/8"x11 5/8"x11
15.0 15 4 358|346 | 92 |1420] 16 990.- | HC16142L35-E11BSF TM... 1 11/16"x11

BSPT

vy 'nT oy oo ‘iyn (D)
Y'"JID NTEN I7| D"1'Y ni7yn ‘'on (n”n) niITn rnn XNl 'Nd "N ny'nd 271an
*(n”n) +0.05 Zt z L1 Le L D2 D n"v tpi Standard
6.7 11 3 1021 10.0 | 57 [ 590| 6 535.- | HC06059L10-EI28BSPT TM... 28 1/16"x28
8.7 11 3 1021 10.0| 61 [ 765 8 595.- | HC08076L10-EI28BSPT TM... 28 1/8"x28
11.8 11 3 15411471 73 | 990| 10 645.- |HC10099L15-EI19BSPT TM... 19 1/4"x19
15.2 11 4 1541147 | 73 [1115] 12 845.- |HC12111L15-EI19BSPT TM... 19 3/8"x19
19.0 12 4 2271218 92 |1425] 16 990.- |HC16142L22-EI14BSPT TM... 14 1/2, 3/4"x14
30.7 12 4 2891 2771102 119.60| 20 1210.- |HC20196L28-EI11BSPT TM... 11 1".11/2", 2" 21/2"x11
I
NI 070 AN 0177 DIKND NT70N 017 * AM2N N DIDOFN = L1 -@

www.vargus.com INN21 0'S0I11 0O'0YD

/88 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

- EEEEE & &




2,
N

N
U

@

@

@ B 87.ai 1 6/10/15 11:27 AM

-

o127 "XIN

vvivargus

NEUMO Ehrenberg Group

@

@

vNeumo
varqus

NEUMO Ehrenberg Grou

"HN'In" Helicool X7n W"NN 'NID

T
h
Y|

B

1.5 x Do (L1 £ 1.5 x 212N 0I{7)

v T oy oo iyn QD

Y70In N0 0177 0vew [ni7yn ‘on) (n”"n) nITn NN NI 0"IN nyIoo aman
*(n"”n) £0.05 zt z L1 Le L D2 D n"v n"n Standard
6.7 13 3 122118 | 61 | 6.40 8 595.- | HCO08064L12-EI28BSP TM... 28 1/16",1/8"x28
8.7 16 3 150 (145 | 73 [ 820 10 645.- | HC10082L15-EI28BSP TM... 28 1/8"x28
11.8 15 4 20.7 1200 | 80 |11.00| 12 845.- | HC12110L20-EI19BSP TM... 19 1/4" 3/8"x19
15.3 19 4 2611254 | 92 |1450| 16 990.- | HC16145L26-EI19BSP TM... 19 3/8"x19
30.8 18 4 427 1416 | 102 |19.90| 20 1210.- | HC20199L42-EI11BSP TM... 11 1"-4"x11
2 x Do (L1 < 2 x 212N 0I{7) AvE N1 oy oo yiyn QD
Y70Ip NTN 017 MY |[niYyn ‘on) (n"n) nITN nn NI V"IN ny'0o aman
*(n”n) +0.05 Zt z L1 Le L D2 D n"v n"n Standard
6.7 17 3 1591 154 | 61| 6.40 8 595.- | HC08064L15-EI28BSP TM... 28 1/16”, 1/8"x28
8.7 21 3 1951 190 73] 820 10 645.- | HC10082L19-EI28BSP TM... 28 1/8"x28
11.8 20 4 2741 26.7 | 80 |11.00] 12 845.- | HC12110L27-EI19BSP TM... 19 1/4”, 3/8"x19
15.3 25 4 3411334 92 |1450| 16 990.- | HC16145L34-EI119BSP TM... 19 3/8"x19
19.1 23 4 4261 41.7 | 102 |1790| 18 990.- | HC18179L42-EI14BSP TM... 14 1/2"-7/8"x14
NI (07N AN 0177 DINNN NT7HA 017 * IMIN N DIN'OFD = L1 -@

www.vargus.com INN21 0'S0I11 0O'0YD

|88 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

2D



\///
£

@

@

@ B 88.ai 1 6/10/15 11:27 AM

o127 "XIN

Yivar

NEUMO Ehrenberg Gro

vyneumo

varqus

NEUMO Ehrenberg Grou

<[] "71i7'Tn” Helicool X7n W”{INN 'NIDY)

W7 'nT7 oy *7voo iyn (D)

Y70In NT770 017 0"rw [Ni7yn ‘on) (n"n) nITn wnn 19 V"IN aY'00 aman
*(n”n) *0.05 Zt z L1 Le L D2 D n"v n"n
6.2 10 3 99| 94| 57| 590 6 535.- | HC06059L09-EI27NPT TM... 27 1/16"x27
84 10 3 99| 94| 61| 765| 8 595.- | HC08076L09-EI27NPT TM... 27 1/8"x27
11.1 10 3 148 [ 141 ] 73 | 9.90| 10 645.- | HC10099L 14-EI18NPT TM... 18 1/4°x18
143 10 4 148 [ 141 73 [11.15] 12 845.- | HC12111L14-E118NPT TM... 18 3/8°x18
17.9,23.0 10 4 19.0 ] 181 92 1425 16 990.- | HC16142L19-EI14NPT TM... 14 1/2", 3/4"x14
29.0,37.7,44.0,5%.0| 10 4 2321 221 ] 102 {19.60] 20 [ 1210.- | HC20196L23-EI11.5NPT TM... 11.5 1", 11/4,11/2", 2'x11.5
66.7, 82.1 10 4 33.3] 31.7 | 102 {19.60] 20 | 1210.- | HC20196L33-EIBNPT TM... 8 21/2"x8; 3"x8
NPTF
€&
17 'nT7 oy 7o iyn QD)
Y'")ID NTEN 017| D"Y'Y ni7yn 'on (n”"n) niITn NN NS V"IN ny'od 271N
*(n”n) +0.05 Zt z L1 Le L D2 D n"v n"n
6.2 10 3 99| 94 57| 590 6 535.- | HC06059L09-EI27NPTF TM... 27 1/16"x27
8.4 10 3 99| 94| 61| 765] 8 595.- | HC08076L09-EI27NPTF TM... 27 1/8"x27
1.1 10 3 148 [ 141 73 | 9.90| 10 645.- | HC10099L14-EI18NPTF TM... 18 1/4’x18
14.3 10 4 148 [ 141 73 [11.15] 12 845.- | HC12111L14-EI18NPTF TM... 18 3/8"x18
17.9,23.0 10 4 190 [ 181 92 [14.25| 16 990.- | HC16142L19-EI14NPTF TM... 14 1/2", 3/4"x14
29.0,37.7,44.0,56.0] 10 4 23.2 | 2211 102 119.60| 20 | 1210.- | HC20196L23-EI11.5NPTFTM...|  11.5 1, 11/4" 11/2", 2'x11.5
66.7, 82.1 10 4 33.3 | 31.7] 102 11960 20 | 1210.- | HC20196L33-EIBNPTF TM... 8 21/2°x8; 3"x8
I
272N NIN DIN'ON = L1 -@

-

www.vargus.com INN21 0'S0I11 0O'0YD

./ B88 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

&
2D



WA B 89.ai 1 6/10/15 11:26 AM
2>

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

WAAETIIER "'1i7'Tn” Helicool X70 W”{INN 'NID

Helicool - R (HCR)

L1
Le

D2

lig
L1

2 x Do (L1 < 2 x 212N 10Ij7) 78T v oy rra QD)
NT7 WI7 | DM'Y ni7yn ‘on (n”n) niTn rnn N5 V"IN ny'ns 2'12n
n"n Zt Z L1 Le L D2 D n"v n”N | MCoarse M Fine
5.0 12 3 12.5 12.0 57 4.8 6 565.- | HCR06048L12-11.001SO TM... | 1.00 | M6x1.0 M8-M40x1.0
9.0 20 3 205 20.0 73 8.7 10 695.- | HCR10087L20-11.001SO TM... | 1.00 M10x1.0
11.0 24 4 24.5 24.0 73 10.7 12 895.- | HCR12107L24-11.001SO TM... | 1.00 M12x1.0
6.8 13 3 169 | 163 64 6.5 8 655.- | HCR0B065L16-11.25ISO TM... | 1.25 | M8x1.25
8.5 13 3 20.3 19.5 73 8.2 10 695.- | HCR10082L20-11.50ISO TM... | 150 | M10x1.5  M12-M48x1.5
10.5 16 4 24.8 24.0 73 9.9 10 695.- | HCR10099L24-11.50ISO TM... | 1.50 M12x1.5
12.5 19 4 29.3 28.5 84 11.9 12 895.- | HCR12119L29-[1.50ISO TM... | 1.50 M14x1.5
14.5 21 4 32.3 315 84 13.9 14 1125.- | HCR14139L32-[1.501SO TM... | 1.50 M16x1.5
10.2 14 4 25.4 | 245 73 9.9 10 695.- | HCR10099L25-11.75ISO TM... | 1.75 | M12x1.75

721y NT72 '78TY 21aW DA IDUN N

www.vargus.com INN21 0'S0I11 0O'0YD

/88 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

- EEEEE & &




\///
£

@

@

@ B 90.ai 1 6/10/15 11:25 AM

o127 "XIN

Yivar

NEUMO Ehrenberg Gro

vyneumo

varqus

NEUMO Ehrenberg Grou

<[] "71i7'Tn” Helicool X7n W”{INN 'NIDY)

W7 'nT7 oy *7voo iyn (D)

Y70In NT770 017 0"rw [Ni7yn ‘on) (n"n) nITn wnn 19 V"IN aY'00 aman
*(n”n) *0.05 Zt z L1 Le L D2 D n"v n"n
6.2 10 3 99| 94| 57| 590 6 535.- | HC06059L09-EI27NPT TM... 27 1/16"x27
84 10 3 99| 94| 61| 765| 8 595.- | HC08076L09-EI27NPT TM... 27 1/8"x27
11.1 10 3 148 [ 141 ] 73 | 9.90| 10 645.- | HC10099L 14-EI18NPT TM... 18 1/4°x18
143 10 4 148 [ 141 73 [11.15] 12 845.- | HC12111L14-E118NPT TM... 18 3/8°x18
17.9,23.0 10 4 19.0 ] 181 92 1425 16 990.- | HC16142L19-EI14NPT TM... 14 1/2", 3/4"x14
29.0,37.7,44.0,5%.0| 10 4 2321 221 ] 102 {19.60] 20 [ 1210.- | HC20196L23-EI11.5NPT TM... 11.5 1", 11/4,11/2", 2'x11.5
66.7, 82.1 10 4 33.3] 31.7 | 102 {19.60] 20 | 1210.- | HC20196L33-EIBNPT TM... 8 21/2"x8; 3"x8
NPTF
€&
17 'nT7 oy 7o iyn QD)
Y'")ID NTEN 017| D"Y'Y ni7yn 'on (n”"n) niITn NN NS V"IN ny'od 271N
*(n”n) +0.05 Zt z L1 Le L D2 D n"v n"n
6.2 10 3 99| 94 57| 590 6 535.- | HC06059L09-EI27NPTF TM... 27 1/16"x27
8.4 10 3 99| 94| 61| 765] 8 595.- | HC08076L09-EI27NPTF TM... 27 1/8"x27
1.1 10 3 148 [ 141 73 | 9.90| 10 645.- | HC10099L14-EI18NPTF TM... 18 1/4’x18
14.3 10 4 148 [ 141 73 [11.15] 12 845.- | HC12111L14-EI18NPTF TM... 18 3/8"x18
17.9,23.0 10 4 190 [ 181 92 [14.25| 16 990.- | HC16142L19-EI14NPTF TM... 14 1/2", 3/4"x14
29.0,37.7,44.0,56.0] 10 4 23.2 | 2211 102 119.60| 20 | 1210.- | HC20196L23-EI11.5NPTFTM...|  11.5 1, 11/4" 11/2", 2'x11.5
66.7, 82.1 10 4 33.3 | 31.7] 102 11960 20 | 1210.- | HC20196L33-EIBNPTF TM... 8 21/2°x8; 3"x8
I
272N NIN DIN'ON = L1 -@

-

www.vargus.com INN21 0'S0I11 0O'0YD

/B89 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

&
2D



WA B9l.ai 1 6/10/15 11:25 AM
2>

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

WAATETLITER “19'7'n” MilliPro X70 W”j NN 'NID

NEUMO Ehrenberg Grou

L1
Le =Pitchx 3 -+
1/8P  External Recommended Overhang
2 x Do (L1 < 2 x 212N 0Ij7) D'IVXY'D 22N D10 - NN (D)
Y’Dln NTEN 017| D"MI'Y ni7yn ‘on (n”n) niTn rnn 1O V"IN ny'0d 212N
*(n”n) *0.05 Zt Z L1 Le L D2 D n"y tpi UNF UNC
1.5 3 3 39 57 | 145] 6 345.- | D3T06014L039-172UN TM... 72 NO.1-72
1.5 3 3 4.2 57 | 140] 6 345.- | D3T06014L042-164UN TM... 64 N0.2-64 NO.1-64
1.8 3 3 5.0 57 | 165| 6 345.- | D3T06016L050-I56UN TM... 56 NO0.3-56 NO.2-56
2.0 3 3 6.0 57 | 190| 6 345.- | D3T06019L060-148UN TM... 48 NO.4-48 NO.3-48
2.3 3 3 6.0 57 | 210| 6 345.- | D3T06021L060-140UN TM... 40 NO.6-40 NO.4, N0.5-40
2.6 3 3 7.2 57 | 245| 6 345.- | D3T06024L072-140UN TM... 40 NO.6-40 NO.5-40
35 3 3 8.7 57 | 330 6 345.- | D3T06033L087-I36UN TM... 36 NO.8-36
2.8 3 3 74 57 | 255| 6 345.- | D3T06025L074-132UN TM... 32 NO0.10-32 NO.6, N0.8-32
34 3 3 10.0 57 1320 6 345.- | D3T06032L100-I32UN TM... 32 NO.10-32 NO.8-32
55 3 3 13.2 57 | 525] 6 345.- | D3T06052L132-128UN TM... 28 1/4"x28
3.8 3 3 10.2 57 | 358 6 345.- | D3T06035L102-124UN TM... 24 5/16"x24 NO.10-24
6.9 3 3 16.5 63 | 668] 8 405.- | D3T08066L165-124UN TM... 24 516"x24
5.1 3 3 13.4 57 | 488] 6 345.- | D3T06048L134-120UN TM... 20 7/16"x20 1/4’x20
9.9 3 3 23.0 73 1955] 10 465.- | D3T10095L230-120UN TM... 20 7/16"x20
94 3 3 23.3 73 19.00] 10 465.- | D3T10090L233-14UN TM... 14 7/16"x14
3 x Do (L1 < 3 x 212N 0Ij7) D'IVX'D 22N P10 - NN (D)
Y'")ln NTEN 017| D"M'Y nllﬂ’n ‘on (n”n) NITN rnn NS V"IN ny'ns A'1an
*(n”n) *0.05 Zt z L1 Le L D2 D n"v tpi UNF UNC

1.55 3 3 5.75 57 | 145] 6 345.- | D3T06014L057-172UN TM... 72 NO0.1-72
26 3 3 10.0 57 | 245] 6 345.- | D3T06024L100-140UN TM... 40 NO.6-40 NO.5-40
34 3 3 13.0 57 1320 6 345.- | D3T06032L130-132UN TM... 32 NO0.10-32 NO0.8-32
55 3 3 19.6 57 | 525] 6 345.- | D3T06052L196-128UN TM... 28 1/4"x28
6.9 3 3 24.5 63 | 668 | 8 405.- | D3T08066L245-124UN TM... 24 5/16"x24
5.1 3 3 19.8 57 | 488] 6 345.- | D3T06048L198-120UN TM... 20 7/16"x20 1/4"x20

NI (07N 2NN 0177 DRNN NT7HN 017 *

www.vargus.com INN21 0'S0I11 0O'0YD

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

- EEEEE & &




WA B 92.ai 1 6/10/15 11:24 AM
2>

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

AN ITEEY “1n9'7'n” MilliPro X70 W”{InD 'NIDD

NEUMO Ehrenberg Group

Millipro Dental ﬂ

D2

Recommended Overhang 3 Flu;(es
[* 1

3 x Do (L1 <3 x 27N 017) Ll EAUp A G G ETR Y EHLaERe b 1 N E)
Y'IDID NTEN 01| D"M'Y ni7yn 'on (n”"n) niImn rnn 'n15 L"{TN ny'ood 271N
*(n”n) +0.05 Zt z L1 L D2 D n"v n"n M Fine M Coarse
0.75 1 3 3.1 31 0.70 3 345.- | D1T03007L031-10.25ISO TM...|  0.25 M1.4x0.25  M1.0x0.25
0.95 1 3 3.8 31 0.90 3 345.- | D1T03009L038-10.25ISO TM...|  0.25 M1.4x0.25  M1.2x0.25
1.15 1 3 4.4 31 1.05 3 345.- | D1T03011L044-10.30ISO TM...|  0.30 M1.4x0.30
1.30 1 3 5.0 31 1.20 3 345.- | D1T03012L050-10.35ISO TM...|  0.35 M1.6x0.35
1.50 1 3 5.6 31 1.40 3 345.- | D1T03014L056-10.35ISO TM...|  0.35 M2.0x0.35  M1.8x0.35
1.65 1 3 6.2 31 1.50 3 345.- | D1T03015L062-10.401SO TM...|  0.40 M2.0x0.40
. 210 1 3 7.7 31 1.95 3 345.- | D1T03019L077-10.45ISO TM...|  0.45 M2.5x0.45
Millipro Dental

Recommended Overhang
T

3 x Do (L1 < 3 212N 0I7)

Y7nIn NT{7N 0I7| D"1'Y (NI7YN 'ON (n"n) NIT'n rnn 'n"1D 0"EN ny'od 21an
*(n”n) +0.05 Zt Z L1 L D2 D n"v tpi UNF
1.30 1 3 46 31 1.15 3 345.- D1T03011L046-180UN TM... 80 0-80

1.60 1 3 6.5 31 1.45 3 345.- D1T03014L065-I72UN TM... 72 1-72

NI (O AN 0177 DIRND NT7HA 017 *

www.vargus.com INN21 0'S0I11 0O'0YD

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

® EEEEE

2D




2,
N

N
U

@

@

@ B 93.ai 1 6/10/15 11:24 AM

-

o127 "XIN

vvivargus

NEUMO Ehrenberg Group

@

vNeumo
varqus

NEUMO Ehrenberg Grou

"1N9'7N” MilliPro N70 W”jInDh 'NIDD

Millipro EL

L1

Le=Pitchx3 |

Recommended Overhang

i D2

T
D
3

3 Flutes

2 x Do (L1 < 2 x 2"12N 0Ij7)

Y'".)ID NTEN 017| DY ni7yn 'on (n”n) NiITn rnn 'n15 "IN ny'oo 271N
*(n”n) +0.05 Zt Z L1 L D2 D n"v n”"n | MFine M Coarse
1.6 3 3 4.2 100 1.55 6 370.- | D3T06015L042-10.41ISOTML..| 0.4 M2x0.4
2.05 3 3 5.2 100 1.95 6 370.- | D3T06019L052-10.45ISO TML..|  0.45 M2.5x0.45
2.5 3 3 6.2 100 2.40 6 370.- | D3T06024L062-10.45ISO TML..| 0.5 M3.5-M16x0.5 M3x0.5
Millipro EL
L | D2
L1 |
.
D
Le=Pitchx3 | | EI
3 Flutes
Recommended Overhang

2 x Do (L1 < 2 x 212N 0Ij7)

TIND DX D707 DMIOVXY'D 202N 'NIDD - NO'7'N @

Y70In N1770 0177| 0"rw [ni7yn ‘on (n"n) NITN nn 1N1D LN nY'oo 1IN
*(n"n) t0.05 | zt z L1 L D2 D n"v tpi UNF UNC
1.8 3 3 5.0 100 1.65 6 370.- | D3T06016L050-I56UN TML... | 56 NO.3-56 NO.2-56
2.3 3 3 6.0 100 2.10 6 370.- | D3T06021L060-140UN TML... | 40 NO.6-40 NO.4, NO.5-40
2.8 3 3 74 100 2.55 6 370.- | D3T06025L074-I32UN TML... | 32 NO.10-32 NO.6, NO.8-32
3.4 3 3 10.0 100 3.20 6 370.- | D3T06032L100-1132UN TML..| 32 NO.10-32 NO.8-32

NI [O7N 2NN 0177 DXNN DTN 017 *

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

www.vargus.com INN21 0O'S0I11 0'0YD

@

2D



WA B 94.ai 1 6/10/15 11:23 AM
2>

@

o127 "XIN

wvvarqus

NEUMO Ehrenberg Grou

vNeumo
varqus

NEUMO Ehrenberg Grou

"1N9'7N” MilliPro N70 W”jInDh 'NIDD

Millipro HD

= §

Recommended Overhang

4-6 Flute:

2 x Do (L1 < 2 x 212N WIj7)

62 HRc TV D'W{ DNNINT DMIONY'D ANaN MIo - N9 (1D

Y7nIn NTi7N 0I7| 0"IY [NI7YN ‘ON (n"”n) nIT'N rnn N9 V"N ny'od AMn
*(n"”n) £0.05 Zt Z L1 L D2 D n"v n"n | MFine M Coarse
1.60 2 4 4.60 76 1.55 6 365.- | 52L06015L042-10.411SO TM... 0.40 M2x0.4
1.80 2 4 5.05 76 1.65 6 365.- | 52L06016L046-10.45ISO TM... 0.45 M2.2x0.45
2.05 2 4 5.65 76 1.95 6 365.- | 52L06019L052-10.45ISO TM... 0.45 M2.5x0.45
2.55 2 4 6.75 76 240 6 365.- | 52L06024L062-10.51ISO TM... 0.50 M3.5-M16x0.5 M3x0.5
2.95 2 4 7.90 76 2.75 6 365.- | 52L06027L073-10.611SO TM... 0.60 M3.5x0.6
3.35 2 4 9.05 76 3.15 6 365.- | 52L06031L083-10.71ISO TM... 0.70 M4x0.7
430 2 4 11.20 76 4.05 6 365.- | 52L06040L104-10.811SO TM... 0.80 M5x0.8
5.10 2 4 13.50 76 4.80 6 365.- | 52L06048L125-1.01SO TM... 1.00 M8-M40x1.0 M6x1.0
6.80 2 4 17.85 80 6.50 8 525.- | 52L08065L166-11.25ISO TM... 1.25 M8x1.25
8.60 2 4 2230 80 7.90 10 565.- | 52L08079L208-11.50ISO TM... 1.50 M12-M48x1.50 M10x1.5
10.40 2 4 26.75 101 9.90 10 565.- | 52L10099L250-11.75ISO TM... 175 M12x1.75

3 x Do (L1 < 3 x 22N WIj7)

62 HRc TV D'W{ DANINT DMIONY'D AN2N 10 - N9 (1D

Y7nIn DTN 10I7| DMWY [NI7YN ‘ON (n”n) NIT'n rnn 'N"1D VN ny'ood 27n

*(n"n) £0.05 Zt z L1 L D2 D n"v n"n | MFine M Coarse
1.60 2 4 6.60 76 1.55 6 365.- | S2L06015L062-10.41ISO TM... 0.40 M2x0.4
2.05 2 4 8.15 76 195 6 365.- | 52L06019L077-1045ISO TM... 0.45 M2.5x0.45
2.55 2 4 9.75 76 240 6 365.- | S2L06024L092-10.51ISO TM... 0.50 | M3.5-M16x0.5 M3x0.5
3.35 2 4 13.05 76 3.15 6 365.- | 52L06031L123-10.711SO TM... 0.70 M4x0.7
430 2 4 16.20 76 4.05 6 365.- | S2L06040L154-10.81ISO TM... 0.80 M5x0.8
5.10 2 4 19.50 76 4.80 6 365.- | 52L06048L185-11.01SO TM... 1.00 | M8-M40x1.0 M6x1.0
6.80 2 4 25.85 80 6.50 8 525.- | 52L08065L246-11.25ISO TM... 1.25 M8x1.25

NI (07N A7ANN 0177 DIRND NT7HA 017 *

@

-

JWI7 62HC Ty D'W7 DANINY *

www.vargus.com INN21 0'S0I11 0O'0YD

| BO4 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@

2D



WA B 95.ai 1 6/10/15 11:22 AM
2>

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

AALTL TR “19'7n” MilliPro X710 W”{IND '0IDY)

NEUMO Ehrenberg Group

Millipro HD ﬂ

4-6 Flute:

Recommended Overhang

R T Lo R U HRc 62 TV D'W DANINT DPIDNY'D AN DI - No'rn (1D

Y'IDID NTn WI| D" (NI7Yn ‘'On (n”n) niITn rnn 'N15 0”{IN ny'oo 271n
*(n”n) £0.05 Zt 4 L1 L D2 D n"v tpi UNF UNC
1.80 2 4 5.45 76 1.65 6 365.- | S2L06016L050-I56UN TM... 56 NO.3-56  NO.2-56
2.10 2 4 6.53 76 1.90 6 365.- | S2L06019L060-148UN TM... 48 NO.4-48  NO.3-48
2.35 2 4 6.64 76 210 6 365.- | S2L06021L060-I40UN TM... 40 NO.6-40  NO.4-40, NO.5-40
2.65 2 4 7.84 76 245 6 365.- | S2L06024L072-140UN TM... 40 NO.6-40  NO.5-40
3.55 2 4 9.41 76 3.30 6 365.- | S2L06033L087-I36UN TM... 36 NO.8-36
2.85 2 4 8.20 76 2.55 6 365.- | S2L06025L074-132UN TM... 32 NO.10-32  NO.6-32, NO.8-32
3.50 2 4 10.79 76 3.20 6 365.- | S2L06032L100-I32UN TM... 32 NO.10-32  NO.8-32
417 2 4 10.80 76 3.70 6 365.- | S2L06037L100-I32UN TM... 32 NO.10-32
5.55 2 4 14.11 76 5.25 6 365.- | S2L06052L132-128UN TM... 28 1/4"x28
3.90 2 4 11.26 76 3.58 6 365.- | S2L06035L102-124UN TM... 24 5/16"x24 _ NO.10-24
7.00 2 4 17.56 80 6.68 8 525.- | S2108066L165-124UN TM... 24 5/16"x24
5.20 2 4 14.67 76 4.88 6 365.- | S2L06048L134-I20UN TM... 20 7116"x20  1/4"x20
9.90 2 4 24.27 | 101 955 | 10 565.- | S2L10095L230-I20UN TM... 20 7/16"x20
8.00 2 4 21.29 80 7.65 8 525.- | S2108076L197-[16UN TM... 16 3/8’x16
9.50 2 4 2511 | 101 9.00 | 10 565.- | S2L10090L233-114UN TM... 14 7116"x14
10.90 2 4 27.95 | 101 990 | 10 565.- | S2L10099L256-113UN TM... 13 1/2"x13

3 x Do (L1 < 3 x 212N Ij7) BRI R A G T GL R R LU L X))

Y700 nTan 01| om1w [nivyn ‘on (n"n) NN wnn 1N19 0”{IN aYioo aman
*(n"n) £0.05 | zt z L1 L D2 D n"v tpi UNF UNC

235 2 4 964| 76 | 210 | 6 365.- | S2L06021L090-4OUNTM... | 40 | NO.6-40  NO.4-40, NO.5-40
2.65 2 4 10.64 76 2.45 6 365.- | S2L.06024L100-I40UN TM... 40 NO.6-40 NO.5-40
2.85 2 4 11.79 76 2.55 6 365.- | S2L06025L110-132UN TM... 32 NO.10-32  NO.6-32, NO.8-32
3.50 2 4 13.79 76 3.20 6 365.- | S2L06032L130-I132UN TM... 32 NO.10-32  NO.8-32
5.55 2 4 20.51 76 5.25 6 365.- | S2L06052L196-128UN TM... 28 1/4"x28
7.00 2 4 2556 | 80 6.68 8 525.- | S2L08066L245-124UN TM... 24 5/16"x24
5.20 2 4 21.07 76 4.88 6 365.- | S2L06048L198-120UN TM... 20 7/16"x20 1/4"x20
9.50 2 4 35311 101 9.00 10 565.- | S2010090L335-I14UN TM... 14 1/2"x13

NI (07N 2NN 0177 DXNN NT7HN 017 * MO4 2WND TI7a WNNWNY7 W' DM7NNY DIANAN 1Y *

www.vargus.com INN21 0'S0I11 0O'0YD

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

® EEEEE




WA B 96.ai 1 6/10/15 11:22 AM
2>

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

WAAYETLTEER “19'7'n” MilliPro X0 U”nh 'NID1)
Helicool - C (HCC) ﬂ

2 x Do (L1 < 2 x 212N 0Ij7) "IN 7 oy i QD
N7 I | "' (ni7yn ‘on (n”n) niTn nn 1N1D V"IN nY'00 272N
n"n Zt Z Lc | L1 Le L Dc | D2 D n"y n”n | M Coarse M Fine
5.0 12 3 13.3 (1251120 | 61 63| 48| 8 635.- HCC08048L12-11.00ISO TM... | 1.00 | M6x1.0 M8-M40x1.0
9.0 20 3 2131205200 73 | 10.3] 87| 12 895.- HCC12084L20-11.001SO TM... [ 1.00 M10x1.0
11.0 24 4 253 (245|240 80 | 123|107 | 14 950.- HCC14107L24-11.001SO TM... | 1.00 M12x1.0
6.8 13 3 1781169 | 163 | 73 83| 65| 10 695.- | HCC10065L16-11.25ISOTM... | 1.25 | M8x1.25
8.5 13 3 2131203 |195| 80 | 103 | 82| 12 895.- HCC12082L20-11.501SO TM... | 150 | M10x1.5  M12-M48x1.5
10.5 16 4 200 (248 (240 80 |123] 99| 14 950.- HCC14088L24-11.50I1SO TM... | 1.50 M12x1.5
125 19 4 305293 285 92 [ 143] 119 16 1250.- | HCC16119L29-11.50ISO TM... | 1.50 M14x1.5
145 21 4 3351323 (315| 92 [16.3] 139]| 18 1250.- | HCC18139L.32-11.50ISO TM... | 1.50 M16x1.5
10.2 14 4 206 (254|245 80 | 123 | 99| 14 950.- HCC14099L25-11.75ISO TM... | 1.75 | M12x1.75

DI'n N1TND YIXn 12720 yix2

www.vargus.com 1NN 0O'S0I11 0O'0YD

/89 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

® EEEEE

2D




WA B 97.ai 1 6/10/15 11:21 AM
2>

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

vwvvarqus VARDEX N7D W“[INN 'NID1D
11 j7N1Y7 Deep Threading NIAN1N 'NIDID ﬂ

/8P External|

TM Solid Carbide - Deep Threading

3 x Do (L1 < 3 x 210 017)
Y7nIn NTEN 1017| 0"1'Y |NI7YN ‘'OD (n"”n) nIT'N rnn 'N"19D V"IN ny'od 271n
*(n"n) +0.05 Zt 4 L1 L D2 D n"y n”n M Coarse
5.0 1 3 19 63 4.1 8 565.- | D1708041-11.01S0 TM... VTX | 1.00 M6x1
6.8 1 3 26 73 58 10 645.- | D1710058-11.25ISO TM... VTX| 1.25 M8x1.25
8.5 1 3 32 73 7.7 10 645.- | D1710077-11.501SO TM... VTH| 150 M10x1.5
10.5 1 4 38 83 9.4 12 725.- | D1712094-11.501SO TM... VTH| 150 M12x1.5
10.2 1 4 38 83 8.7 12 725.- | D1712087-11.75IS0 TM... VTH| 1.75 M12x1.75
12.0 1 4 44 92 10.2 16 1050.- | D1716102-12.01S0 TM... VTH | 2.00 M14x2
14.0 1 4 50 100 12.2 16 1050.- | D1T16122-12.01S0 TM... VTH | 2.00 M16x2
15.5 1 5 57 108 12.9 16 1050.- | D1T16129-12.51S0 TM... VTH | 250 M18x2.5
17.5 1 5 63 114 14.8 16 1050.- | D1T16148-12.51S0 TM... VTH | 2,50 M20x2.5

NYPA 197 NIDDI NITNA DNIDID 73§77 N1 <

www.vargus.com INN21 0'S0I11 0O'0YD

/B9 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

- EEEEE & &




WA B 98.ai 1 6/10/15 11:21 AM
2>

@ @
: vyneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

vwvvarqus VARDEX N7D W“[INN 'NID1D
11 j7N1Y7 Deep Threading NIAN1N 'NIDID ﬂ

Partial Profile 60°

Deep Threading

D'y7iny DN 0NN D7) - {71PY AN2N @
D'y  [NI7Yn 'OD (n”n) niTn NN P19 V"N ny'oo ny'oo 272N

Zt y4 L1 | Le | L | D2 | D n"vy tpi ) M Fine M Coarse
1 4 6 | 60| 45 | 390| 4 280.- | DIT04390L160-ITAGO TM... 32-56 0.50.8 M5x0.8 M5x0.5
8.0 M5x0.75

1 5 20 [ 100 ] 51 | 485| 6 310.- | DIT06485L200-ITBO TM... 24-56 0.5-1.0 M6x1.0 M6x0.5
8.4 M6x0.75

1 5 25 [120] 64 | 59| 6 310.- | DIT08590L250-ITFE0 TM... 20-48 05-125 | M8x1.25 M7x0.5
10.4 M7x0.75

12.0 M7.5x1.0

1 6 35 [ 160 | 73 | 990 10 | 890.- | DIT10990L350-ITB60 TM... 24-56 0.5-1.0 - M10x0.5
20.0 M11x0.75

24.0 M11x1.0

1 6 32 | 162 | 63 | 7.90| 8 350.- | DIT08790L320-ITC60 TM... 16-24 1.0-15 M10x1.5 M10x1.0
20.0 M10x1.25

1 6 38 | 195 | 73 | 990| 10 | 390.- | DIT10990L380-ITD60 TM... 14-24 1.0-1.75 | M12x1.75 M12x1.0
240 M12x1.25

285 M12x1.5

1 6 45 1315 | 83 [11.90] 12 420.- | DIT12119L450-ITD60 TM... 14-24 1.0-1.75 | - M13x1.0
245 M14x1.25

28.0 M14x1.5

www.vargus.com INN21 0'S0I11 0O'0YD

/B9 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

- EEEEE & &




7

2
N

N2

I

@

@

@ B 99.ai 1 6/10/15 11:18 AM

-

o121 "XID

vyneumo

:VINIA7 70 W/7NNN DI0ND
IO DD YN

Y/7NN NIN'Y DY NN |'D0
NN YN'N :YINAT7 NIDTNNN
NTIAY NI'O WI7Y XNl
AN 7m

1721 70N MINI-GROOVING
W7 7NN NI DY 7'TNN TN
NLNN :YINAT7 NID7NNN
NINANI NITO YN NN
N"N 8 10172 NT7N 7NN

W/7NN NIN'Y Dy DIDD
YN :YINAY7 NID7Nnn
Janl NI

varqus

NEUMO Ehrenberg Grou

D7'TNN 7¢ AYTN ANT0
NNIdN7 Yyann N7 Dy
NI'ONIVIN NINNIY
(SWISS TYPE)

W/7NN NIN'Y DY DIDD
YN'N YINAYT7 NID7NNN
.0'7IM D072

I1"A'X197 113 O'3DI1 O'\¥139

| B9

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN




WA B 100.ai 1 6/10/15 11:18 AM
2>

@ @
: vneumo
DI MIXID varqus

NEUMO Ehrenberg Grou

n NI'0ITILD CNC NNIDD NIYXDXI ﬂ
GEAR MILLING

DY "7 7Y 7UTNI AN TI'Y7 DITNIPN D'NIDTD
I NI'0ITIVO CNC NINIDDA YIN'Y 'Y

JZRIOPZRI YR Nj7IT NYVINT Y7 NIFNIZ N2WHN DY NWTN 11171000

DIMI7ZN NO7NN N7 D2 NI7IYI NNRWIL7ON 7V NIZNIM YIzn Nimiz

omw |'n'n |“LIDD D™Mw 'O
0.2 D'7ITIN Ty 0.5 D'7IMIN Ty 0.2 D'7IMIN Ty
n’n 9.0 I n"n 8.0 I n"n 9.0 I
(DP 128.0-3.0) (DP 48/96-3/6) (DP 128.0-3.0)

I1"A'X197 113 O'3DI1 O'\¥139

 B100 [

Www.neumo-vargus.co.il | neumo@ neumo-vargus.co.il :7“NIT|03-5372190 :0j79 | 03-5373275 :70 | 5885948 |I7IN 26 12WNN

@ ®

- EEEE





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Right
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails true
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments false
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 600
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 600
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [4000 4000]
  /PageSize [595.276 841.890]
>> setpagedevice


